Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
Work Order #: 5	2467	Invoice#:	Complete	ed Date: 2023-0					
					Odomet Hours:			As Of: 2023-02 As Of: 2023-02	
Labor						, -	.		
labour	02/18/20	023 - WASHED UNIT		Beau-Ray Gauthie	er .50	.50	100.00	50.00	
labour		023 - PREP FOR WASHE	R PUMP	Neil Read	1.00	1.00	100.00	100.00	
labour		CEMENT. 023 -TEARDOWN & REMO	\\E \\\ATED	Chris Getz	10.00	10.00	100.00	1,000.00	
laboui		CLEAN UP PIECES & CC		Cillis Getz	10.00	10.00	100.00	1,000.00	
labour	02/21/20	023 - INSTALL WATER PL EMBLE -RUN UP		Chris Getz	10.00	10.00	100.00	1,000.00	
labour labour)23 - REPLACE LIGHT BC)23 - FIXED LIGHTS	X.	Bryant Hurd Jayden Kielstra	1.00 2.00	1.00 2.00	100.00 100.00	100.00 200.00	
				,	24.50	24.50	Total Labor	2,450.00	
Parts									
	CAT 3H	-1461, CAT O-RING, CLE	AN GAS IND		.00	1.00	2.98	2.98	
	CAT 4N HOUSIN	-1156, GASKET, THERMO	DSTAT		.00	1.00	2.52	2.52	
		R-8660, PUMP, WATER			.00	1.00	1,427.87	1,427.87	
		-2665, O-RING, THERMO	STAT		.00	2.00	7.63	15.26	
	HOUSIN CAT 309	NG 9-7641, CAT HOSE, CLEA	N GAS		.00	1.00	26.77	26.77	
	INDUCT					4.00			
		9-7000, O-RING, COOLAN 50-0270, HOSE, WATER	11		.00 .00	1.00 1.00	6.33 48.12	6.33 48.12	
		00-6122490, 12 RIB X 249	O RELT -FAN		.00	1.00	103.08	103.08	
		OSE CLAMP, GEAR - 6-16			.00	2.00	.69	1.38	
		, CLAMP TANG 1-1/2			.00	1.00	1.31	1.31	
		0406TRP, 4" AIR TO AIR C	CLAMP		.00	1.00	10.60	10.60	
		2 1/2" CLEARANCE AMB			.00	1.00	6.77	6.77	
	91400, 0	GROMMET, LIGHT - 2-1/2	"		.00	2.00	1.60	3.20	
	1050R,	LIGHT, LED - 2 1/2" RED			.00	1.00	7.56	7.56	
	94902, F	PIGTAIL, TWO WIRE - TR	UCKLITE		.00	2.00	2.00	4.00	
		LIGHT GROMMET 2 1/2 "			.00	2.00	2.10	4.20	
		TAR METAL BOX, 2 1/2" [.00	1.00	20.40	20.40	
		7811-492, COOLANT, 50/9 ON DELO	50 RED -		.00	2.00	9.96	19.92	
							Total Parts	1,712.27	
							Shop Supplies	208.11	
							Total	4,370.38	CAD
Work Order #: 5	2634	Invoice#:	Complete	ed Date: 2023-0	3-06 503				
Parts			•						
		7811-492, COOLANT, 50/9 ON DELO	50 RED -		.00	2.00	9.96	19.92	
							Total Parts	19.92	
							Shop Supplies	1.00	
							Total	20.92	CAD
Work Order #: 53	2735	Invoice#:	Complete	ed Date: 2023-0	3-15 503				
TOTA CIGOT #. O.	_, 00	iiivoioon.	Complete	Ja Dato. 2020-0	Odomet	er: 679,742	Odometor	As Of: 2023-03	-1/
					Hours:	,		As Of: 2023-03	
Labor labour	03/14/20	023 - SERVICE, REPAIR A	AIR LEAKS.	Neil Read	4.00	4.00	100.00	400.00	
					4.00	4.00	Total Labor	400.00	
Parts		EU TED OU OAT O 45			.00	1.00	31.99	31.99	
Parts		FILTER, OIL - CAT C-15			00	1.00	14.06	1100	
Parts	FF5319	, FILTER, FUEL PRIMARY			.00			14.06	
Parts	FF5319, FF105,	, FILTER, FUEL PRIMARY FILTER, FUEL SECONDA			.00	1.00	7.33	7.33	
Parts	FF5319, FF105, SOS, SO	, FILTER, FUEL PRIMARY FILTER, FUEL SECONDA OS OIL ANALYSIS			.00 .00	1.00 1.00	7.33 22.00	7.33 22.00	
Parts	FF5319, FF105, I SOS, SO AF4195	, FILTER, FUEL PRIMARY FILTER, FUEL SECONDA OS OIL ANALYSIS , FILTER, AIR	RY		.00 .00 .00	1.00 1.00 2.00	7.33 22.00 82.20	7.33 22.00 164.40	
Parts	FF5319, FF105, I SOS, SO AF4195	, FILTER, FUEL PRIMARY FILTER, FUEL SECONDA OS OIL ANALYSIS	RY		.00 .00	1.00 1.00	7.33 22.00	7.33 22.00	

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic -	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
							Shop Supplies	42.01	
							Total	882.17	CAD
Work Order #: 53	3216	Invoice#:	Complet	ed Date: 2023-0	04-21 503				
		TARP STRAP - 21" 311-492, COOLANT, 50 N DELO	0/50 RED -		.00 .00	2.00 5.00	1.60 9.96	3.20 49.80	
							Total Parts	53.00	
							Shop Supplies	2.65	
							Total	55.65	CAD
Work Order #: 53	3586	Invoice#:	Complet	ed Date: 2023-0	05-23 503 Odomet	,		As Of: 2023-05	
Labor					Hours:	17,612 H	ours Reading	As Of: 2023-05	-19
labour	05/19/202	3 - R & R MIDDLE P/S	DRIVE POT	Dain Halkyard	1.00	1.00	100.00	100.00	
Parts					1.00	1.00	Total Labor	100.00	
i uito	3030 LON 30/30	IG, BRAKE POT, LON	GSTROKE -		.00	1.00	69.00	69.00	
							Total Parts	69.00	
							Shop Supplies	8.45	
							Total	177.45	CAD
Work Order #: 53	3605	Invoice#:	Complet	ed Date: 2023-0	05-26 503				
					Odomet Hours:			As Of: 2023-05 As Of: 2023-05	
Labor labour		3 - ADJUST BRAKES,		Alex Heney	4.00	4.00	100.00	400.00	
labour		JCK IS PULLING TO R 3 - REPLACED CHRC		Jody Tracey	1.00	1.00	100.00	100.00	
Deate					5.00	5.00	Total Labor	500.00	
Parts		BEZEL, HEADLIGHT CREW, HEADLIGHT E			.00 .00	1.00 6.00	43.11 2.58	43.11 15.48	
							Total Parts	58.59	
							Shop Supplies	27.93	
							Total	586.52	CAD
Work Order #: 53	3894	Invoice#:	Complet	ed Date: 2023-0	06-08 503				
· uito		OOM HEAD -14" FOR SHACKLE, SCREW P			.00 .00	1.00 1.00	20.43 109.12	20.43 109.12	
		8X26 C, SLING, LOAD	-BLUE (1-1/8" X		.00	1.00	325.00	325.00	
	,						Total Parts	454.55	
							Shop Supplies	22.73	
							Total	477.28	CAD

Work Order #: 54022 Invoice#: Completed Date: 2023-06-23 503

Odometer: 151,334 Odometer As Of: 2023-06-18 17,743 Hours Reading As Of: 2023-06-18 Hours:

Date: From 2023-01-01 To 2025-09-09

Category	Desc	ription	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
Labor labour	06/18/2023 - ADJUST FF	RONT BRAKES.	Alex Heney	1.00	1.00	100.00	100.00	
			,,	1.00	1.00	Total Labor	100.00	
						Shop Supplies	5.00	0.45
						Total	105.00	CAD
Work Order #: 54	Invoice#:	Complete	ed Date: 2023-0	6-30 503				
Lakas				Odomet Hours:	,		As Of: 2023-06 As Of: 2023-06	
Labor labour	06/30/2023 - FIX SHIFTE HEAT SWITCH, FIX SEA BOX, CHARGE A/C, REI		James Dougan	9.50	9.50	100.00	950.00	
Danta				9.50	9.50	Total Labor	950.00	
Parts	ANC 43795-10-30, 4" X 3	30' STRAP C/W FLAT		.00	6.00	18.60	111.60	
	A6918, SHIFTER, ASSY	- RTLO18918B TELLATED (7/8"-14 UNF)		.00 .00	1.00 2.00	91.88 3.97	91.88 7.94	
	12428-0000-01, DRAGLI			.00	1.00	726.93	726.93	
	TRE12937, TIE ROD EN			.00	1.00	54.65	54.65	
	41-66102, SAFETY PIN - TRE12938, TIE ROD EN			.00 .00	2.00 1.00	.85 54.75	1.70 54.75	
	SUMMER BUG WASH, \			.00	3.00	2.39	7.17	
	SUMMER BUG WASH 4 24X24, MUD FLAP, D&D			.00	1.00	31.86	31.86	
	247,24, WOD 1 E/W , DOD	. 24 7/24		.00	1.00	Total Parts	1,088.48	
						Shop Supplies	101.92	
						Total	2,140.40	CAD
Work Order #: 54	I308 Invoice#:	Complete	ed Date: 2023-0					
Labor				Odomet Hours:	,		As Of: 2023-07 As Of: 2023-07	
labour	07/09/2023 - SERVICE, 0 WINDSHIELD	CHANGE D/S	James Dougan	3.00	3.00	100.00	300.00	
D. 4				3.00	3.00	Total Labor	300.00	
Parts	LF3566, FILTER, OIL - C	CAT C-15		.00	1.00	31.99	31.99	
	SOS, SOS OIL ANALYS	IS		.00	1.00	22.00	22.00	
	CHV 257005-990, BULK EC	,		.00	43.00	4.66	200.38	
	DW1164, WINDSHIELD,	CURVED - D/S		.00	1.00	45.95	45.95	
						Total Parts	300.32	
						Shop Supplies	30.02	
						Total	630.34	CAD
Work Order #: 54	l342 Invoice#:	Complete	ed Date: 2023-0	7 24 502				
Work Order #. 54	111V0ICE#.	Complete	eu Date. 2023-0	07-21 503 Odomet Hours:	,		As Of: 2023-07 As Of: 2023-07	
Labor labour	07/19/2023 - ADJUSTED) BRAKES	Nicholas Boland	1.00	1.00	100.00	100.00	
.aboui	5.,10,2020 ND0001LD	2.01120	. Nonoido Dolariu	1.00	1.00	Total Labor	100.00	
Parts	30-2071, TRAILER COR	D, STRAIGHT ABS -15		.00	1.00	141.70	141.70	
	FT. GREEN SNA C21, TARP STRAP	- 21"		.00	1.00	1.60	1.60	
	BP660-R, REINFORCED LS D 1-1/8X26 C, SLING 26')) 'D' SIGN		.00	1.00 1.00 1.00	50.69 325.00	50.69 325.00	

Date: From 2023-01-01 To 2025-09-09

Category	Description	Mechani	Actual c Hours	Quantity/Hours	Price/Rate	Amount	Cur.
Sublet					Total Parts	518.99	
Sublet	150-416762 / Northern Metalic Sales		.00	1.00	87.50	87.50	
					Total Sublet	87.50	
					Shop Supplies	30.95	
					Total	737.44	CAD
Work Order #: 54	I384 Invoice#:	Completed Date: 2023	2 07 10 502				
	mvoice#.	Completed Date: 2020	Odome Hours:			As Of: 2023-07 As Of: 2023-07	
Labor labour	07/19/2023 - FIX HYD LEAK. RECHAR	GE A/C. Nicholas Bolar	nd 2.50	2.50	100.00	250.00	
			2.50	2.50	Total Labor	250.00	
Parts	HS217B, TIRE, KAPSEN 11R24.5 DRI	VE	.00	12.00	247.00	2,964.00	
	(TRACTORS) SNA C15, TARP STRAP-15"		.00	4.00	1.41	5.64	
	16X16 FLAG, FLAGS 16 X 16, NYLON		.00	4.00	6.60	26.40	
Sublet					Total Parts	2,996.04	
Gusiot	089185761 / Kal Tire		.00	1.00	519.00	519.00	
					Total Sublet	519.00	
					Shop Supplies	162.30	
					Total	3,927.34	CAD
Work Order #: 54	1596 Invoice#:	Completed Date: 2023	3-07-31 503 Odome Hours:			As Of: 2023-07 As Of: 2023-07	
Labor labour	07/31/2023 - WELD/FIX DOOR	Jesse Holt	3.00	3.00	100.00	300.00	
			3.00	3.00	Total Labor	300.00	
Parts	CHV 257005-429, URSA SP EC 15W4	0 4L	.00	1.00	21.72	21.72	
	3.785L JUG CHV 227811-492, COOLANT, 50/50 R CHEVRON DELO	ED -	.00	1.00	9.95	9.95	
					Total Parts	31.67	
					Shop Supplies	16.58	
					Total	348.25	CAD
Work Order #: 54	1732 Invoice#:	Completed Date: 2023	3-08-14 503 Odome	ter: 163,160	Odometer	As Of: 2023-08	-11
Labor labour	08/11/2023 - FIXED HEADLIGHT WIRI CHANGED HEADLIGHT.	E & Dain Halkyard	.50	.50	100.00	50.00	
_			.50	.50	Total Labor	50.00	
Parts	0551771, HEADLIGHT, LOW BEAM -H LED	IEATED	.00	1.00	275.00	275.00	
					Total Parts	275.00	
					Shop Supplies	16.25	
					Total	341.25	CAD

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cui
Work Order #:	 54751	Invoice#:	Complete	ed Date: 2023-0	8-14 503 Odomete Hours:			As Of: 2023-08- As Of: 2023-08-	
Labor labour) 23 - CHANGED OUT P/S : KE POT ON #3 DIFF.	SUPPLY LINE	Alex Heney	1.50	1.50	100.00	150.00	
Parts					1.50	1.50	Total Labor	150.00	
urto	JH0830, DIA	HOSE ASSYM, AIR BRAK	E - 30"L X 1/2"		.00	1.00	13.18	13.18	
							Total Parts	13.18	
							Shop Supplies	8.16	
							Total	171.34	CAE
Work Order #:	54863	Invoice#:	Complete	ed Date: 2023-0	8-23 503 Odomete Hours:			As Of: 2023-08- As Of: 2023-08-	_
_abor abour) 23 - CALL IN, REPLACE (BOOT (NO CHARGE)	LAMP OFF	Neil Read	1.00	1.00	100.00	100.00	
Porto					1.00	1.00	Total Labor	100.00	
Parts	SNA C2	1, TARP STRAP - 21"			.00	6.00	1.60	9.60	
							Total Parts	9.60	
							Shop Supplies	5.48	
							Total	115.08	CAE
Vork Order #:	54878	Invoice#:	Complete	ed Date: 2023-0	9-14 503 Odomete Hours:	,		As Of: 2023-09- As Of: 2023-09-	
abour)23 - SERVICED UNIT, OIL							
		. USED TO TAKE UNIT 11		Doug (Calvin) Mad	c 6.00	6.00	100.00	600.00	
abour	PETER	. USED TO TAKE UNIT 11	8 TO	Doug (Calvin) Mad Jody Tracey	c 6.00 3.00	6.00 3.00	100.00	600.00 300.00	
	PETER	. USED TO TAKE UNIT 11: BILT.	8 TO						
	PETERE 09/06/20 CHV 22	. USED TO TAKE UNIT 11: BILT.	B TO		3.00	3.00	100.00	300.00	
	PETERE 09/06/20 CHV 22 CHEVRO LF3566,	. USED TO TAKE UNIT 11: BILT. 123 - HELPED WITH SERV 7811-492, COOLANT, 50/5 ON DELO FILTER, OIL - CAT C-15	B TO		9.00 9.00 .00	3.00 9.00 1.00 1.00	100.00 Total Labor 9.95 34.07	300.00 900.00 9.95 34.07	
	PETERE 09/06/20 CHV 22 CHEVRO LF3566, SOS, SO	. USED TO TAKE UNIT 11: BILT. 123 - HELPED WITH SERV 7811-492, COOLANT, 50/5 DN DELO	B TO ICE. 0 RED -		9.00	3.00 9.00 1.00	100.00 Total Labor 9.95	300.00 900.00 9.95	
	PETERE 09/06/20 CHV 22 CHEVRI LF3566, SOS, SO CHV 22: CHV 22: BULK -	. USED TO TAKE UNIT 11: BILT. 123 - HELPED WITH SERV 7811-492, COOLANT, 50/5 ON DELO FILTER, OIL - CAT C-15 OS OIL ANALYSIS 3030-953, 75W90 SYN GE. 3079-953, DELO SYN TRA 75W90	B TO ICE. 0 RED - AR OIL BULK NS FLUID		3.00 9.00 .00 .00	3.00 9.00 1.00 1.00 1.00	100.00 Total Labor 9.95 34.07 22.00	300.00 900.00 9.95 34.07 22.00	
	PETERE 09/06/20 CHV 22 CHEVRI LF3566, SOS, SO CHV 22: CHV 22: BULK -	. USED TO TAKE UNIT 11: BILT. 123 - HELPED WITH SERV 7811-492, COOLANT, 50/5 ON DELO FILTER, OIL - CAT C-15 OS OIL ANALYSIS 3030-953, 75W90 SYN GE. 3079-953, DELO SYN TRA	B TO ICE. 0 RED - AR OIL BULK NS FLUID		3.00 9.00 .00 .00 .00	3.00 9.00 1.00 1.00 1.00 8.00	100.00 Total Labor 9.95 34.07 22.00 11.34	300.00 900.00 9.95 34.07 22.00 90.72	
Parts	PETERE 09/06/20 CHV 22: CHEVRI LF3566, SOS, SO CHV 22: BULK - CHV 25	. USED TO TAKE UNIT 11: BILT. 123 - HELPED WITH SERV 7811-492, COOLANT, 50/5 ON DELO FILTER, OIL - CAT C-15 OS OIL ANALYSIS 3030-953, 75W90 SYN GE. 3079-953, DELO SYN TRA 75W90	B TO ICE. 0 RED - AR OIL BULK NS FLUID		3.00 9.00 .00 .00 .00 .00	3.00 9.00 1.00 1.00 1.00 8.00 3.00	100.00 Total Labor 9.95 34.07 22.00 11.34 11.01	300.00 900.00 9.95 34.07 22.00 90.72 33.03	
Parts	PETERE 09/06/20 CHV 22' CHEVR: LF3566, SOS, SO CHV 22: CHV 22: BULK - CHV 25' EC	. USED TO TAKE UNIT 11: BILT. 123 - HELPED WITH SERV 7811-492, COOLANT, 50/5 ON DELO FILTER, OIL - CAT C-15 OS OIL ANALYSIS 3030-953, 75W90 SYN GE. 3079-953, DELO SYN TRA 75W90	B TO ICE. 0 RED - AR OIL BULK NS FLUID A 15W40 SP		3.00 9.00 .00 .00 .00 .00	3.00 9.00 1.00 1.00 1.00 8.00 3.00	100.00 Total Labor 9.95 34.07 22.00 11.34 11.01 4.66	300.00 900.00 9.95 34.07 22.00 90.72 33.03 200.38	
Parts	PETERE 09/06/20 CHV 22' CHEVR: LF3566, SOS, SO CHV 22: CHV 22: BULK - CHV 25' EC	. USED TO TAKE UNIT 11: BILT. 123 - HELPED WITH SERV 7811-492, COOLANT, 50/5 ON DELO FILTER, OIL - CAT C-15 OS OIL ANALYSIS 3030-953, 75W90 SYN GE. 3079-953, DELO SYN TRA 75W90 7005-990, BULK OIL, URS.	B TO ICE. 0 RED - AR OIL BULK NS FLUID A 15W40 SP		3.00 9.00 .00 .00 .00 .00 .00	3.00 9.00 1.00 1.00 1.00 8.00 3.00 43.00	100.00 Total Labor 9.95 34.07 22.00 11.34 11.01 4.66 Total Parts	300.00 900.00 9.95 34.07 22.00 90.72 33.03 200.38	
abour Parts Sublet	PETERE 09/06/20 CHV 22' CHEVR: LF3566, SOS, SO CHV 22: CHV 22: BULK - CHV 25' EC	. USED TO TAKE UNIT 11: BILT. 123 - HELPED WITH SERV 7811-492, COOLANT, 50/5 ON DELO FILTER, OIL - CAT C-15 OS OIL ANALYSIS 3030-953, 75W90 SYN GE. 3079-953, DELO SYN TRA 75W90 7005-990, BULK OIL, URS.	B TO ICE. 0 RED - AR OIL BULK NS FLUID A 15W40 SP		3.00 9.00 .00 .00 .00 .00 .00	3.00 9.00 1.00 1.00 1.00 8.00 3.00 43.00	100.00 Total Labor 9.95 34.07 22.00 11.34 11.01 4.66 Total Parts 679.77	300.00 900.00 9.95 34.07 22.00 90.72 33.03 200.38 390.15 679.77	

Work Order #: 54980 Invoice#: Completed Date: 2023-08-29 503

170,595 Odometer As Of: 2023-08-27 Odometer:

18,136 Hours Reading As Of: 2023-08-27 Hours:

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
labour		023 - REPLACE BOLTS A NED FRONT BUMPER & NT.		Dain Halkyard	1.00	1.00	100.00	100.00	
					1.00	1.00	Total Labor	100.00	
Parts		7811-492, COOLANT, 50 ON DELO	/50 RED -		.00	1.00	9.95	9.95	
							Total Parts	9.95	
							Shop Supplies	5.50	
							Total	115.45	CAD
Work Order #: 5	5167	Invoice#:	Complete	ed Date: 2023-0	09-09 503 Odomet Hours:			As Of: 2023-09 As Of: 2023-09	
Labor labour	GET PA	/09 CALL OUT TO COM RTS FROM SHOP AND		Kevin Cartwright	1.00	1.00	100.00	100.00	
labour	2023/09/ NELSON SUPPLY	N SERVICE CALL /09 FIELD SERVICE CA N FOR FAN HUB. FIND E / FITTING AT FAN HUB - G AND TEST - GOOD.	ROKEN AIR	Gary Skolos	7.00	7.00	100.00	700.00	
					8.00	8.00	Total Labor	800.00	
							Shop Supplies	40.00	
							Total	840.00	CAD
Work Order #: 5	5198	Invoice#:	Complete	ed Date: 2023-0	9-18 503 Odomet Hours:			r As Of: 2023-09 J As Of: 2023-09	
Labor	00/40/00	DO DE AINED LIVED ALL	LICTANIC	Aloy Honoy					
labour labour		023 - DRAINED HYDRAU 023 - REPAIR STAINLES =T		Alex Heney Bryant Hurd	3.00 1.50	3.00 1.50	100.00 100.00	300.00 150.00	
labour	09/13/20 FEED LI P/S WIN CLEANE	123 - INSTALLED LOW P NE. FILL HYDRAULIC T. IDOW. RECHARGED A/C ER LIGHTS ON P/S FOR I VALVE FOR PTO.	ANK. CHANGED C. REMOVE AIR	Alex Heney	8.50	8.50	100.00	850.00	
Dorto					13.00	13.00	Total Labor	1,300.00	
Parts	HF6710, 68PMT- 62PMT-	, CLAMP, T-BOLT - 2.94' , FILTER, HYDRAULIC 4-4, MALE CONNECTOR 4, UNION, PTC - #4 8, WINDSHIELD, CURVE H			.00 .00 .00 .00	4.00 2.00 3.00 2.00 1.00	9.64 17.61 6.72 7.03 45.95	38.56 35.22 20.16 14.06 45.95	
		3260-981, HYDRAULIC C	OIL -RANDO		.00	60.00	5.27	316.20	
	2225P-4 68PMT-	, STREET TEE 4-4, MALE CONNECTOR -4-4, PRES SWIVEL AIR			.00 .00 .00	1.00 1.00 3.00	3.52 6.72 8.89	3.52 6.72 26.67	
Sublat							Total Parts	507.06	
Sublet	IN81070	-Tirecraft / Atb Master Ca	ırd		.00	1.00	293.04	293.04	
							Total Sublet	293.04	
							Shop Supplies	90.35	
							Total	2,190.45	CAD

Work Order #: 55399

Invoice#:

Completed Date: 2023-09-28 503

Parts

Date: From 2023-01-01 To 2025-09-09

Category		Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
	LS D 1-1, X 28')	/8X28 C, SLING, LOAD -YELLOW (1-1/8	3"	.00	1.00	339.00	339.00	
						Total Parts	339.00	
Sublet	150-4243	319 / Northern Metalic Sales		.00	1.00	1,142.61	1,142.61	
						Total Sublet	1,142.61	
						Shop Supplies	16.95	
						Total	1,498.56	CAD
Work Order #: 58	5452	Invoice#: Comple	ted Date: 2023-10-0	02 503				
Parts	66460 P	IN, "D" QUICK -1/4" X 1-3/8"		.00	2.00	.69	1.38	
		811-492, COOLANT, 50/50 RED -		.00	1.00	9.95	9.95	
	SUMMER	R BUG WASH, WINDSHIELD WASH - R BUG WASH 4L		.00	1.00	2.45	2.45	
	CHV 227	811-492, COOLANT, 50/50 RED -		.00	6.00	9.96	59.76	
	CHEVRO CHV 257 3.785L JI	005-429, URSA SP EC 15W40 4L		.00	1.00	21.72	21.72	
						Total Parts	95.26	
						Shop Supplies	4.76	
						Total	100.02	CAD
Work Order #: 58	5456	Invoice#: Comple	ted Date: 2023-10-0	02 503				
labour		23 CALLED IN TO CHECK OUT PTO COULD NOT RECREATE`	Gary Skolos	2.00	2.00	100.00	200.00	
				2.00	2.00	Total Labor	200.00	
						Shop Supplies	10.00	
						Total	210.00	CAD
Work Order #: 55	5550	Invoice#: Comple	ted Date: 2023-10-1	17 503				
		·		Odomet ours:			As Of: 2023-10 As Of: 2023-10	
Labor labour	10/14/202	23 - SERVICE; FRONT AXLE, SEALS,	Doug (Calvin) Mac	3.50	3.50	100.00	350.00	
labour	BRAKES	, DRUMS, SLACKS. 23 - SERVICE, REPLACE BRAKES &	Neil Read	6.00	6.00	100.00	600.00	
	SLACKS STEER A	ON D/S LEAD AXLE & SLACK ON D/S XXLE. REPLACE RACES ON BOTH D/S EAD AXLE.		0.00	0.00	.00.00	550.00	
labour	10/14/202	23 - FRONT DRIVE WHEEL SEALS,	Zayn Knezevich	5.50	5.50	100.00	550.00	
labour		ARINGS IN HUBS, SERVICE. 23 - WELD BEARING RACES OUT	Bryant Hurd	.50	.50	100.00	50.00	
Danta				15.50	15.50	Total Labor	1,550.00	
Parts	RM-D02, SEAL DR	392-9131, REPLACEMENT ONE PIEC	Ē	.00	2.00	40.74	81.48	
		BEARING SET, DRIVE -580/572 BEARING SET, DRIVE - 594		.00 .00	2.00 2.00	50.70 61.65	101.40 123.30	
	GKT1008	B, GASKET, AXLE		.00	4.00	5.50	22.00	
	,	S OIL ANALYSIS		.00	1.00	22.00	22.00	
		FILTER, OIL - CAT C-15)1, FILTER, CAB AIR - KNWRTH		.00 .00	1.00 1.00	34.07 7.73	34.07 7.73	
		SHOE, BRAKE DRIVE ESII - 16.5X7		.00	2.00	135.45	270.90	
		BRAKE DRUM TRUCK / TRAILER -		.00	2.00	93.95	187.90	
	4001015 KW (409	5, SLACK ADJUSTER -STEER/DRIVE 10635)		.00	2.00	116.00	232.00	
	CS3149,	CAM SHAFT SNAP RING		.00	2.00	1.21	2.42	

37.87

1.64

September 26, 2025 10:34 AM D&D Energy Services Ltd O/A D&D Well Services **Work Order History Report**

Date: From 2023-0	01-01 To	2025-09-09 E	quipment: 5	03					
Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
		5AMB - DONT USE, FLASH	ER, AMBER		.00	1.00	44.93	44.93	
		GNETIC 66, DOWEL, AXLE - W/O RE 005-990, BULK OIL, URSA 1			.00 .00	8.00 43.00	1.90 4.66	15.20 200.38	
Sublet							Total Parts	1,345.71	
Oubict	150-4261	04 / Northern Metalic Sales			.00	1.00	8.26	8.26	
							Total Sublet	8.26	
							Shop Supplies	144.79	
							Total	3,048.76	CAD
Work Order #: 55	5698	Invoice#:	Complete	ed Date: 2023-	10-18 503 Odome Hours:			As Of: 2023-10 As Of: 2023-10	
Labor labour	10/18/202	23 EXTRACT LHS REAR MO	OTOR	Sheldon Baker	2.00	2.00	100.00	200.00	
labour	10/18/202	BROKEN BOLT 23 INSTALL MOTOR MOUN		Gary Skolos	2.00	2.00	100.00	200.00	
labour	10/18/202 BOLT	23 ETARCT BROKEN MOTO	OR MOUNT	Terry D'Albertso	on 5.00	5.00	100.00	500.00	
					9.00	9.00	Total Labor	900.00	
							Shop Supplies	45.00	
							Total	945.00	CAD
Work Order #: 55	5726	Invoice#:	Complete	ed Date: 2023-	10-20 503				
raits	LS D 1-1/2 26')	8X26 C, SLING, LOAD -BLU	JE (1-1/8" X		.00	1.00	325.00	325.00	
	,						Total Parts	325.00	
							Shop Supplies	16.25	
							Total	341.25	CAD
Work Order #: 55	5744	Invoice#:	Complete	ed Date: 2023-	10-23 503				
i aits	ANC 4379 HOOK	95-10-40, 4" X 40' STRAP W	// FLAT		.00	3.00	30.17	90.51	
		95-11-40, 4" X 40' STRAP W	// DELTA		.00	3.00	39.49	118.47	
	KINO						Total Parts	208.98	
							Shop Supplies	10.45	
							Total	219.43	CAD
Work Order #: 55	5766	Invoice#:	Complete	ed Date: 2023-	10-31 503 Odome Hours:			As Of: 2023-10 As Of: 2023-10	
Labor labour		23 -PULLED AIR COMPRES ED. LOCKTITE BOLTS ON MOUNT		Alex Heney	4.50	4.50	100.00	450.00	
					4.50	4.50	Total Labor	450.00	
Parts		, GASKET, AXLE -L, STUDS, DRIVE FLANGE	1/4		.00 .00	1.00 8.00	5.50 3.95	5.50 31.60	
	LONGER	LATCH HOLD DOWN HO	OD		00	1.00	37.87	37.87	

.00

.00

1.00

4.00

37.87

.41

L56-0001, LATCH, HOLD DOWN HOOD 12-012, GLADHAND SEAL, BLACK

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
							Total Parts	76.61	
							Shop Supplies	26.33	
							Total	552.94	CAD
Work Order #: 5	5842	Invoice#:	Complete	ed Date: 2023-10	0-30 503 Odome	ter: 195,260	Odomotor	As Of: 2023-10	20
					Hours:	,		As Of: 2023-10	
Labor							_		
labour labour		23 - RE-INSTALL EXHAUST 23 - FIND LIGHTING ISSUE, T	REMOVE	Neil Read Neil Read	4.00 3.00	4.00	100.00 100.00	400.00 300.00	
Danta					7.00	7.00	Total Labor	700.00	
Parts	M66-1876	6, PIPE, EXHAUST -MBEND	W/FLEX		.00	1.00	863.46	863.46	
		6337, GASKET, EXHAUST -			.00	3.00	18.21	54.63	
		CLAMP, EXHAUST - 5" V-B/)-6122490, 12 RIB X 2490 BE			.00	3.00 1.00	16.51 102.32	49.53 102.32	
	D84-1000)-6061870, BELT, ALTERNA		ŧ	.00	1.00	41.09	41.09	
	501 & 500 16X16 FL	3 .AG, FLAGS 16 X 16, NYLOI	N		.00	2.00	7.13	14.26	
		37, MAGNET W/ CLIP STL DRAIN SHOVEL			.00	2.00 1.00	9.99 32.50	19.98 32.50	
	040-212,	OTE DIVAIN SHOVEE			.00	1.00	Total Parts	1,177.77	
Sublet							Total Faits	1,177.77	
	10272023	Brevmechancial / Atb Master	Card		.00	1.00	501.54	501.54	
							Total Sublet	501.54	
							Shop Supplies	93.89	
							Total	2,473.20	CAD
	=0.4.4	,		I.D. (0000 40					
Work Order #: 59	5911	Invoice#:	Complete	ed Date: 2023-10)-18 503				
i ui to		RL, MUD FLAP HANGER, W	IDETRACK		.00	1.00	45.96	45.96	
	- KNWRT 66470, S	H AFETY PIN			.00	1.00	1.12	1.12	
							Total Parts	47.08	
							Shop Supplies	2.35	
							Total	49.43	CAD
Work Order #: 5	5984	Invoice#:	Complete	ed Date: 2023-11	-07 503				
Parts	0551781	HEADLIGHT, HIGH BEAM -	.HEATED		.00	1.00	275.00	275.00	
	LED	TIEADEIGITI, TIIGIT BEAW -	TILATED		.00	1.00	273.00	275.00	
							Total Parts	275.00	
							Shop Supplies	13.75	
							Total	288.75	CAD
			_						
Work Order #: 50	6029	Invoice#:	Complete	ed Date: 2023-11	-15 503 Odome Hours:			As Of: 2023-11 As Of: 2023-11	
Labor							_		
labour		23 - FIX AIR COMPRSSOR , IEATER CORD	CUT OUT	Neil Read	4.00	4.00	100.00	400.00	
labour	11/09/202	23 - AXLE GASKET REPLAC		Zayn Knezevich	1.50	1.50	100.00	150.00	
labour		23 - SERVICE, GREASED, C CHECK OVER. NEW BLOC		Zayn Knezevich	5.00	5.00	100.00	500.00	
labour	INSTALL	ED. 23 - HELPED ZAYN WITH BL		Neil Read	1.50	1.50	100.00	150.00	
	HEATER	CORDO							

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
Parts					12.00	12.00	Total Labor	1,200.00	
raits	SOS, S LF3566 188900	08, GASKET, AXLE OS OIL ANALYSIS , FILTER, OIL - CAT C-15 MWH61, SEAT, LEGACY S	ILVER -HIGH		.00 .00 .00	1.00 1.00 1.00 1.00	5.50 22.00 34.07 1,299.99	5.50 22.00 34.07 1,299.99	
	M806A, M807A, 860805 TZA12.	V/ HEAT HOOK, CHAIN - 3/8" ALLC HOOK, CHAIN - 7/16" ALL 9, CORD, BLOCK HEATER DSV, THERMASHIELD MAT 7005-990, BULK OIL, URS	ΟΥ "Y" -CAT Γ - 12"		.00 .00 .00 .00	3.00 1.00 1.00 4.00 45.00	17.89 26.67 150.51 8.26 4.66	53.67 26.67 150.51 33.04 209.70	
							Total Parts	1,835.15	
							Shop Supplies	151.76	
							Total	3,186.91	CAD
Work Order #: 5	56081	Invoice#:	Complet	ed Date: 2023-11	-20 503 Odomei Hours:	,		As Of: 2023-11 As Of: 2023-11	
Labor labour	11/11/2	023 - SHOWED PAUL HOV	/ TO WIRE	Doug (Calvin) Mac	2.00	2.00	100.00	200.00	
labour	AND MO 11/14/2 WHEN TAPPE JAC'S. ALSO F WAS NO BOLTS CHECK WERE	DUNT SEAT 023 - CHECK OUT TRUCK JACKING. RE & RE INTAKI D COVERS CHECK FOR B SET ALL VALVES & INJEC OUND THAT EGR PIPING OT HOOKED UP. REMOVE & RE-INSTALL. RUN & CH CAB MOUNTS, FOUND TI NO GOOD ON CAB. LEFT	FOR NOISE E PIPING & ROKEN TORS & JACS OFF BURNER ED BROKEN ECK OUT. HAT SHOCKS	Earl Buchanan	8.00	8.00	100.00	800.00	
	INSPEC	TION			10.00	10.00	Total Labor	1,000.00	
Parts	CHV 22	8-7073, CAT HOSE .7811-492, COOLANT, 50/5 ON DELO	0 RED -		.00 .00	1.00 5.00	32.44 9.46	32.44 47.30	
		7005-429, URSA SP EC 15	W40 4L		.00	5.00	21.72	108.60	
	WINTE	R BUG WASH, -40 WINDSH R FLUID	HIELD		.00	5.00	3.69	18.45	
Sublet							Total Parts	206.79	
	150-431	1776 / Northern Metalic Sale	es		.00	1.00	101.00 Total Sublet	101.00	
							Shop Supplies	60.34	
							Total	1,368.13	CAD
Work Order #: 5	6247	Invoice#:	Complet	ed Date: 2023-11	-24 503				
Subjet	132991	/ Integra Tire Auto Centre (Fox Creek)		.00	1.00	463.00	463.00	
							Total Sublet	463.00	
							Total	463.00	CAD
Work Order #: 5	56253	Invoice#:	Complet	ed Date: 2023-11	-30 503 Odomet Hours:			As Of: 2023-11 As Of: 2023-11	
Labor labour	11/25/2 CVIP	023 - START CHECK OVER	R AND PRE	Neil Read	2.00	2.00	100.00	200.00	-20

Cur.

Amount

Category

September 26, 2025 10:34 AM D&D Energy Services Ltd O/A D&D Well Services **Work Order History Report**

Mechanic

Actual

Hours

Quantity/Hours

Price/Rate

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Description

labour	11/26/2023 - REMOVED WI CHECK OVER. REPLACE I LOOK INTO WINCH TRY TI NOISE. FILL WITH HYD FL	BOTH CAB SHOCKS, O GET TO MAKE	Neil Read	11.00	11.00	100.00	1,100.00	
_				13.00	13.00	Total Labor	1,300.00	
Parts	40010155, SLACK ADJUST	ER -STEER/DRIVE		.00	1.00	116.00	116.00	
	KW (40910635) 4709E2, SHOE, BRAKE DR 3600AX, BRAKE DRUM TR			.00 .00	2.00 2.00	135.45 93.95	270.90 187.90	
	BALANCED T71-1000, ABSORBER - CA	\ В		.00	2.00	77.52	155.04	
	DW1164, WINDSHIELD, CU BP660-R, REINFORCED 'D			.00 .00	1.00 1.00	45.95 50.69	45.95 50.69	
	CHV 273260-981, HYDRAU 32W (DRUM)			.00	20.00	5.27	105.40	
	,					Total Parts	931.88	
						Shop Supplies	111.59	
						Total	2,343.47	CAD
Work Order #: 56	325 Invoice#:	Complete	ed Date: 2023-					
Labor				Odometer Hours:			As Of: 2023-11 As Of: 2023-11	
labour	11/30/2023 - DIAG OIL LEA		Dain Halkyard	8.00	8.00	100.00	800.00	
	BOLTS ON P/S PUMP & HO COMPRESSOR LINE HOSI ENGINE APART TO GET T ON MANIFOLD	E. PULL P/S OF						
labour	12/01/2023 - PULLED BROI STUD	KEN MANIFOLD	Bryant Hurd	1.00	1.00	100.00	100.00	
labour	12/01/2023 - TAKE DOWN I GET TO EXHAUST LEAK B FOUND BROKEN EXHAUS LEAKING EXHAUST GASK TURBO OFF TO GET MAN UP & PREP FOR HURD TO GET PARTS TOGETHER, F	SEHIND TURBO. ST MANIFOLD BOLT & SET. PULLED 2ND IFOLD OUT. CLEAN O REMOVE BOLTS &	Dain Halkyard	12.00	12.00	100.00	1,200.00	
labour	TOGETHER. 12/02/2023- INSPECT/ CLE SUCTION LINES, CLEAN B INSTALL NEW 3" SUCTION & TEST SYSTEMS	OTTOM OF TANK,	Dain Halkyard	5.00	5.00	100.00	500.00	
labour labour	12/02/2023 - CHECK OVER 12/01/2023 - CHANGED HY STEERING FILTER. CHECK DEBRIS, DISMOUNTED H' PUMP. FINISH PRE-CVIP ('D FILTER, & POWER KED HYD TANK FOR YD HOSE FROM	Jody Tracey Zayn Knezevich	3.00 8.00	3.00 8.00	100.00 100.00	300.00 800.00	
Danta				37.00	37.00	Total Labor	3,700.00	
Parts	CAT 380-5855, CAT SEAL A	ASSBLY EXH		.00	1.00	161.82	161.82	
	MANIFOLD C15 CAT 379-8578, CLAMP, EX CAT 274-6851, CAT GASKI TURBO - C15			.00 .00	1.00 1.00	110.03 36.42	110.03 36.42	
	CAT 281-8261, SLEEVE, EXCAT 106-1792, CAT STUD,			.00 .00	6.00 2.00	33.25 18.34	199.50 36.68	
	MANIFOLD CAT 108-3612, CAT SPACE	ER, EXH MANIFOLD		.00	8.00	44.53	356.24	
	BOLT CAT 114-9223, CAT SPACE C15	ER, EXHAUST STUD -		.00	4.00	32.57	130.28	
	CAT 2N-2766, NUT, TURBO			.00	12.00	9.61	115.32	
	CAT 2N-9288, CAT STUDS D84-1000-6061870, BELT,	,		.00 .00	4.00 1.00	21.46 48.03	85.84 48.03	
	501 & 503							
	D84-1000-6122490, 12 RIB HF6710, FILTER, HYDRAU			.00 .00	2.00 2.00	102.32 18.42	204.64 36.84	

Total Parts

389.97

September 26, 2025 10:34 AM D&D Energy Services Ltd O/A D&D Well Services **Work Order History Report**

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic		ctual ours	Quantity/Hours	Price/Rate	Amount	Cur.
		/8X26 C, SLING, LOAD -	BLUE (1-1/8" X			.00	1.00	325.00	325.00	
	26') 87904M, KNWRTI	FILTER, POWER STEE	RING -			.00	1.00	27.97	27.97	
		n 5, PURGE VALVE KIT - A	D-IS			.00	1.00	149.95	149.95	
		DECECANT CARTRIDG				.00	1.00	36.29	36.29	
	CAT 8C-	5230, O-RING, OIL FILTE	ER HOUSING -			.00	1.00	20.92	20.92	
	K22-102	9, CAP, KW FUEL -NON				.00	1.00	207.64	207.64	
		ΓD, GASKET, FUEL CAP '-8418, CAT GASKET, TL				.00 .00	5.00 2.00	28.71 4.09	143.55 8.18	
		'-8419, GASKET, TURBO				.00	1.00	4.38	4.38	
	CAT 2N-	2765, BOLT, HP TURBO				.00	2.00	22.09	44.18	
		TIRE CHAIN, TRIPLE - 1	1R24.5 S2000			.00	2.00	211.93	423.86	
		CAMS - DRIVE 3/8" SQUARE HEAD PLU	IG			.00	1.00	1.35	1.35	
	38-0048,	, CLAMP, T-BOLT - 2.94"	TO 3.25"			.00	4.00	9.93	39.72	
	CAT 4N- HOUSIN	1156, GASKET, THERM	OSTAT			.00	1.00	2.43	2.43	
		HOOK, CHAIN - 1/2" ALL	OY			.00	1.00	32.90	32.90	
		HOOK, CHAIN - 7/16" AL				.00	4.00	27.38	109.52	
		W, INVERTER - 2500 W/ 8SC, MATTRESS -32"W				.00 .00	1.00 1.00	375.61 235.45	375.61 235.45	
		BO, TIRE CHANGE OVER				.00	2.00	54.58	109.16	
	SUPER					.00	50.00	5.27	263.50	
	32W (DF	RUM))2, CAP, FILLER - SURG	E TANK			.00	1.00	28.73	28.73	
	53779. 3	85/65R22.5 TIRE-MICH)	KZY3 J/18P			.00	2.00	984.40	1,968.80	
		BUG WASH, -40 WINDS	SHIELD			.00	2.00	3.69	7.38	
	WASHEI CHV 257 3.785L J	7005-429, URSA SP EC 1	5W40 4L			.00	6.00	21.72	130.32	
Cublet								Total Parts	6,218.43	
Sublet	08611334	452 / Fountain Tire Corpo	ration			.00	1.00	48.11	48.11	
		33 / Kal Tire				.00	1.00	170.82	170.82	
								Total Sublet	218.93	
								Shop Supplies	495.92	
								Total	10,633.28	CAD
Work Order #: 5 Sublet	6472	Invoice#:	Complete	ed Date: 2023-12	2-11	503				
Cabiot	234794F	JP / Inland Kenworth				.00	1.00	50.39	50.39	
								Total Sublet	50.39	
								Total	50.39	CAD
Work Order #: 5	6474	Invoice#:	Complete	ed Date: 2023-12	2-11	503				
	•		G 5p. 15.15		0	domet	,		As Of: 2023-12	
Labor					Hours	3:	19,401 H	ours Reading	As Of: 2023-12	-11
labour	12/11/20	23 HELPED BRIAN WITH	H SERVICE	Jesse Lewis		3.00	3.00	100.00	300.00	
labour		23 SERVICE		David White		4.00	4.00	100.00	400.00	
Parts						7.00	7.00	Total Labor	700.00	
. urts	LF691A.	FLEETGUARD FILTER				.00	1.00	20.15	20.15	
	FF5319,	FILTER, FUEL PRIMARY				.00	1.00	16.62	16.62	
		FILTER, FUEL SEPERA 7005-990, BULK OIL, URS				.00 .00	1.00 42.00	12.46 4.83	12.46 202.86	
	EC EC	JOG-JOU, DOLK OIL, UK	57. 10VV+0 OF			.00	42.00	4.03	202.00	
	CAT 380	0-5840, FILTER, CRANK (OS OIL ANALYSIS	CASE - C15			.00 .00	1.00 1.00	112.44 25.44	112.44 25.44	

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
							Shop Supplies	54.50	
							Total	1,144.47	CAD
Work Order #: 56	5536	Invoice#:	Complete	ed Date: 2023-1	2-18 503				
			55		Odome Hours:	,		As Of: 2023-12 As Of: 2023-12	
Labor labour	12/14/202	23 - CHANGE COOLANT RE	Z	Dain Halkyard	1.00	1.00	100.00	100.00	
					1.00	1.00	Total Labor	100.00	
Parts		TIRE CHAINS, 11.00R24.5 - D CAM - DRIVE	S-2000		.00	2.00	229.55	459.10	
		TANK, COOLANT (SURGE) 811-492, COOLANT, 50/50 F			.00 .00	1.00 2.00	297.50 9.46	297.50 18.92	
		260-981, HYDRAULIC OIL -	RANDO		.00	60.00	5.27	316.20	
Sublet							Total Parts	1,091.72	
Cubict	150-4354	89 / Northern Metalic Sales			.00	1.00	2,747.75	2,747.75	
							Total Sublet	2,747.75	
							Shop Supplies	59.59	
							Total	3,999.06	CAD
Work Order #: 56	6658	Invoice#:	Complete	ed Date: 2023-1	2-31 503 Odome Hours:	,		As Of: 2023-12 As Of: 2023-12	
Labor labour	12/29/202	23 - CHECK FAN HUB, FIX A	AIR LINE	Neil Read	1.00	1.00	100.00	100.00	
B. 4					1.00	1.00	Total Labor	100.00	
Parts	LS D 1-1/	, UNION, PTC - #4 /8X28 C, SLING, LOAD -YEL	LOW (1-1/8"		.00 .00	2.00 1.00	7.23 339.00	14.46 339.00	
	X 28') C5720S,	CAP, WASHER FLUID			.00	1.00	2.08	2.08	
							Total Parts	355.54	
							Shop Supplies	22.78	
							Total	478.32	CAD
Work Order #: 56	6663	Invoice#:	Complete	ed Date: 2023-1	2-11 503				
	ANC 4379 HOOK	95-10-40, 4" X 40' STRAP W	// FLAT		.00	4.00	30.17	120.68	
	ANC 493- HOOK	47-16, 4" RATCHET C/W TA	IL & FLAT		.00	2.00	58.49	116.98	
		811-990, BULK CHEV RED	50/50 ELC		.00	1.00	2.93	2.93	
							Total Parts	240.59	
							Shop Supplies	12.03	
							Total	252.62	CAD
Work Order #: 56	6782	Invoice#:	Complete	ed Date: 2024-0)1-11 503				
. 4.10	30-2071, FT. GRE	TRAILER CORD, STRAIGH	T ABS -15		.00	1.00	147.55	147.55	
	WINTER	BUG WASH, -40 WINDSHIE	LD		.00	3.00	3.69	11.07	
	WASHER CHV 257 3.785L JU	005-429, URSA SP EC 15W	40 4L		.00	2.00	24.85	49.70	

Date: From 2023-01-01 To 2025-09-09

Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
	CHV 227811-492, COOLANT, 50/50 RED - CHEVRON DELO		.00	5.00	9.46	47.30	
Sublet					Total Parts	255.62	
Sublet	648120057 / Kal Tire 089198239 / Kal Tire		.00	1.00 1.00	77.65 69.36	77.65 69.36	
					Total Sublet	147.01	
					Shop Supplies	12.78	
					Total	415.41	CAD
Work Order #: 56	6914 Invoice#: Complete	ed Date: 2024-0	01-16 503				
	or an electric complete		Odomet Hours:	,		As Of: 2024-01 As Of: 2024-01	
Labor labour	01/10/2024 - SERVICE, CHECK OVER, DIAG &	Colton Wolsey	4.00	4.00	100.00	400.00	
labour	REPAIR COOLANT ISSUE 01/11/2024 - COOLANT LINE REPAIR, TEST NO	Colton Wolsey	.50	.50	100.00	50.00	
labour	HEAT. SERVICE, CHECK OVER. 01/10/2024 - BRING UNIT INSIDE & FIX AIR &	James Dougan	2.00	2.00	100.00	200.00	
labour	COOLANT. 01/11/2024 - SERVICE, REPLACE DIFF PLUGS & TRANNY PLUG, REPLACE BEACON LIGHT ASSEMBLY, INSPECT BLOCK HEATER, AND	James Dougan	6.00	6.00	100.00	600.00	
	REPLACE BATTERY CHARGER		12.50	12.50	Total Labor	1,250.00	
Parts	FOA COOC CAT EL BOW CILICONE						
	F04-6006, CAT ELBOW, SILICONE LF3566, FILTER, OIL - CAT C-15		.00 .00	1.00 1.00	109.77 34.07	109.77 34.07	
	SOS, SOS OIL ANALYSIS 4304023, PLUG, TRANSMISSION - MAGNETIC		.00 .00	1.00 1.00	22.00 15.88	22.00 15.88	
	CLA X12-1207, PLUG, DIFF DRAIN -MAGNETIC (3/4")		.00	3.00	4.34	13.02	
	76223, BEACON LIGHT - 4411 BULBS X2		.00	1.00	226.80	226.80	
	4X011-1969-4, CHARGER, BATTERY CHV 257005-990, BULK OIL, URSA 15W40 SP EC		.00	1.00 45.00	72.99 4.66	72.99 209.70	
	CHV 227811-492, COOLANT, 50/50 RED - CHEVRON DELO		.00	3.00	9.46	28.38	
	CHV 221854-483, HAVOLINE ATF MD - 1 L BOTTLE		.00	1.00	5.84	5.84	
	16X16 FLAG, FLAGS 16 X 16, NYLON HS217B, TIRE, KAPSEN 11R24.5 DRIVE		.00 .00	2.00 12.00	7.13 267.00	14.26 3,204.00	
	(TRACTORS)				Total Parts	3,956.71	
Sublet	000400704 /1/ 17		20	4.00			
	089198761 / Kal Tire		.00	1.00	1,372.32 Total Sublet	1,372.32	
						,	
					Shop Supplies	260.34	CAD
					Total	6,839.37	CAD
Work Order #: 57	'046 Invoice#: Complete	ed Date: 2024-0	01-24 503 Odomet	er: 227,007	Odometer	As Of: 2024-01	-21
			Hours:	,		As Of: 2024-01	
Labor labour	01/21/2024 - PUT HYDRAULIC CAP ON + FIX BEACON SWITCH.	James Dougan	3.00	3.00	100.00	300.00	
Parts			3.00	3.00	Total Labor	300.00	
raits	P27-1040-21, SWITCH, BEACON CHV 273260-981, HYDRAULIC OIL -RANDO		.00 .00	1.00 5.00	128.66 5.27	128.66 26.35	
	32W (DRUM) D84-1000-6061870, BELT, ALTERNATOR -UNIT# 501 & 503		.00	2.00	61.50	123.00	

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic 	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
Sublet							Total Parts	278.01	
	150-439°	183 / Northern Metalic Sales			.00	1.00	101.00	101.00	
							Total Sublet	101.00	
							Shop Supplies	28.90	
							Total	707.91	CAD
Work Order #: 5	7087	Invoice#:	Complete	ed Date: 2024-0	1-24 503				
raits	MD640,	, BOX-LIGHT REAR A/C LIGHT BAR -AIR CLEANER			.00	1.00 1.00	354.87 453.74	354.87 453.74	
	41-00302	2, SAFETY PIN - 3/16"			.00	4.00	.95 Total Parts	3.80 812.41	
							Shop Supplies	40.62	
							Total	853.03	CAD
Work Order #: 5	7093	Invoice#:	Complete	ed Date: 2023-1	2-31 503				
Sublet	SOINV5	129594 / United Farmers Of A	Alberta.		.00	1.00	101.78	101.78	
							Total Sublet	101.78	
							Total	101.78	CAD
Work Order #: 5	7222	Invoice#:	Complete	ed Date: 2024-0					
					Odomete Hours:			As Of: 2024-01 As Of: 2024-01	
Labor labour	DIAGNO AND FA NEW BE HAVE BI	31 SERVICE AND CHECKO SE AND REPAIR DAMAGE T N HUB BELT TRACK AREAS LT AND TEST - GOOD. ORIGEN WRONG BELT. PERFO E AND CHECKOVER	TO PULLEY S. PUT IN GINAL MAY	David White	3.00	3.00	100.00	300.00	
labour	-	31 ASSIST BRIAN WITH O	IL SERVICE	Jesse Lewis	3.00	3.00	100.00	300.00	
5 . 4.					6.00	6.00	Total Labor	600.00	
Parts	CHV 257 EC	7005-990, BULK OIL, URSA 1	15W40 SP		.00	54.00	4.71	254.34	
	LF691A,	FLEETGUARD FILTER			.00	1.00	21.37	21.37	
	FF5319, D84-100	FLG, FILTER, FUEL FILTER, FUEL PRIMARY - C 0-6122555, BELT, FAN - 12 F			.00 .00 .00	1.00 1.00 1.00	20.80 17.89 135.84	20.80 17.89 135.84	
	2555MM						Total Parts	450.24	
							Shop Supplies	52.51	
							Total	1,102.75	CAD
Work Order #: 5	7299	Invoice#:	Complete	ed Date: 2024-0	Odomet	,		As Of: 2024-02	-
Labor					Hours:		_	As Of: 2024-02	-04
labour		24 - TESTED AIR COMPRES SE SLOW AIR BUILD UP.	SSOR.	Colton Wolsey	1.00	1.00	100.00	100.00	
labour	02/04/20	24 - CALL IN FOR AIR ISSU OZE. REPLACE BOTH WIND		Neil Read	2.00	2.00	100.00	200.00	
Douts					3.00	3.00	Total Labor	300.00	
Parts	DW1164	, WINDSHIELD, CURVED - [D/S		.00	1.00	45.95	45.95	

September 26, 2025 10:34 AM D&D Energy Services Ltd O/A D&D Well Services **Work Order History Report**

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
	DW1163, WINDSHIELD, CURVED - P/S		.00	1.00	45.95	45.95	
	KNWRTH ANC 45982-43, 2" X 30' RATCHET /W WIRE		.00	2.00	23.36	46.72	
	HOOK LS D 1-1/8X28 C, SLING, LOAD -YELLOW (1-1/8"		.00	1.00	339.00	339.00	
	X 28') 16X16 FLAG, FLAGS 16 X 16, NYLON M807A, HOOK, CHAIN - 7/16" ALLOY		.00 .00	4.00 4.00	7.13 27.38	28.52 109.52	
	moon, noon, on any money		.00	1.00	Total Parts	615.66	
					Shop Supplies	45.78	
					Total	961.44	CAD
Work Order #: 57	'492 Invoice#: Completed	d Date: 2024-0	02-19 503				
Sublet	·	u Dato. 2021 (4.00	404.00	404.00	
	150-441880 / Northern Metalic Sales		.00	1.00	101.00 Total Sublet	101.00	
					Total Gubiet	101.00	
					Total	101.00	CAD
Work Order #: 57	7534 Invoice#: Completed	d Date: 2024-0	02-19 503				
			Odomete Hours:	,		As Of: 2024-02 As Of: 2024-02	
Labor					_		- 1 -4
labour	02/14/2024 - WORK ON HYDRAULIC FITTING ON TANK.	Bryant Hurd	1.50	1.50	100.00	150.00	
labour	02/15/2024 - TOP UP OIL.	Neil Read	.50	.50	100.00	50.00	
Parts			2.00	2.00	Total Labor	200.00	
	H5125-0858, BOOMER, YELLOW FOLDER - 3/8" TO 1/2"		.00	1.00	78.08	78.08	
	0103-8-6, FITTING - STRAIGHT 1/2"NPT(M) - #6JIC(M)		.00	1.00	1.56	1.56	
	0551771, HEADLIGHT, LOW BEAM -HEATED LED		.00	1.00	275.00	275.00	
	0551781, HEADLIGHT, HIGH BEAM -HEATED LED		.00	1.00	275.00	275.00	
	6-1008, SCREW, HEADLIGHT BEZEL 43887-10, RATCHET STRAP, BLUE -1" X 16'		.00 .00	1.00 6.00	3.00 12.22	3.00 73.32	
	WINTER BUG WASH, -40 WINDSHIELD WASHER FLUID		.00	2.00	3.69	7.38	
	CHV 257005-429, URSA SP EC 15W40 4L		.00	1.00	21.72	21.72	
	3.785L JUG CHV 273260-981, HYDRAULIC OIL -RANDO		.00	60.00	5.27	316.20	
	32W (DRUM) LUM 4X4X10PT, 4X4X10 TREATED LUMBER		.00	2.00	20.13	40.26	
Sublet					Total Parts	1,091.52	
Sublet	133904 / Integra Tire Auto Centre (Fox Creek)		.00	1.00	5.00	5.00	
					Total Sublet	5.00	
					Shop Supplies	64.58	
					Total	1,361.10	CAD
Work Order #: 57	7638 Invoice#: Completed	d Date: 2024-0	02-26 503 Odomete Hours:			As Of: 2024-02 As Of: 2024-02	
labour	02/22/2024 - ASSISTED JAMES W/UNIT. INSTALLED VALVE BRACKET + CROSSMEMBER. TIDY WORK AREA.	Colton Wolsey	1.50	1.50	100.00	150.00	
labour		James Dougan	2.50	2.50	100.00	250.00	
labour		Jan Koenig	3.00	3.00	100.00	300.00	

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
labour	CROSS CHANG	D24 - DISMOUNTED FRONT MEMBER. DID A SERVICE E, GREASED AND CHECK JNTED DUSTSHIELDS FOR	(OIL ED OVER).	Zayn Knezevich	9.00	9.00	100.00	900.00	
labour labour	02/23/20 02/23/20	024 - HELP CODY W/DRIVE 024 - TIGHTENED CROSSN	ELINE. MEMBERS.	Alex Heney Cody Brouilette	1.00 3.00	1.00 3.00	100.00 100.00	100.00 300.00	
labour	02/23/20 REMOV	LED EXHAUST. INSTALLEI 024 - INSTALL VALVE BRAG ED CROSSMEMBER + INS	CKET.	Colton Wolsey	3.50	3.50	100.00	350.00	
labour labour	02/23/20	024 - HELP BOLT UP CROS 024 - REMOVE CROSSMEN L NEW ONES. REPLACE G	IBERS AND	Dain Halkyard James Dougan	2.00 8.00	2.00 8.00	100.00 100.00	200.00 800.00	
Parts				-	33.50	33.50	Total Labor	3,350.00	
raits	SOS, S0 805143,	, FILTER, OIL - CAT C-15 OS OIL ANALYSIS DUST SHIELD, DRIVE (97:			.00 .00 .00	1.00 1.00 2.00	35.67 22.00 70.89	35.67 22.00 141.78	
	-BEHINI	99, CROSSMEMBER, CAB F D TRANNY			.00	1.00	1,525.27	1,525.27	
	-(ALSO	148, CROSSMEMBER, INTE ABOVE STEADY BEARING	i		.00	1.00	1,587.98	1,587.98	
	STAINL				.00	1.00	14.31	14.31	
		18X, STRAP KIT, SPL250 - 137-5, GUSSET, CROSSME IUM			.00	2.00 1.00	21.70 366.61	43.40 366.61	
	CUM 28	.66337, GASKET, EXHAUS ⁻ /-9311, CLAMP V-BAND	Γ - 5"		.00	1.00 1.00	18.33	18.33 77.86	
		79311, CLAWP V-BAND 7005-990, BULK OIL, URSA	15W40 SP		.00	45.00	77.86 4.66	209.70	
	62NTA-	4, UNION, COMPRESSION 1, TARP STRAP - 21"	- #4		.00 .00	2.00 6.00	2.86 1.60	5.72 9.60	
							Total Parts	4,058.23	
							Shop Supplies	370.41	
							Total	7,778.64	CAD
Work Order #:	57683	Invoice#:	Complete	ed Date: 2024-03-06	5 503				
labour		024 - TROUBLESHOOT + R G FOR CRANK SENSOR.	EPAIR	Tyson Kirton	3.00	3.00	100.00	300.00	
					3.00	3.00	Total Labor	300.00	
							Shop Supplies	15.00	
							Total	315.00	CAD
Work Order #: 5 Sublet	57745	Invoice#:	Complete	ed Date: 2024-03-08	3 503				
Oublet	150-443	644 / Northern Metalic Sales	3		.00	1.00	101.00	101.00	
							Total Sublet	101.00	
							Total	101.00	CAD
Work Order #:	57764	Invoice#:	Complete	ed Date: 2024-03-04					
				Но	Odome			As Of: 2024-02 As Of: 2024-02	-
Labor labour	02/29/20 AIR LE <i>A</i>	024 - REPAIRED COOLANT AK.	LEAK AND	Colton Wolsey	1.00	1.00	100.00	100.00	
Parts					1.00	1.00	Total Labor	100.00	
Faits	3-2048-	8, UNION 3, BEZEL, HEADLIGHT - KN	IWRTH		.00	1.00 1.00	8.74 53.68	8.74 53.68	
	MAG07	587, MAGNET W/ CLIP			.00	2.00	9.99	19.98	

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
	132 11111 HS24, CL 62PMT-6,	ETAINER RING, HEADL 11, screw-headlight ret. ri AMP, HOSE - 27-51MM FITTING, UNION - 3/8" I	ng		.00 .00 .00	1.00 2.00 1.00 1.00	14.54 1.54 1.33 7.53	14.54 3.08 1.33 7.53	
	LINE CHV 2278 CHEVROI	311-492, COOLANT, 50/5	60 RED -		.00	2.00	9.46	18.92	
		-50, 3/4" SILICONE HEA	TER HOSE		.00	5.00	6.91	34.55	
							Total Parts	162.35	
							Shop Supplies	13.12	
							Total	275.47	CAD
Work Order #: 57	7777	Invoice#:	Complete	ed Date: 2024-0	2-16 503				
	CHV 2570 3.785L JU	005-429, URSA SP EC 15 JG	5W40 4L		.00	5.00	22.29	111.45	
	70765, W	PER TOWEL INDEX, TRIGGER 765MI BUG WASH, -40 WINDSI FLUID			.00 .00 .00	1.00 1.00 3.00	2.54 6.24 4.78	2.54 6.24 14.34	
							Total Parts	134.57	
							Shop Supplies	6.73	
							Total	141.30	CAD
Work Order #: 57	7795	Invoice#:	Complete	ed Date: 2024-0	3-01 503 Odome Hours:	,		As Of: 2024-03 As Of: 2024-03	
Labor labour labour	2024/03/0	11 ASSIST WITH FAN H 11 RE/RE FAN BELT, FA IER AND FAN HUB		Terry D'Albertson Gary Skolos	2.00	2.00	100.00 100.00	200.00 100.00	
Dorto					2.00	2.00	Total Labor	300.00	
Parts		8955 (DO NOT USE), TE PULLY BIG BELT	NSIONER-		.00	1.00	406.94	406.94	
		RMAN, CLUTCH, FAN RI	MAN HORTON		.00	1.00	1,092.69	1,092.69	
		-6122180, BELT, FAN -P	OLY 12 RIB X		.00	1.00	97.49	97.49	
		RMAN CORE, CORE, CL	UTCH FAN		.00	1.00	550.00	550.00	
							Total Parts	2,147.12	
							Shop Supplies	122.36	
							Total	2,569.48	CAD
Work Order #: 57	7812	Invoice#:	Complete	ed Date: 2024-0	3-06 503 Odome Hours:			As Of: 2024-03 As Of: 2024-03	
Labor labour	DIAGNOS	:4 - HYDRAULIC TANK C SE. CLEAN CAP. FUEL T UT. OIL LEAK DIAGNOS	ANK VENT	Colton Wolsey	2.00	2.00	100.00	200.00	
Parts					2.00	2.00	Total Labor	200.00	
Parts	CHV 2570	MICROPHONE WITH KE 005-429, URSA SP EC 15			.00 .00	1.00 6.00	103.75 21.72	103.75 130.32	
		311-492, COOLANT, 50/5	60 RED -		.00	4.00	9.46	37.84	
	CHEVROI ANC 4379 HOOK	N DELO 95-10-30, 4" X 30' STRAF	C/W FLAT		.00	4.00	18.60	74.40	
	ANC 4379	95-11-30, 4" X 30' STRAF	C/W D-RING		.00	2.00	21.27	42.54	

Actual

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic	Hours	Quantity/Hours	Price/Rate	Amount	Cur.
		660-10-30, 3" X 30' STRAP C/V	V FLAT		.00	3.00	17.47	52.41	
	HOOK 61205, L	OCK, LEVER BINDER - 1/8" X	10"		.00	1.00	3.52	3.52	
							Total Parts	444.78	
							Shop Supplies	32.24	
							Total	677.02	
Work Order #: 5	7993	Invoice#:	Complete	ed Date: 2024-0	3-27 503				
labour	GREASE ISSUE. F	24 - SERVICE UNIT. CHECK (E. DIAGNOSE FUEL TANK LEY REPLACE FUEL DIVIDER. INS ITINGS. TEST. RAN + CHECK	VELING STALL	Colton Wolsey	6.00	6.00	100.00	600.00	
Parts					6.00	6.00	Total Labor	600.00	
. 4.10		FILTER, OIL - CAT C-15			.00	1.00	35.67	35.67	
		OS OIL ANALYSIS 7005-990, BULK OIL, URSA 15	W40 SP		.00 .00	1.00 45.00	21.85 4.66	21.85 209.70	
		, FUEL DIVIDER, RETURN -M S	OST		.00	1.00	151.97	151.97	
		MALE CONNECTOR 3, MALE ELBOW			.00 .00	1.00 1.00	1.81 5.00	1.81 5.00	
	BP660-R	R, REINFORCED 'D' SIGN			.00	1.00	50.69	50.69	
		LAG, FLAGS 16 X 16, NYLON 87, MAGNET W/ CLIP			.00	2.00 2.00	7.13 9.99	14.26 19.98	
	141710070	or, whomer wo den			.00	2.00	Total Parts	510.93	
							Shop Supplies	55.55	
							Total	1,166.48	CAD
	0.470	,		15					
Work Order #: 5	8172	Invoice#:	Complete	ed Date: 2024-0	04-01 503 Odome	ter: 250,389	Odometei	As Of: 2024-03	2-27
					Hours:			As Of: 2024-03	
Labor						-,		,	
labour labour		24 - CHECK 5TH WHEEL. 24 - REMOVE BROKEN DUST	COVER	Neil Read Bryant Hurd	1.00 1.00	1.00 1.00	100.00 100.00	100.00 100.00	
labour	03/28/20 WHEEL. TOOK O REAR PA	24 - HELPED W/REPLACING REPLACED BROKEN DUSTS FF REAR D/S MIDDLE WHEE ASSENGER FRONT WHEELS N DUSTSHIELD BOLTS.	HIELDS. LS AND	Jan Koenig	7.50	7.50	100.00	750.00	
labour	03/28/20 BOLTS.	24 - EXTRACT/REMOVE BRO	KEN	Jesse Holt	6.00	6.00	100.00	600.00	
labour	03/28/20 REPLAC BIMBAS CODES	24 - CHANGED "Y" CORD FO E 5TH WHEEL. REPLACE BO . CHECK FOR ENGINE CODE FOUND. GET BOLTS REMOV THAT WERE BROKE.	TH S, NO	Neil Read	12.00	12.00	100.00	1,200.00	
Dorto					27.50	27.50	Total Labor	2,750.00	
Parts	XA-351-	3-121, PANEL ASS IGNITION ALP-REBUILT, TOP PLATE, 5			.00 .00	1.00 1.00	345.01 1,605.40	345.01 1,605.40	
	- 35T RE XB-0011 WHEEL	:BUILT -2, BUSHING, MOUNT - 35 TO	ON FIFTH		.00	2.00	31.30	62.60	
		6-P, PIN, MOUNT - 35 TON FI	FTH		.00	2.00	20.50	41.00	
	255-237,	, 3/8X1-1/4 CLEVIS PIN			.00	2.00	.99	1.98	
		15-DXP, CYLINDER, BIMBA 1- -4-2, 90 SWIVEL MALE ELBO\			.00	2.00 4.00	210.00 8.31	420.00 33.24	
		5, SLACK ADJUSTER -STEEF			.00	2.00	118.65	237.30	
	CS3149,	CAM SHAFT SNAP RING SHOE, BRAKE DRIVE ESII - 1	6.5X7		.00 .00	2.00 2.00	1.03 139.92	2.06 279.84	

Date: From 2023-01-01 To 2025-09-09

Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
	3600AX, BRAKE DRUM TRUCK / TRAILER	-	.00	2.00	85.95	171.90	
	BALANCED SNA C21, TARP STRAP - 21" 3030 LONG, BRAKE POT, LONGSTROKE -		.00 .00	4.00 1.00	1.52 80.50	6.08 80.50	
	30/30 805143, DUST SHIELD, DRIVE (973953) K024563, DUST SHIELD, P/S STEER- KEN		.00 .00	2.00 1.00	70.89 85.55	141.78 85.55	
	(977298) K024564, DUST SHIELD, D/S STEER- KW (977299)		.00	1.00	85.55	85.55	
	2010-1010, CLEVIS, W/ PIN - 5/8" ROD X 5/ PIN	8"	.00	1.00	4.10	4.10	
					Total Parts	3,603.89	
					Shop Supplies	317.69	
					Total	6,671.58	CAD
Work Order #: 5	8193 Invoice#: Com	npleted Date: 2024-0	04-26 503				
labour	03/31/2024 - TROUBLESHOOT AND REPAI COOLANT LEAK AT TRANSMISSION COO		4.00	4.00	100.00	400.00	
Parts			4.00	4.00	Total Labor	400.00	
raits	125HBL-6-6, HOSE BARB TO MALE PIP 216P-8, HEX NIPPLE 122HBL-8, HOSE MENDER 122HBL-10, 5/8 HOSE BARB SILH-063-50, HOSE HEATER SILICONE 5/8 CHV 227811-492, COOLANT, 50/50 RED - CHEVRON DELO	3	.00 .00 .00 .00 .00	1.00 1.00 1.00 1.00 1.00 12.00	1.95 4.80 2.51 2.83 5.60 9.96	1.95 4.80 2.51 2.83 56.00 119.52	
Sublet					Total Parts	187.61	
	150-448145 / Northern Metalic Sales		.00	1.00	101.00 Total Sublet	101.00	
					Shop Supplies	29.38	
					Total	717.99	CAD
Work Order #: 5	8379 Invoice#: Com	npleted Date: 2024-0	04-17 503				
Lohor			Odomet Hours:	,		As Of: 2024-04 As Of: 2024-04	
Labor labour	04/10/2024 - SERVICE OIL, OIL FILTER AN FILTERS. REPLACE SLACK ADJUSTER. REPLACE AIR LINE BEHIND AC COMPRESSOR. REPLACE FUEL DIVIDER/SEPERATOR VALVE. HYDRAULIC TANK CAP REPAIR THREADS. CHANGED RETURN LINES. BUILD FUEL LINES INSTAFITTING. REMOVE OLD FUEL LINES. CLEAN WORK AREA + TOOLS.	C FUEL NLL	13.00	13.00	100.00	1,300.00	
labour labour	04/10/2024 - HELP COLTON W/FUEL LINES 04/11/2024 - WELD UP HOLES IN BATTER' BOX COVER.		1.50 1.50	1.50 1.50	100.00 100.00	150.00 150.00	
labour	04/11/2024 - REPLACE FUEL LINE RETURI REROUTED AND ZIP TIED HOSES UP. CHECKED ALL FITTINGS, MADE SURE WE TIGHT. NO LEAKS AFTER TESTING.	•	3.00	3.00	100.00	300.00	
labour	04/11/2024 - START FRONT STRUCTURE REMOVAL.	Neil Read	6.00	6.00	100.00	600.00	
labour labour	04/12/2024 - MOVE OIL FILL ON TANK. 04/12/2024 - HELP NEIL W/TAKE APART AI REPAIR ON FRONT STRUCTURE.	Bryant Hurd ND Earl Buchanan	4.00 1.50	4.00 1.50	100.00 100.00	400.00 150.00	
labour labour	04/12/2024 - WELDED NEW TANK FLANGE 04/12/2024 - FINISH TEAR DOWN OF FROI STRUCTURE. CLEAN ALL PARTS FOR RE-ASSEMBLY.		3.00 11.00	3.00 11.00	100.00 100.00	300.00 1,100.00	

Date: From 2023-01-01 To 2025-09-09

Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
labour	04/13/2024 - START ASSEMBLING FRONT OF	Neil Read	6.00	6.00	100.00	600.00	
labour	ENGINE. 04/14/2024 - ASSIST NEIL W/FRONT ENGINE PLATE BOLTS ON UNIT.	Colton Wolsey	1.00	1.00	100.00	100.00	
labour	04/14/2024 - CONTINUE W/FRONT STRUCTURE.	Neil Read	9.50	9.50	100.00	950.00	
labour labour	04/15/2024 - PULL BROKEN BOLT ON ENGINE. 04/15/2024 - ASSIST NEIL ON UNIT. INSTALL AIR SYSTEM. DRAIN POWER STEERING TO LEVEL. INSTALL SIDE STEP. TEST RUN. MONITOR ENGINE FOR LEAKS. REPLACE POWER STEERING TEMP SENSOR AND PLUG.	Bryant Hurd Colton Wolsey	1.00 3.00	1.00 3.00	100.00 100.00	100.00 300.00	
labour	CHECK OVER ALL CLAMPS FOR TORQUE. 04/15/2024 - HELP NEIL W/TIMING AND	Earl Buchanan	4.00	4.00	100.00	400.00	
labour	SETTING VALVES, INJECTORS + JACS. 04/15/2024 - PUT ENGINE BACK TOGETHER	Neil Read	11.00	11.00	100.00	1,100.00	
labour	FOR FRONT STRUCTURE REPLACEMENT. 04/16/2024 - RUN ENGINE. CHECK AND REPAIR CHECK ENGINE LIGHT. REMOVE AND REPLACE INTAKE ACTUATOR SENSOR + PLUG. RUN AND RECHECK FOR CODES.	Earl Buchanan	2.50	2.50	100.00	250.00	
labour	04/16/2024 - WASHED UNIT.	Jan Koenig	.50	.50	100.00	50.00	
			83.00	83.00	Total Labor	8,300.00	
Parts	E-5137, WASHER, S-CAM - 1-1/4" ID X 1/16" THICK		.00	1.00	1.19	1.19	
	AF4195, FILTER, AIR		.00	2.00	90.66	181.32	
	60NTA-4, SLEEVE, COMPRESSION - #4		.00	1.00	.25	.25	
	61NTA-6, NUT, COMPRESSION - #6		.00	1.00 1.00	.97 2.17	.97 2.17	
	SILH-025-50, HOSE, 1/4" SILICONE HEATER LF3566, FILTER, OIL - CAT C-15		.00	1.00	35.67	35.67	
	SOS, SOS OIL ANALYSIS		.00	1.00	21.85	21.85	
	40010155, SLACK ADJUSTER -STEER/DRIVE KW (40910635)		.00	1.00	118.65	118.65	
	CS3149, CAM SHAFT SNAP RING		.00	1.00	1.03	1.03	
	20620-8-8, FITTING, REUSABLE - #8JIC(F) X #8HOSE		.00	6.00	18.28	109.68	
	201-8, HOSE,AIR BRAKE - 1/2" (13/32) SINGLE BRAID		.00	4.00	7.48	29.92	
	652578BSM, SWITCH, LOW PRESSURE A/C		.00	1.00	86.27	86.27	
	2252-1D, FUEL DIVIDER, RETURN -MOST ENGINES		.00	1.00	151.97	151.97	
	149F-10-8, MALE ELBOW		.00	1.00	7.18	7.18	
	48F-10-8, MALE CONNECTOR		.00	2.00	3.53	7.06	
	CAT 101-8468, BEARING (SLEEVE), TIMING GEAR -MXS/NXS		.00	1.00	81.02	81.02	
	HBF16, BREATHER CAP, HYDRAULIC -1"		.00	1.00	18.15	18.15	
	0102-24-16, MNPT-FNPT BUSHING CAT 130-4698, SLEEVE, GEAR - CAT C15		.00	1.00 1.00	18.34 76.47	18.34 76.47	
	(BUSHING)		.00	1.00	70.47	70.47	
	CAT 118-5068, O-RING, DIPSTICK TUBE - C15		.00	2.00	4.09	8.18	
	CAT 348-3681, KIT, GASKET -FRONT		.00	1.00	1,081.76	1,081.76	
	STRUCTURE (NXS/MXS) CAT 129-5428, STUD, FRONT HOUSING PLATE		.00	1.00	5.33	5.33	
	CAT 129-3426, STOD, FRONT HOUSING FLATE CAT 334-6832, STUD, AIR COMP/FRONT HOUSING PLATE		.00	1.00	11.42	11.42	
	CAT 304-9553, STUD 6 PT HD - C15 CAT		.00	3.00	65.90	197.70	
	HWC09102, SCREW-TAPPING TRUSS PSD		.00	2.00	.74	1.48	
	CAT 248-2606, PLATE, FRONT HOUSING		.00	1.00	747.75	747.75	
	CAT 287-7014, CAT HOSE, COMPRESSOR - COOLANT		.00	1.00	34.88	34.88	
	HS16, CLAMP HOSE 11/16		.00	2.00	1.21	2.42	
	MH6, CLAMP HOSE SS 3/8IN TO 7/8IN		.00	1.00	.85	.85	
	D84-1000-6061870, BELT, ALTERNATOR -UNIT#		.00	1.00	62.40	62.40	
	501 & 503 07-05861-2, BUSHING, RADIATOR		.00	4.00	55.63	222.52	
	10091, STRAP WINDER - KINEDYNE		.00	1.00	23.91	23.91	
	38-1226, CLAMP, CONST. TORQUE - 2 1/4" TO		.00	1.00	13.48	13.48	
	3 1/8"		.50		. 5 0		
	CAT 240-1614, SLEEVE/WASHER, ENGINE OIL PAN		.00	1.00	14.72	14.72	
	M203039K2H, MOUNT KIT, ENGINE - FRONT KW		.00	1.00	97.25	97.25	
	F69-6003-151, COMPRESSOR, A/C -WITH FUSED CLUTCH		.00	1.00	540.25	540.25	

250.00

September 26, 2025 10:34 AM D&D Energy Services Ltd O/A D&D Well Services **Work Order History Report**

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur
		88280, GASKET, POWE -9907, STUD, VALVE C			.00	1.00 2.00	5.30 19.42	5.30 38.84	
	CAT 10R	R-7302, KIT, ACTUATOF	R VVA		.00	.50	498.04	249.02	
	38-1226, 3 1/8"	, CLAMP, CONST. TOR	QUE - 2 1/4" TO		.00	1.00	13.48	13.48	
		I3, WING NUT, BATTER P, SWITCH, TEMP CON NG)			.00 .00	1.00 1.00	4.10 65.05	4.10 65.05	
	1216228 POWER	0, CONNECTOR, ELEC STEERING TEMP CNT	RL		.00	1.00	19.83	19.83	
		0, TERMINAL- F SPADE 3-7202, HARNESS, BOC			.00	4.00 1.00	2.85 50.38	11.40 50.38	
	CAT 284	-2728, SENSOR, VVA (OIL PRESSURE		.00	1.00	315.46	315.46	
	CHV 257 EC	7005-990, BULK OIL, UF	RSA 15W40 SP		.00	45.00	4.79	215.55	
	CHV 227	7811-492, COOLANT, 50 ON DELO	0/50 RED -		.00	1.00	9.46	9.46	
		7005-429, URSA SP EC	15W40 4L		.00	4.00	21.72	86.88	
	3.785L J WINTER WASHE	BUG WASH, -40 WIND	SHIELD		.00	3.00	3.69	11.07	
blat		-					Total Parts	5,111.28	
Sublet	6481225	43 / Kal Tire			.00	1.00	80.82	80.82	
							Total Sublet	80.82	
							Shop Supplies	670.56	
							Total	14,162.66	CA
abor bour		17 LOCATE SOURCE		David White	Hours: 2.00	21,126 H 2.00	ours Reading 100.00	As Of: 2024-04 200.00	
	LINE T - GOOD	TIGHTEN, CHECK OIL L	EVEL AND TEST						
bour	2024/04/ FT/LBS	17 RETORQUE AXLE	#3 RHS 475	Zachary Brown	.50	.50	100.00	50.00	
					2.50	2.50	Total Labor	250.00	
							Shop Supplies	12.50	
							Total	262.50	CA
Vork Order #: 5	58517	Invoice#:	Complete	ed Date: 2024-					
abor					Odomet Hours:	,		As Of: 2024-04 As Of: 2024-04	
bour	04/19/20 LOCKS	24 - CHANGE BOTH 51	TH WHEEL SLIDE	Dain Halkyard	2.00	2.00	100.00	200.00	
arts					2.00	2.00	Total Labor	200.00	
	XA-0372	-A, SHOE, FIFTH WHEI	EL SLIDE		.00	2.00	100.60	201.20	
							Total Parts	201.20	
							Shop Supplies	20.06	
							Total	421.26	CA
Vork Order #: 5	58521	Invoice#:	Complete	ed Date: 2024-	04-24 503 Odomei Hours:			As Of: 2024-04 As Of: 2024-04	
abor							_		
abour	04/10/20	24 - SERVICE CALL TO	OCT ETH	Alex Heney	2.50	2.50	100.00	250.00	

Alex Heney

2.50

2.50

100.00

04/19/2024 - SERVICE CALL TO GET 5TH

WHEEL TO SLIDE.

labour

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
					2.50	2.50	Total Labor	250.00	
Parts	60NTA-4, S	SLEEVE, COMPRESSION - #4			.00	1.00	.26	.26	
							Total Parts	.26	
							Shop Supplies	12.51	
							Total	262.77	CAD
Work Order #: 58	2525	Invoice#: Co	omploto	d Date: 2024-0	M 24 502				
Labor	5525	mvoice#.	ompiete	u Daie. 2024-0	Odomet Hours:			As Of: 2024-04 As Of: 2024-04	
labour	REMOVE E	D/S ENGINE MOUNT LOOS BOLTS AND REPLACE W/NEV D ELD SCREWS. TIGHTENEI COOLER.	N.	Alex Heney	2.00	2.00	100.00	200.00	
					2.00	2.00	Total Labor	200.00	
							Shop Supplies	10.00	
							Total	210.00	CAD
Work Order #: 58 Sublet	3638	Invoice#: Co	omplete	d Date: 2024-0	5-03 503				
	089205509	/ Kal Tire			.00	1.00	44.76	44.76	
							Total Sublet	44.76	
							Total	44.76	CAD
Work Order #: 58	3659	Invoice#: Co	omplete	d Date: 2024-0	04-29 503				
					Odomet Hours:			As Of: 2024-04 As Of: 2024-04	
Labor labour	04/26/2024 PTO.	- REPLACE LEAKING AIR LIN	NE TO	James Dougan	1.00	1.00	100.00	100.00	
					1.00	1.00	Total Labor	100.00	
							Shop Supplies	5.00	
							Total	105.00	CAD
Work Order #: 58	3683	Invoice#: Co	omplete	d Date: 2024-0	04-30 503				
					Odomet Hours:			As Of: 2024-04 As Of: 2024-04	
Labor labour labour		- SWAP MAIN BELT. - REPLACE BAD AIR LINE TO	O PTO.	Colton Wolsey James Dougan	.50 1.00	.50 1.00	100.00 100.00	50.00 100.00	
Danta					1.50	1.50	Total Labor	150.00	
Parts	D84-1000-6	6122490, 12 RIB X 2490 BELT	-FAN		.00	1.00	123.83	123.83	
Cublet							Total Parts	123.83	
Sublet	089205676	i / Kal Tire			.00	1.00	64.56	64.56	
							Total Sublet	64.56	
							Shop Supplies	13.69	
							Total	352.08	CAD

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cu
Work Order #: 58	8708	Invoice#:	Complete	ed Date: 2024-0					
					Odomet Hours:	,		As Of: 2024-04 As Of: 2024-04	
abor									
abour	BELTS A	024 - REPLACED FAN HUB AND COOLANT LEVEL SEN AK ON PTO.		Wyatt Fowler	4.50	4.50	100.00	450.00	
abour	05/01/20 ONE HA	024 - REPLACED PULLEY A ND WOBBLE IN IT. REPLAC GHT SIDE WINDSHIELD. C	ED LEFT	Wyatt Fowler	4.00	4.00	100.00	400.00	
N auta					8.50	8.50	Total Labor	850.00	
arts	D84-100	00-6122490, 12 RIB X 2490	BFLT -FAN		.00	1.00	123.83	123.83	
	D84-100 501 & 50	00-6061870, BELT, ALTERN 03	IATOR -UNIT#		.00	1.00	62.40	62.40	
	CAT 279	9-0252, PULLEY, IDLER -6 (9-0252 RMAN, PULLEY, IDL 'E REMAN			.00 .00	2.00 2.00	71.10 39.46	142.20 78.92	
	CAT 28	5-0277 RMAN, PULLEY, 12 FAN RMAN	GROOVE		.00	1.00	12.31	12.31	
		9-0253, TENSIONER, SMO	OTH - PULLY		.00	1.00	392.17	392.17	
	CAT 347 DW1163	7-7963, TENSIONER- SMO 3, WINDSHIELD, CURVED -			.00 .00	1.00 1.00	450.44 45.95	450.44 45.95	
	KNWRT DW1164	H 4, WINDSHIELD, CURVED -	D/S		.00	1.00	48.35	48.35	
	-BLK PL				.00	1.00	332.59	332.59	
	79A989	4, SLEEVE, COMPRESSIOI BRMAN, CLUTCH, FAN RM			.00 .00	1.00 1.00	.25 773.20	.25 773.20	
	CAT C1 CHV 27 32W (DI	3260-981, HYDRAULIC OIL	-RANDO		.00	10.00	5.32	53.20	
		·					Total Parts	2,515.81	
							Shop Supplies	168.29	
							Total	3,534.10	CA
Vork Order #: 58	8752	Invoice#:	Complete	d Date: 2024-0					
					Odomet Hours:			As Of: 2024-05 As Of: 2024-05	
abor abour	05/02/20 SENSO)24 - SERVICE CALL FOR (R.	COOLANT	James Dougan	4.00	4.00	100.00	400.00	
	02.100				4.00	4.00	Total Labor	400.00	
Parts	1211029	93K, CONNECTOR KIT, LO	W COOLANT		.00	1.00	26.34	26.34	
	CFR195	01, FILTER, CAB AIR - KN	VRTH		.00	1.00 1.00	11.28 2.90	11.28 2.90	
	590-3, V	VHEEL SAVER - 22MM			.00				
	590-3, V	VHEEL SAVER - 22MM			.00		Total Parts	40.52	
	590-3, V	VHEEL SAVER - 22MM			.00		Total Parts Shop Supplies	22.03	
	590-3, V	VHEEL SAVER - 22MM			.00				CA
Vork Order #: 58		Invoice#:	Complete	ed Date: 2024-0			Shop Supplies Total	22.03	
_			Complete	ed Date: 2024-0	5-10 __ 503	er: 263,554	Shop Supplies Total Odometer	22.03 462.55	-05
Vork Order #: 58 . abor .abour	05/06/20 AIR LEA AMBER R/H. INS R&R CO		LANT LEAK + NS. R&R HTS L/H & DR FAULTS.		5-10 503 Odomei	er: 263,554	Shop Supplies Total Odometer	22.03 462.55 As Of: 2024-05-	-05

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
Parts									
	N534800	01, CAP, PRESSURE - 15	PSI PLASTIC		.00	1.00	28.90	28.90	
		6, CAT ELBOW, SILICON			.00	1.00	109.77	109.77	
)1, SENSOR, LÓW COOL			.00	1.00	338.12	338.12	
	-BLK PL								
		3K, CONNECTOR KIT, LO			.00	1.00	26.34	26.34	
		HOOK, CHAIN - 7/16" ALL			.00	2.00	27.38	54.76	
	333220, SUPER2	C-HOOK, TIRE CHAIN - 7	IVIIVI		.00	2.00	1.78	3.56	
		C-HOOKS			.00	2.00	2.85	5.70	
		, TIRE, KAPSEN 11R24.5	DRIVE		.00	12.00	243.29	2,919.48	
	(TRACT		DITTL		.00	12.00	2 10.20	2,010.10	
		7811-492, COOLANT, 50/5	50 RED -		.00	5.00	9.96	49.80	
	CHEVRO	ON DELO							
Sublet							Total Parts	3,536.43	
Oublet	0892060	74 / Kal Tire			.00	1.00	537.12	537.12	
							Total Sublet	537.12	
							Shon Supplies	226 02	
							Shop Supplies	236.82	0.1-
							Total	5,510.37	CAD
Work Order #: 5	8797	Invoice#:	Complete	ed Date: 2024-0	5-10 503				
			•		Odomet	ter: 263,554	Odometer	As Of: 2024-05	-06
					Hours:			As Of: 2024-05	-06
Labor									
labour		24 - REPAIRED COOLAN NT SENSOR. DRAIN + RE NT.		Zacharias Garratt	2.00	2.00	100.00	200.00	
_					2.00	2.00	Total Labor	200.00	
Parts									
		3K, CONNECTOR KIT, LO			.00	1.00	26.34	26.34	
		BOOMER, TIRE CHAIN - BOOMER, TIRE CHAIN -			.00	2.00 2.00	12.10 7.24	24.20 14.48	
	SUPER2		/ IVIIVI		.00	2.00	1.24	14.40	
		GLAD HAND - BLUE			.00	1.00	4.98	4.98	
		GLAD HAND - RED			.00	1.00	6.22	6.22	
		ROMMET-2"			.00	10.00	1.12	11.20	
	3050, LE	D, 2" MARKER - RED			.00	10.00	7.52	75.20	
		TITTING, ELBOW 5/32" PL	JSH X 1/8" NPT		.00	1.00	7.23	7.23	
	-TRANS								
		A, CELL PHONE CRADLI	E - UNIVERSAL		.00	1.00	50.00	50.00	
	NON-CH CN2640	IARGE 0, TERMINAL - FEMALE S	SPADE		.00	1.00	3.14	3.14	
	16-20GA	\ /8X28 C, SLING, LOAD -\	/ELLOW/ (1-1/8"		.00	1.00	339.00	339.00	
	X 28')		•						
		/8X30 C, D LOAD SLING TANK, COOLANT (SURG			.00	1.00 1.00	355.00 218.75	355.00 218.75	
	310000,	TANK, COOLANT (SOKE	ie) - 1000 S		.00	1.00	Total Parts	1,135.74	
							Total Falts	1,133.74	
							Shop Supplies	66.79	
							Total	1,402.53	CAD
Work Order #: 5	8023	Invoice#:	Complete	ed Date: 2024-0	5-15 503				
TOIR OIGHT.	,,,,,	mvoloc#.	Complete	Ja Daic. 2024-0	Odome	ter: 265,711	Odometer	As Of: 2024-05	-11
					Hours:	,		As Of: 2024-05	
Labor					i iouis.	21, 17 0 11	ours reading	7.5 O1. 202 4 -00	
labour	CHECK(ON REA	24 - ASSIST WYATT W/U DVER + GREASE. REPLA R DRIVESHAFT. INSTALI	CE U-JOINTS	ŕ	5.00	5.00	100.00	500.00	
labour		SE U-JOINTS. 124 - SERVICED. CHECKE	D FOR	Wyatt Fowler	4.50	4.50	100.00	450.00	
	CLUNK	IN STEERING. REPLACE	D A/C LINE	,			. 30.00	.55.50	

FROM COMPRESSOR TO CAB. REPLACED

TRAILER PLUG.

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
			9.50	9.50	– Total Labor	950.00	
Parts							
	LF3566, FILTER, OIL - CAT C-15		.00	1.00	35.67	35.67	
	SPL170-4X, U-JOINT, SPL170 - SPICER		.00	2.00	135.30	270.60	
	TZA12.0SV, THERMASHIELD MAT - 12"		.00	1.00	8.26	8.26	
	15-730, RECEPTACLE, 7 WIRE CORD W/SPRING		.00	1.00	12.36	12.36	
	SOS, SOS OIL ANALYSIS		.00	1.00	21.85	21.85	
	F50-1395-1000, HOSE ASSY, A/C SUCTION -SLEEPER		.00	1.00	348.28	348.28	
	CHV 257005-990, BULK OIL, URSA 15W40 SP EC		.00	43.00	4.79	205.97	
Sublet					Total Parts	902.99	
Jubiet	150-452594 / Northern Metalic Sales		.00	1.00	98.68	98.68	
					Total Sublet	98.68	
					Shop Supplies	92.65	
					Total	2,044.32	CAD

Work Order #: 58999 Invoice#: Completed Date: 2024-05-21 503

			Odomete	r: 266,412	Odometer As	Of: 2024-05-	-17
			Hours:	21,469 Ho	urs Reading As	Of: 2024-05-	-17
Labor				,,			
labour	05/17/2024 - CHECK FUEL LINES TO TANKS FROM DIVIDER BLOCK. CHECKED VENT LINES. CHANGED FUEL CAP O-RING.	Alex Heney	3.00	3.00	100.00	300.00	
labour	05/17/2024 - WELD LID HINGE. FAB HOLDERS FOR PINBAR & 5TH WHEEL PULLER.	Jesse Holt	6.00	6.00	100.00	600.00	
labour	05/18/2024 - INSTALL DROP VISOR + HELP W/AIRBAG LEAK.	Dain Halkyard	3.00	3.00	100.00	300.00	
labour	05/18/2024 - REPLACE P/S MID AXLE AIRBAG.	James Dougan	2.00	2.00	100.00	200.00	
D. A.			14.00	14.00	Total Labor	1,400.00	
Parts	CHV 257005-429, URSA SP EC 15W40 4L 3.785L JUG		.00	4.00	22.21	88.84	
	CHV 227811-492, COOLANT, 50/50 RED - CHEVRON DELO		.00	3.00	9.95	29.85	
	SUMMER BUG WASH, WINDSHIELD WASH - SUMMER BUG WASH 4L		.00	2.00	2.45	4.90	
	12105GTD, GASKET, FUEL CAP - KNWRTH		.00	1.00	31.45	31.45	
	41-66102, SAFETY PIN - 1/8" X 3-1/8"		.00	2.00	.60	1.20	
	171PMT-4-4, MALE RUN TEE		.00	1.00	34.85	34.85	
	13-23302, HINGE, 6" WELD ON		.00	1.00	8.20	8.20	
	9144, AIRBAG, DRIVE - KNWRTH		.00	1.00	203.10	203.10	
	68PMT-4-4, MALE CONNECTOR		.00	1.00	6.72	6.72	
	213P-4, 1/4" CAP		.00	1.00	1.27	1.27	
	2225P-4, STREET TEE		.00	1.00	3.88	3.88	
	VS68NTA-6-4, MALE CONNECTOR		.00	1.00	2.92	2.92	
	VS269NTA-6-4, MALE ELBOW		.00	1.00	3.86	3.86	
Sublet					Total Parts	421.04	
Jubiet	8844-1155081 / 652763 Alberta Ltd o/a Standard Auto Glass		.00	1.00	1,175.00	1,175.00	
	150-453003 / Northern Metalic Sales		.00	1.00	101.00	101.00	
	089207161 / Kal Tire		.00	1.00	65.12	65.12	
					Total Sublet	1,341.12	
				:	Shop Supplies	91.05	
					Total	3,253.21	CAD

Work Order #: 59021 Invoice#: Completed Date: 2024-05-21 503

Odometer: 267,630 Odometer As Of: 2024-05-19

Hours: 21,487 Hours Reading As Of: 2024-05-19

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
labour		24 - REPLACE D/S #3 DRIVE AXLE AL + #3 DIFF TEMO SENSOR PIGTAIL.	Alex Heney	2.50	2.50	100.00	250.00	
Parts				2.50	2.50	Total Labor	250.00	
raits		B, GASKET, AXLE I-L, STUDS, DRIVE FLANGE 1/4		.00 .00	1.00 2.00	5.85 4.10	5.85 8.20	
	BTHUN1	, PIGTAIL, DIFF TEMP SENSOR A, CELL PHONE CRADLE - UNIVERSAI	-	.00 .00	1.00 1.00	21.71 50.00	21.71 50.00	
	NON-CH RT4-411	ARGE 2, KEEPER, MIC HOLDER GEAR		.00	1.00	16.70	16.70	
						Total Parts	102.46	
						Shop Supplies	17.62	
						Total	370.08	CAD
Work Order #:	59053	Invoice#: Complet	ed Date: 2024-0					
Labor				Odome Hours:	,		As Of: 2024-05 As Of: 2024-05	
labour		24 - REPLACE STEADY BEARING. QUE D/S #3 AXLE.	Alex Heney	2.00	2.00	100.00	200.00	
Parts				2.00	2.00	Total Labor	200.00	
raits		, CENTRE BEARING ASSY 1, MIDSHIP NUT- SPL250 - COURSE		.00 .00	1.00 1.00	107.60 19.16	107.60 19.16	
		8X, STRAP KIT, SPL250 - SPICER		.00	2.00	21.70	43.40	
Sublet						Total Parts	170.16	
	PG34138	360 / Greatwest Kenworth Ltd.		.00	1.00	40.78	40.78	
						Total Sublet	40.78	
						Shop Supplies	18.51	
						Total	429.45	CAD
Work Order #:	59077	Invoice#: Complet	ed Date: 2024-0		200.004	Odemeter	. A - Of: 2024 OF	00
				Odome Hours:	,		r As Of: 2024-05 J As Of: 2024-05	
Labor labour		24 - FIXED HYDRAULIC HOSE NEATH WINCH.	Zayn Knezevich	1.00	1.00	100.00	100.00	
Donto				1.00	1.00	Total Labor	100.00	
Parts	20820-6-	, HYD HOSE -3/8" TOUGH COVER 6, FITTING, REUSEABLE - #6SAE(F) X		.00 .00	3.00 1.00	.43 15.32	1.29 15.32	
		6, FITTING, CRIMP - #6JIC(F) X		.00	1.00	10.92	10.92	
	#6HOSE CHV 273 32W (DR	3260-981, HYDRAULIC OIL -RANDO		.00	10.00	5.66	56.60	
						Total Parts	84.13	
						Shop Supplies	9.21	
						Total	193.34	CAD

Odometer: 269,507 Odometer As Of: 2024-05-25

Hours: 21,539 Hours Reading As Of: 2024-05-25

Labor

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
labour	REFRIDG	4 - DIAGNOSE A/C. RECC ERANT. REPLACE O-RIN	G ON	James Dougan	3.0	3.00	100.00	300.00	
labour	05/27/202	SOR. CHARGE A/C, TEST 4 - REPAIR 5TH WHEEL F		Jesse Holt	6.0	6.00	100.00	600.00	
labour		4 - CHECK AND FIND HO' TING INTO CAB, RUNNIN		Earl Buchanan	1.0	1.00	100.00	100.00	
Parts					10.0	0 10.00	Total Labor	1,000.00	
i aits		, BREAKER, RESETABLE 0-10-30, 3" X 30' STRAP (.0 .0		46.01 22.32	46.01 66.96	
		2-11, 2" X 30' RATCHET C	C/W FLAT		.0	0 4.00	22.99	91.96	
							Total Parts	204.93	
							Shop Supplies	60.25	
							Total	1,265.18	CAD
Work Order #: 59	9183	Invoice#:	Complete	ed Date: 2024	-04-15 503				
Tiolaino	79A9898R RMAN	MAN CORE, CORE, CLU	TCH FAN		.0	-1.00	550.00	-550.00	
							Total Returns	-550.00	
							Total	-550.00	CAD
Work Order #: 59	9409	Invoice#:	Complete	ed Date: 2024	-06-12 503				
Parts		BUG WASH, WINDSHIEL BUG WASH 4L	D WASH -		.0	5.00	2.45	12.25	
							Total Parts	12.25	
							Shop Supplies	.61	
							Total	12.86	CAD
Work Order #: 59	9465	Invoice#:	Complete	ed Date: 2024					
Lohov					Odom Hours:	,		As Of: 2024-06 As Of: 2024-06	
Labor labour	CHANGE!	4 - SERVICED UNIT. GRE D OIL FILTER. CHECKED I LEAKS FOR WEBASTO. S TO WEBASTO. SET CLL	FOR TURNED	Alex Heney	4.0	4.00	100.00	400.00	
Danta					4.0	4.00	Total Labor	400.00	
Parts	SOS, SOS	OIL ANALYSIS			.0	1.00	22.00	22.00	
	CAT 287-6	ILTER, OIL - CAT C-15 6637, CAT CAP, OIL FILL \	W/ CHAIN -		.0 .0		35.67 23.84	35.67 23.84	
		D, 2" MARKER - AMBER 05-990, BULK OIL, URSA	15W40 SP		.0 .0		7.62 4.79	15.24 215.55	
	20						Total Parts	312.30	
							Shop Supplies	35.62	
							Total	747.92	CAD

Work Order #: 59479 Completed Date: 2024-06-25 503 Invoice#:

Odometer: 281,960 Odometer As Of: 2024-06-17

21,750 Hours Reading As Of: 2024-06-17 Hours:

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours (Quantity/Hours	Price/Rate	Amount	Cur.
Labor labour	06/16/2024 BOLTS	4 - TORQUED LH ENGINE MC	DUNT	Zacharias Garratt	1.00	1.00	100.00	100.00	
					1.00	1.00	Total Labor	100.00	
							Shop Supplies	5.00	
							Total	105.00	CAD
Work Order #: 59	9509	Invoice#: C	omplete	ed Date: 2024-0		000 740	0.4	A - Of 0004 00	40
					Odomete Hours:	, -		As Of: 2024-06 As Of: 2024-06	
Labor labour		4 - REPLACE P/S LEAD AXLE LACE OIL FILL TUBE.	BRAKE	Neil Read	1.50	1.50	100.00	150.00	
Parts					1.50	1.50	Total Labor	150.00	
i ui to	BTHUN1A NON-CHA	, CELL PHONE CRADLE - UN	IVERSAL		.00	1.00	50.00	50.00	
		878, TUBE, OIL FILL ELBOW	- C15		.00	1.00	255.92	255.92	
	CAT 359-1 CAT 8J-43	309, CAP, OIL FILL -C15 SDF 51, O-RING, SENSOR ADAPT FMOSPHERIC/ENGINE OIL)			.00 .00	1.00 1.00	19.95 22.99	19.95 22.99	
	3030 SHO STROKE	RT, BRAKE POT - 30/30 SHO	RT		.00	1.00	74.80	74.80	
	2010-1010 PIN	, CLEVIS, W/ PIN - 5/8" ROD	X 5/8"		.00	1.00	4.10	4.10	
	14233, BO	LT CUTTER, 36" - RIDGID			.00	1.00	227.83	227.83	
Sublet							Total Parts	655.59	
	150-45745	1 / Northern Metalic Sales			.00	1.00	101.00 Total Sublet	101.00	
							Shop Supplies Total	946.87	CAD
W 101 " 5	2040			ID : 0004.0	0.00 500			0.0.0.	07.12
Work Order #: 59	9610	Invoice#: C	omplete	ed Date: 2024-0	6-23 503 Odomete Hours:			As Of: 2024-06 As Of: 2024-06	
Labor labour		3 AFTER-HOURS CALLOUT	REPAIR	Gary Skolos	2.00	2.00	100.00	200.00	
labour		WN COOLANT LINE. 3 ASSIST WITH SERVICE CA	LL	Zachary Brown	2.00	2.00	100.00	200.00	
Parts					4.00	4.00	Total Labor	400.00	
. 4.15		50, HOSE HEATER SILICONE 11-990, BULK CHEV RED 50/9			.00 .00	6.00 3.00	4.49 2.93	26.94 8.79	
	0	666, 262 61.21 1.22 66/	20 = 20		.00	0.00	Total Parts	35.73	
							Shop Supplies	21.79	
							Total	457.52	CAD
Work Order #: 59	9617	Invoice#: C	omplete	ed Date: 2024-0	6-24 503 Odomete	er: 286,193	Odometer	As Of: 2024-06	-24
Labor					Hours:	21,866 Ho	ours Reading	As Of: 2024-06	-24
labour	WIRING TO	SCAN CODES. LOCATE FRO PRIMARY ENGINE SPEED REPAIR WIRING	AYED	David White	1.00	1.00	100.00	100.00	
					1.00	1.00	Total Labor	100.00	
							Shop Supplies	5.00	

Actual

Date: From 2023-01-01 To 2025-09-09

INTAKE PIPING.

Category		Description		Mechanic	Hours	Quantity/Hours	Price/Rate	Amount	Cur.
							Total	105.00	CAD
Work Order #: 59	9681	Invoice#:	Complete	ed Date: 2024-0				1 01 0001 00	00
Laban					Odome Hours:	,		As Of: 2024-06 As Of: 2024-06	
Labor labour		24 - CHANGE 5TH WHEI LATE KIT.	EL BUSHINGS	Dain Halkyard	1.00	1.00	100.00	100.00	
Dorto					1.00	1.00	Total Labor	100.00	
Parts	XB-0011- WHEEL	2, BUSHING, MOUNT -	35 TON FIFTH		.00	2.00	33.65	67.30	
		, KIT, POCKET INSERTS	S - FIFTH		.00	1.00	56.90	56.90	
							Total Parts	124.20	
							Shop Supplies	11.21	
							Total	235.41	CAD
Work Order #: 59	9725	Invoice#:	Complete	ed Date: 2024-0					
					Odome Hours:			· As Of: 2024-06 As Of: 2024-06	
Labor labour		24 - TIGHTEN GEAR SH DER + SHIM TIGHT.	IFT. REPLACE	Dain Halkyard	2.00	2.00	100.00	200.00	
					2.00	2.00	Total Labor	200.00	
Parts	CHV 257	005-429, URSA SP EC 1	5W40 4L		.00	2.00	22.21	44.42	
	SUMMER	R BUG WASH, WINDSHI R BUG WASH 4L	ELD WASH -		.00	2.00	2.45	4.90	
							Total Parts	49.32	
							Shop Supplies	12.47	
							Total	261.79	CAD
Work Order #: 59	9815	Invoice#:	Complete	ed Date: 2024-0					
Laban					Odome Hours:	- ,		As Of: 2024-07 As Of: 2024-07	
Labor labour	TDELID	24 - GET DRIVER SIGNE	ED OUT. CALL	Neil Read	3.00	3.00	100.00	300.00	
labour		E TO TRY AND FIX. 24 - REPAIR RAMPS.		Jesse Holt	5.00	5.00	100.00	500.00	
labour	GREEN L ACTIVE (24 - PULL D/S ENGINE E LOCK TITE. CHECK ABS CODES OR INACTIVE C E TO FIX ELD AGAIN.	CODES, NO	Neil Read	7.00	7.00	100.00	700.00	
labour		24 - REPLACE OIL PAN	GASKET +	Neil Read	3.50	3.50	100.00	350.00	
labour	07/07/202 PAN. SEI	24 - REMOVED AND CLI RVICED. CHANGED D/S ACK ADJUSTER AND P/	FRONT DRIVE	Zayn Knezevich	8.00	8.00	100.00	800.00	
labour	07/08/202 END. RE	24 - DISASSEMBLE P/S MOVE S-CAM AND TUB RTS. REPLACE L + R FR	E, WAITING	Colm Mclaren	7.50	7.50	100.00	750.00	
labour	07/09/202 CHARGE WEBAST TROUBL COOLAN CHROME	24 - REPLACE A/C LINE E A/C. REPAIR COOLAN' O, HAD TO R&R WEBA' ESHOOT AND REPAIR IT LEAKS. REPLACE BU E TRIM. R&R DASH + RE TION PRESSURE GUAG	T LEAK AT STO. OTHER IG SCREEN + EPLACE	Colm Mclaren	10.00	10.00	100.00	1,000.00	

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	С
abour	07/09/2024 - R&R INTAKE AND AIR COMPRESSOR INTAKE. R&R TAPPET COVER. SET VALVES, INJECTORS + JACS. CHECK TOP TURBO.	Earl Buchanan	4.00	4.00	100.00	400.00	
bour	07/09/2024 - HELPED REPLACE GRILLE.	Jan Koenig	1.50	1.50	100.00	150.00	
bour	07/10/2024 - INSTALL BRAKE POT, SLACK ADJUSTER + NEW HUB SEAL. INSTALL S-CAM TUBE, S-CAM BUSHING, S-CAM SEALS + SHIM SLACK ADJUSTER. SET BRAKES. TORQUE HUB NUTS. FILL HUB OIL. REPAIR BRAKE POT AIR LINE. TORQUE WHEEL + CHECKOVER WORK.	Colton Wolsey	5.50	5.50	100.00	550.00	
abour	07/11/2024 - ONCE OVER CHECK OVER + TESTED REPAIRS.	Colton Wolsey	2.00	2.00	100.00	200.00	
.			57.00	57.00	Total Labor	5,700.00	
arts	K352-206, SCREEN-BUG S/S		.00	1.00	218.65	218.65	
	K167-348, GRILLE MOULDING		.00	4.00	263.55	1,054.20	
	06CP-10, CAP, JIC - #10 (5/8")		.00	1.00	3.70	3.70	
	03CP-10, CAP, 31C - #10 (3/8")		.00	1.00	3.50	3.50	
	CAT 168-5248, SEAL, OIL PAN		.00	1.00	552.30	552.30	
	LF3566, FILTER, OIL - CAT C-15		.00	1.00	35.67	35.67	
			.00	1.00	22.00	22.00	
	SOS, SOS OIL ANALYSIS CAT 240-1614, SLEEVE/WASHER, ENGINE OIL		.00	2.00	14.72	29.44	
	PAN 40010155, SLACK ADJUSTER -STEER/DRIVE KW (40910635)		.00	2.00	118.65	237.30	
	3030 LONG, BRAKE POT, LONGSTROKE - 30/30		.00	1.00	84.70	84.70	
	2010-1010, CLEVIS, W/ PIN - 5/8" ROD X 5/8" PIN		.00	1.00	4.10	4.10	
	RM-D02, 392-9131, REPLACEMENT ONE PIECE SEAL DRIVE		.00	1.00	41.95	41.95	
	26509-11, MOUNT, CAB		.00	2.00	108.96	217.92	
	K066-435-3, WASHER, REBOUND		.00	2.00	30.79	61.58	
	Q43-1112-115K, GUAGE KIT-SERVICE MECH.		.00	1.00	265.53	265.53	
	F50-1395-1000, HOSE ASSY, A/C SUCTION -SLEEPER		.00	1.00	347.29	347.29	
	79PSL3-4, SWITCH, HIGH PRESSURE -PETE (FAN OVER RIDE)		.00	2.00	78.21	156.42	
	75700AU0, WINTER FRONT TURN TAB		.00	9.00	25.10	225.90	
	HWC03010, SPEEDNUT, GRILL - KNWRTH		.00	23.00	2.06	47.38	
	807863, S-CAM, 16.5X7 ESH DRIVE - R/H		.00	1.00	74.10	74.10	
	B35501-00825, GAUGE, AIR FILTER RESTRICTION		.00	1.00	39.72	39.72	
	819519ETN, BRACKET, CAM R/H REAR		.00	1.00	444.59	444.59	
	CS3065, CAM SEALS		.00	1.00	1.12	1.12	
	CP1, CLEVIS PIN - 1/2"		.00	1.00	.97	.97	
	K028-2344, ANCHOR, MOULDING - GRILL		.00	12.00	20.08	240.96	
	CHV 257005-990, BULK OIL, URSA 15W40 SP EC		.00	45.00	4.79	215.55	
	SPR134A, CYLINDER, FREON 30LB R134A		.00	5.00	18.71	93.55	
	16X16 FLAG, FLAGS 16 X 16, NYLON		.00	4.00	7.13	28.52	
	SNA C15, TARP STRAP-15"		.00	4.00	1.10	4.40	
	MAG07587, MAGNET W/ CLIP		.00	4.00	9.99	39.96	
ıblet					Total Parts	4,792.97	
	PG3423560 / Greatwest Kenworth Ltd.		.00	1.00	249.01	249.01	
					Total Sublet	249.01	
					524.65		
					Total	11,266.63	_

Work Order #: 60072

Invoice#:

AIR INTAKE. DELETED, NO RELEVANCE.

Completed Date: 2024-07-22 503

Odometer: 293,078 Odometer As Of: 2024-07-16 Hours: 22,032 Hours Reading As Of: 2024-07-16 Labor 07/16/2024 - RETORQUE TIRES. 50.00 Kurt Sison .50 .50 100.00 labour 07/16/2024 - CEL. INACTIVE CODE FOR CLEAN George Akins 1.00 1.00 labour 100.00 100.00

106.35

Shop Supplies

September 26, 2025 10:34 AM D&D Energy Services Ltd O/A D&D Well Services **Work Order History Report**

Actual

Date: From 2023-01-01 To 2025-09-09

Category	De	scription	Mechanic	Hours (Quantity/Hours	Price/Rate	Amount	Cur.
				1.50	1.50	Total Labor	150.00	
Parts	LS D 1-1/8X28 C, SLII X 28')	NG, LOAD -YELLOW (1-1/8"		.00	1.00	378.27	378.27	
	,					Total Parts	378.27	
						Shop Supplies	26.41	
						Total	554.68	CAD
Work Order #: 60	177 Invoice#	: Complete	ed Date: 2024-0	7-30 503				
Lohor				Odomete Hours:	,		As Of: 2024-07 As Of: 2024-07	
Labor labour	07/22/2024 - GET ELD AND FIX HOSE.	SWAP DONE W/TRIMBLE	Neil Read	1.00	1.00	100.00	100.00	
Donto				1.00	1.00	Total Labor	100.00	
Parts		R, YELLOW FOLDER - 3/8"		.00	3.00	78.08	234.24	
	TO 1/2" ANC 41660-10-30, 3" HOOK	X 30' STRAP C/W FLAT		.00	2.00	22.32	44.64	
	TIOON.					Total Parts	278.88	
						Shop Supplies	18.94	
						Total	397.82	CAD
Work Order #: 60	291 Invoice#	: Complete	ed Date: 2024-0					
				Odomete Hours:			r As Of: 2024-07 J As Of: 2024-07	
Labor	07/20/2024 DEDAID		Cody Broyilette	8.00	8.00	100.00	800.00	
labour	WIRING ON SKIRT. R LEFT REAR FENDER	STUD OUT OF AXLE. ON SKIRT. REPLACED EPLACED BOLTS ON . REPLACED OIL RETURN	Cody Brouilette	6.00	6.00	100.00	800.00	
labour	LINE ON COMPRESS 07/29/2024 - REPAIR STRAIGHTEN FENDE HUB BOLT.		Jesse Holt	4.00	4.00	100.00	400.00	
labour	07/29/2024 - REWIRE	D SKIRT TAIL AND BACK D P/S FRONT DRIVE AXLE	Zayn Knezevich	6.00	6.00	100.00	600.00	
Donto				18.00	18.00	Total Labor	1,800.00	
Parts	MAG07587, MAGNET	W/ CLIP		.00	1.00	9.99	9.99	
	QUI 3/8-QL, QUICKLII JH0824, HOSE ASSY			.00 .00	3.00 3.00	1.17 12.02	3.51 36.06	
	DIA GKT1008, GASKET, A	AXLE		.00	1.00	6.05	6.05	
	1060, LIGHT LIGHT B	OX, SINGLE 4" - ONE SIDE		.00	3.00	27.40	82.20	
	4050, LED, STOP LAN 4060C, LIGHT BACK-			.00 .00	2.00 1.00	19.99 60.83	39.98 60.83	
	73040, ALARM, BACK	,		.00	1.00	20.95	20.95	
	91740, GROMMET, LI			.00	3.00	1.60	4.80	
		ET, POWER STEERING		.00 .00	1.00 8.00	5.34 4.10	5.34 32.80	
	201-4, HOSE, HYDRA	JULIC -1/4 REUSABLE - #4JIC(F) X		.00 .00	1.00 1.00	.57 10.09	.57 10.09	
	#4HOSE 23920-4-4, FITTING, F	REUSABLE - #4JIC(F) X		.00	1.00	13.86	13.86	
	#4HOSE 90°					Total Parts	327.03	

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic 	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
							Total	2,233.38	CAD
Work Order #: 6	0316	Invoice#:	Complete	ed Date: 2024-0	7-30 503 Odomet Hours:			· As Of: 2024-07 As Of: 2024-07	
Labor							9		
labour	SWEET	7/30 FIELD SERVICE CA WATER ROAD FOR BR ONER BOLT		Terry D'Albertson	5.00	5.00	100.00	500.00	
labour		7/30 ASSIST ON FIELD	SERVICE CALL	Zachary Brown	5.00	5.00	100.00	500.00	
5					10.00	10.00	Total Labor	1,000.00	
Parts	CAT 28: -FAN	5-0277, PULLEY, 12 GR	OOVE IDLER		.00	1.00	105.45	105.45	
		00-6122490, 12 RIB X 24	90 BELT -FAN		.00	1.00	135.50	135.50	
							Total Parts	240.95	
							Shop Supplies	62.05	
							Total	1,303.00	CAD
Work Order #: 6	0448	Invoice#:	Complete	ed Date: 2024-0		200.070	0.4	- A - Ot 0004 00	. 07
					Odomet Hours:	,		· As Of: 2024-08 As Of: 2024-08	-
Labor					riours.	22,217	ours reading	7.73 OI. 202 4 -00)-O1
labour	08/07/20	024 - FIX PINS FOR BEI) .	Morgan Stewart	8.00	8.00	100.00	800.00	
labour	OFF TR SHROU WORK	024 - BOOST UNIT TO S AILER. PULL IN UNIT. F ID. REMOVE AIR TANK. WWELDER TO GET HO CONT RH SLACK ADJUS	REMOVE FAN & R&R WIPERS. OOD MENDED.	Zacharias Garratt	12.00	12.00	100.00	1,200.00	
labour	08/09/20	024 - CUT OFF AIR TAN		Jesse Holt	2.00	2.00	100.00	200.00	
labour	08/09/20 CONNE FILLED HOOD I CONDE	, PREP + WELD IN NEW D24 - INSTALLED FAN + ICTED AIR AND COOLA COOLING SYSTEM. IN: RECEPTACLE. REPLAC INSER. RECHARGE A/O NK + ADJUSTED BRAKE	SHROUD. NT HOSES. STALLED NEW ED O-RING ON C. REPLACED LH	Zacharias Garratt	11.00	11.00	100.00	1,100.00	
labour	08/08/20 EPOXY	024 - FAB NEW HOOD N IN.	MOUNTS + HELP	Bryant Hurd	3.00	3.00	100.00	300.00	
					36.00	36.00	Total Labor	3,600.00	
Parts	1.67-100	00, RECEPTACLE-HOOI			.00	1.00	142.10	142.10	
		R BUG WASH, WINDSI			.00	2.00	2.45	4.90	
		ER BUG WASH 4L 7005-429, URSA SP EC IUG	15W40 4L		.00	1.00	22.21	22.21	
		5" WIPER BLADES - AN	ICO		.00	2.00	15.05	30.10	
		252-001, FAN, ENGINE	·11 BLADE, 32"		.00	1.00	307.43	307.43	
	400101	IAMBER B T20 55, SLACK ADJUSTER - 910635)	STEER/DRIVE		.00 .00	1.00 1.00	40.93 118.65	40.93 118.65	
	CAT 28	5-0274, PULLEY, IDLER			.00	1.00	115.06	115.06	
		6-8955 (DO NOT USE), [:] TH PULLY BIG BELT	TENSIONER-		.00	1.00	350.81	350.81	
		1/2" SQUARE HEAD PL	.UG		.00	2.00	4.82	9.64	
	12105G	TD, GASKET, FUEL CA	P - KNWRTH		.00	1.00	31.45	31.45	
), TIRE LIFE -200Z BAG			.00	2.00	9.29	18.58	
		385/65R22.5 TIRE-MICH IA, CYLINDER, FREON			.00 .00	2.00 3.50	984.40 18.71	1,968.80 65.49	
Cublet	2	,			.00	0.00	Total Parts	3,226.15	
Sublet	089213	013 / Kal Tire			.00	1.00	130.24	130.24	
		061 / Kal Tire			.00	1.00	112.82	112.82	
							Total Sublet	243.06	

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category	_	Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
							Shop Supplies	341.31	
							Total	7,410.52	CAD
Work Order #: 6	0553	Invoice#:	Complete	ed Date: 2024-0					
Lahan					Odome Hours:	,		r As Of: 2024-08 g As Of: 2024-08	
Labor labour		13 DIAGNOSE AIR LEA ROM EXTRA PORT ON POT		Zachary Brown	1.00	1.00	100.00	100.00	
					1.00	1.00	Total Labor	100.00	
							Shop Supplies	5.00	
							Total	105.00	CAD
Work Order #: 6	0629	Invoice#:	Complete	ed Date: 2024-0				. 0/ 0004 00	4.0
Labar					Odome Hours:	,		r As Of: 2024-08 g As Of: 2024-08	
Labor labour	08/16/20 BAND B	24 - REPLACE ELD TAE RAKE.	BLET. CHECK	Neil Read	1.00	1.00	100.00	100.00	
					1.00	1.00	Total Labor	100.00	
							Shop Supplies	5.00	
							Total	105.00	CAD
Work Order #: 6	0688	Invoice#:	Complete	ed Date: 2024-0	08-22 503				
Laban					Odome Hours:	,		r As Of: 2024-08 g As Of: 2024-08	
Labor labour	REAR D SLIDE H MID DRI	24 - SERVICE UNIT. RE USTSHIELD. REPLACE OSE. REPLACED TORO OF AXLE. REPLACED R	D 5TH WHEEL QUE ARM ON RIGHT REAR	Cody Brouilette	11.00	11.00	100.00	1,100.00	
labour		T. REPLACED PTO AIR S 24 - HELPED CODY W/		Wyatt Fowler	.50	.50	100.00	50.00	
Parts					11.50	11.50	Total Labor	1,150.00	
raits		DUST SHIELD, DRIVE (1-10, HOSE KIT, AIR SLI			.00 .00	1.00 1.00	74.54 45.55	74.54 45.55	
	68PMT-4 169PMT	1-2, FITTING -4-4, PRES SWIVEL AIR	BRAKE		.00 .00	1.00	4.59 8.89	4.59 8.89	
		OS OIL ANALYSIS FILTER, OIL - CAT C-15	5		.00		24.86 36.46	24.86 36.46	
	FF5319,	FILTER, FUEL PRIMAR	Y - CAT C15		.00	1.00	15.71	15.71	
		FILTER, FUEL SECONDA TORQUE ROD - 24" (TO			.00		8.09 201.60	8.09 201.60	
	SIDE OF CHV 257	FRAME) 7005-990, BULK OIL, UR			.00		4.79	215.55	
		8, GASKET, AXLE 8030-953, 75W90 SYN G	EAR OIL BULK		.00 .00		6.05 9.47	6.05 94.70	
		,					Total Parts	736.59	
							Shop Supplies	94.33	
							Total	1,980.92	CAD

Work Order #: 60744 Invoice#: Completed Date: 2024-08-22 503

Odometer: 305,588 Odometer As Of: 2024-08-22 Hours: 22,320 Hours Reading As Of: 2024-08-22

Date: From 2023-01-01 To 2025-09-09

Category	Description	Mechanic	Actual Hours (Quantity/Hours	Price/Rate	Amount	Cur.
labour	2024/08/22 FIELD CALL OUT. RE/RE PTO AIR SWITCH	Gary Skolos	4.00	4.00	100.00	400.00	
			4.00	4.00	Total Labor	400.00	
Sublet	830-356410 / Northern Metalic Sales FSJ (2019) Ltd.		.00	1.00	235.94	235.94	
					Total Sublet	235.94	
					Shop Supplies	20.00	
					Total	655.94	CAD
Work Order #: 60	0747 Invoice#: Complet	ed Date: 2024-08-	-23 503 Odomete	er: 305,243	Odometer	As Of: 2024-08-	-23
Parts			Odomete	51. 303,243	Odometer	AS OI. 2024-00	-23
	CHV 257005-429, URSA SP EC 15W40 4L 3.785L JUG		.00	4.00	22.21	88.84	
	SUMMER BUG WASH, WINDSHIELD WASH - SUMMER BUG WASH 4L		.00	4.00	2.49	9.96	
	CHV 227811-492, COOLANT, 50/50 RED - CHEVRON DELO		.00	4.00	9.15	36.60	
	CHV 221854-483, HAVOLINE ATF MD - 1 L BOTTLE		.00	1.00	6.09	6.09	
	SNA C21, TARP STRAP - 21" BP660-R, REINFORCED 'D' SIGN		.00 .00	4.00 1.00	1.56 47.46	6.24 47.46	
					Total Parts	195.19	
Sublet	150-464566 / Northern Metalic Sales 1013D-TownDieselC/C / Atb Master Card		.00 .00	1.00 1.00	3,203.75 624.76	3,203.75 624.76	
					Total Sublet	3,828.51	
					Shop Supplies	9.76	
					Total	4,033.46	CAD
Work Order #: 60	0758 Invoice#: Complet	ed Date: 2024-08	-30 503				
	aree inveneem.		Hours:	22,334 H	ours Reading	As Of: 2024-08	-23
Labor labour	08/23/2024 - REMOVE OLD TURBO SUPPLY HOSE + INSTALL TEMP NEW HOSE.	George Akins	2.00	2.00	100.00	200.00	
Parts			2.00	2.00	Total Labor	200.00	
raits	20620-6-6, FITTING, REUSABLE - #6JIC(F) X #6HOSE		.00	1.00	14.98	14.98	
	23920-6-6, FITTING, REUSABLE - #6JIC(F) X #6HOSE 90°		.00	1.00	52.13	52.13	
					Total Parts	67.11	
					Shop Supplies	13.36	
					Total	280.47	CAD
Work Order #: 60 Parts	0799 Invoice#: Complet	ed Date: 2024-09-	-10 503				
	R11245DY2, 11R24.5 KAL BDY-2 DRIVE (CAP)		.00	12.00	412.95	4,955.40	
Sublet					Total Parts	4,955.40	
Judiet	089960985 / Kal Tire		.00	1.00	609.90	609.90	
					Total Sublet	609.90	
					Shop Supplies	247.77	
					Total	5,813.07	CAD

Date: From 2023-01-01 To 2025-09-09

Category	D	escription	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
Work Order #:	60864 Invoice	#: Complete	ed Date: 2024-0	09-23 503				
				Odomet Hours:	,		As Of: 2024-08- As Of: 2024-08-	
Labor								
labour	08/31/2024 - CHANGED OIL LINE ON TURBO TO PROPER HOSE. CHANGED PS FRONT DRIVE AXLE GASKET. INSPECTED OIL PAN. 08/31/2024 - REPLACE PTO SWITCH (GOOD USED) AND HIGH SPEED SWITCH. FIX WIRING HANGING DOWN. TRY TO PIN POINT OIL LEA ON D/S.		Zayn Knezevich	3.00	3.00	100.00	300.00	
labour			Neil Read	5.00	5.00	100.00	500.00	
labour	09/01/2024 - RECHE	01/2024 - RECHECK FOR OIL LEAKS. RAN R 2.5 HRS, COULD NOT FIND LEAK.		1.00	1.00	100.00	100.00	
Parts				9.00	9.00	Total Labor	900.00	
. u. to	68PMT-4-2, FITTING	à		.00	1.00	4.59	4.59	
	169PMT-4-2, 90 SW			.00	1.00	8.31	8.31	
	GKT1008, GASKET,			.00	1.00	6.05	6.05	
		H, TOGGLE - INTRUDER		.00	1.00	25.35	25.35	
Culatat						Total Parts	44.30	
Sublet	PG3436636 / Greatw	vest Kenworth Ltd.		.00	1.00	233.23	233.23	
						Total Sublet	233.23	
						Shop Supplies	47.22	
						Total	1,224.75	CAD
Labor abour		GED CAB LEVELING VALVE DE CAB BAG. REPLACED	Wyatt Fowler	3.00	3.00	100.00	300.00	
labour		FF HYD PUMP. (ENGINE CODES AND / FOR LEVELING VALVE.	Mikayla Gordon	1.00	1.00	100.00	100.00	
Parts				4.00	4.00	Total Labor	400.00	
. 4.10	1104K002. AIR BAG	, CAB (REAR BY SHOCK)		.00	1.00	101.29	101.29	
		HEIGHT CONTROL- KW CAB		.00	1.00	237.03	237.03	
	06CP-16, CAP, JIC -	· #16 (1")		.00	1.00	6.60	6.60	
	TZA12.0SV, THERM			.00	1.00	8.36	8.36	
	722TC-16, HYD HO			.00	12.00	19.02	228.24	
	#16HOSE 45°	IG, CRIMP - #16JIC(F) X IG, CRIMP - #16JIC(F) X		.00	2.00	50.11	100.22 53.60	
	#16HOSE	IG, CRIMP - #16JIC(F) X		.00	2.00	26.80		
						Total Parts	735.34	
						Shop Supplies	56.77	C.1-
						Total	1,192.11	CAD
Work Order #:	60966 Invoice	#: Complete	ed Date: 2024-0	09-17 503 Odomet Hours:	,		As Of: 2024-09- As Of: 2024-09-	
Labor labour	09/07/2024 - CHECk	KED ENGINE MOUNTS AND	Alex Heney	1.50	1.50	100.00	150.00	٥.
	CHECKED HYD LE\		,					
				1.50	1.50	Total Labor	150.00	
						Shop Supplies	7.50	

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur
							Total	157.50	CAE
Work Order #: 61	075	Invoice#:	Complete	ed Date: 2024-0	9-17 503 Odome Hours:	,		As Of: 2024-09 As Of: 2024-09	
Labor labour		4 - DRAIN AIR TANKS AND)	Morgan Stewart	3.50	3.50	100.00	350.00	
labour	09/12/2024 ARM, CON INSPECTE INSPECTE	IE TURBO LEAK. 4 - CHANGED POWER STE NNECTED WINCH REMOTE ED D/S ENGINE MOUNT BG ED AIR TO AIR AND TURBG ALL AIR TANKS. INSPECT	E. OLTS. O.	Zayn Knezevich	4.00	4.00	100.00	400.00	
Davis					7.50	7.50	Total Labor	750.00	
Parts		I, REMOTE, REPLACEMEN	ΙΤ		.00	1.00	982.12	982.12	
		150 (CAMEX) 0A11, DRAGLINK ASSYM			.00	1.00	296.90	296.90	
							Total Parts	1,279.02	
							Shop Supplies	101.45	
							Total	2,130.47	CAE
Labor					Odome Hours:	,		As Of: 2024-09 As Of: 2024-09	
lahour	09/15/2024	4 - INSPECTED D/S ENGIN	IE MOLINT	Zavn Knezevich			_		
abour	09/15/2024	4 - INSPECTED D/S ENGIN	IE MOUNT.	Zayn Knezevich	.50	.50	100.00 Total Labor	50.00	.0
				Zayn Knezevich	.50	.50	100.00 Total Labor	50.00	. •
	LS D 1-1/8 26') 494375, TI	4 - INSPECTED D/S ENGIN 3X26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 - CAM - DRIVE	IE (1-1/8" X	Zayn Knezevich	.50	.50	100.00	50.00	
labour Parts	LS D 1-1/8 26') 494375, TI	3X26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 -	IE (1-1/8" X	Zayn Knezevich	.50 .50	.50 .50	100.00 Total Labor 283.29	50.00 50.00 283.29	
	LS D 1-1/8 26') 494375, TI	3X26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 -	IE (1-1/8" X	Zayn Knezevich	.50 .50	.50 .50	100.00 Total Labor 283.29 229.55	50.00 50.00 283.29 459.10	
	LS D 1-1/8 26') 494375, TI	3X26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 -	IE (1-1/8" X	Zayn Knezevich	.50 .50	.50 .50	100.00 Total Labor 283.29 229.55 Total Parts	50.00 50.00 283.29 459.10 742.39	
Parts Work Order #: 61	LS D 1-1/8 26') 494375, TI 7MM W/O	3X26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 -	IE (1-1/8" X S-2000	Zayn Knezevich ed Date: 2024-0	.50 .50 .00	.50 .50	100.00 Total Labor 283.29 229.55 Total Parts Shop Supplies	50.00 50.00 283.29 459.10 742.39 39.62	
Parts Work Order #: 61 L abor	LS D 1-1/8 26') 494375, TI 7MM W/O	3X26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 - CAM - DRIVE	E (1-1/8" X S-2000 Complete	ed Date: 2024-0	.50 .50 .00	.50 .50	100.00 Total Labor 283.29 229.55 Total Parts Shop Supplies	50.00 50.00 283.29 459.10 742.39 39.62	
Parts Work Order #: 61 _abor abour	LS D 1-1/8 26') 494375, TI 7MM W/O	BX26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 - CAM - DRIVE Invoice#: 4 - REPLACED GEO ANTEI	E (1-1/8" X S-2000 Complete	ed Date: 2024-0	.50 .50 .00 .00		100.00 Total Labor 283.29 229.55 Total Parts Shop Supplies Total	50.00 50.00 283.29 459.10 742.39 39.62 832.01	CAE
Parts Work Order #: 61 L abor abour	LS D 1-1/8 26') 494375, TI 7MM W/O 185 09/18/2024 LEAKING	BX26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 - CAM - DRIVE Invoice#: 4 - REPLACED GEO ANTEI	E (1-1/8" X S-2000 Complete	ed Date: 2024-0	.50 .50 .00 .00		100.00 Total Labor 283.29 229.55 Total Parts Shop Supplies Total	50.00 50.00 283.29 459.10 742.39 39.62 832.01	CAD
Parts Work Order #: 61 _abor abour	LS D 1-1/8 26') 494375, TI 7MM W/O 185 09/18/2024 LEAKING 68RBSG-6 GUARD 12-008, GI	BX26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 - CAM - DRIVE Invoice#: 4 - REPLACED GEO ANTEI RED AIR LINE. 6-8, MALE CONNECTOR/SI	E (1-1/8" X S-2000 Complete	ed Date: 2024-0	.50 .50 .00 .00 .00 .00 .00	1.00 1.00 2.00	100.00 Total Labor 283.29 229.55 Total Parts Shop Supplies Total 100.00 Total Labor 11.63 3.20	50.00 50.00 283.29 459.10 742.39 39.62 832.01 100.00 100.00 81.41 3.20	CAE
Parts Work Order #: 61 L abor abour	LS D 1-1/8 26') 494375, TI 7MM W/O 185 09/18/2024 LEAKING 68RBSG-6 GUARD 12-008, GI	BX26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 - CAM - DRIVE Invoice#: 4 - REPLACED GEO ANTEI RED AIR LINE. 6-8, MALE CONNECTOR/SI	E (1-1/8" X S-2000 Complete	ed Date: 2024-0	.50 .50 .00 .00 .00 .00 .00		100.00 Total Labor 283.29 229.55 Total Parts Shop Supplies Total 100.00 Total Labor 11.63	50.00 50.00 283.29 459.10 742.39 39.62 832.01 100.00 81.41	CAD
	LS D 1-1/8 26') 494375, TI 7MM W/O 185 09/18/2024 LEAKING 68RBSG-6 GUARD 12-008, GI	BX26 C, SLING, LOAD -BLU IRE CHAINS, 11.00R24.5 - CAM - DRIVE Invoice#: 4 - REPLACED GEO ANTEI RED AIR LINE. 6-8, MALE CONNECTOR/SI	E (1-1/8" X S-2000 Complete	ed Date: 2024-0	.50 .50 .00 .00 .00 .00 .00	1.00 1.00 2.00	100.00 Total Labor 283.29 229.55 Total Parts Shop Supplies Total 100.00 Total Labor 11.63 3.20 3.30	50.00 50.00 283.29 459.10 742.39 39.62 832.01 100.00 100.00 81.41 3.20 3.30	CAD

Work Order #: 61245 Invoice#: Completed Date: 2024-09-23 503

Odometer: 319,290 Odometer As Of: 2024-09-21

Hours: 22,620 Hours Reading As Of: 2024-09-21

Labor

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
labour	TIGHTENI MOUNT. F INSTALLE	4 - SERVICE + GREASE L ED TOP LEFT BOLT ON I FIXED AIR TANK DRAIN P ID GREASE NIPPLE FOR REAR DUST COVER.)/S ENGINE PULL CORD.	Alex Heney	2.00	2.00	100.00	200.00	
D. 4					2.00	2.00	Total Labor	200.00	
Parts	LF3566, F 232830, T 805143, D	GOIL ANALYSIS ILTER, OIL - CAT C-15 GREASE NIPPLE UJOIN' UST SHIELD, DRIVE (973 05-990, BULK OIL, URSA	953)		.00 .00 .00 .00	1.00 1.00 1.00 1.00 45.00	24.86 36.46 5.20 74.54 4.85	24.86 36.46 5.20 74.54 218.25	
	CHV 2732 32W (DRU	60-981, HYDRAULIC OIL JM)	-RANDO		.00	20.00	5.50	110.00	
							Total Parts	469.31	
							Shop Supplies	33.47	
							Total	702.78	CAD
Work Order #:	61355	Invoice#:	Complete	ed Date: 2024-0	Odomet	•		As Of: 2024-09	
Labor					Hours:	22,706 H	ours Reading	As Of: 2024-09	-20
labour	09/28/2024 TRANSMI	4 - REMOVED PTO. INSP SSION	ECTED	Zayn Knezevich	2.00	2.00	100.00	200.00	
labour	09/29/2024 REMOVEI REAR STE ENGINE. (4 - REMOVED TRANSMIS D REAR STRUCTURE. IN: RUCTURE FROM GOOD I CHANGED REAR MAIN S	STALLED USED EAL.	Zayn Knezevich	13.50	13.50	100.00	1,350.00	
labour	09/30/202 CLUTCH,	D REAR MOTOR MOUNTS 4 - INSTALLED FLY WHEI NEW CLUTCH BRAKE, N SSION, NEW PTO + NEW	EL, NEW EW	Zayn Knezevich	14.50	14.50	100.00	1,450.00	
labour labour		4 - HELP W/TRANSMISSI 4 - ASSIST ZAYN INSTAL IN LINIT		Alex Heney Colton Wolsey	4.00 1.50	4.00 1.50	100.00 100.00	400.00 150.00	
labour	09/29/2024 HOUSING	4 - CALLED IN TO MAKE AND RIGHT PARTS WEF		Earl Buchanan	3.00	3.00	100.00	300.00	
labour	09/28/202	LE FOR JOB. 4 - FIGURE OUT TRANNY	'ISSUES.	Neil Read	1.00	1.00	100.00	100.00	
labour	09/29/202	SASSEMBLY. 4 - TAKE OUT TRANNY. (DUT TO GET REAR STRU		Neil Read	12.00	12.00	100.00	1,200.00	
Dorto					51.50	51.50	Total Labor	5,150.00	
Parts	CAT 285-3 HOUSING	3200, GASKET KIT, FLYW	HEEL		.00	1.00	378.63	378.63	
	KT59-6200	04, MOUNT KIT, REAR EN			.00	1.00	532.06	532.06	
	RTLO189	, BEARING, PILOT - TRAN 18B, TRANS, FULLER 18			.00 .00	1.00 1.00	15.37 1,726.87	15.37 1,726.87	
	PUMP 308925-25 EATON	5, CLUTCH, EP 15.5 - 2050	FTLBS -		.00	1.00	1,135.00	1,135.00	
	SB200, CL	LUTCH BRAKE - BABCOC PEED SENSOR KIT, TRAI			.00 .00	1.00 1.00	52.00 60.55	52.00 60.55	
	4304602,	BREATHER-EATON TRAI			.00	1.00	8.14	8.14	
		498, CROSS SHAFT, CLU SHAFT, CLUTCH RELEA			.00 .00	1.00 1.00	11.72 77.35	11.72 77.35	
		ISHING, CLUTCH CROSS	SHAFT -		.00	4.00	5.08	20.32	
		5248, SEAL, OIL PAN ELBOW, MALE 90 LONG	FOR		.00 .00	1.00 1.00	559.30 26.36	559.30 26.36	
	TRANNY 4308701,	ELBOW, MALE 90 LONG			.00	1.00	24.11	24.11	
	TRANS								

.00

2.00

8.99

17.98

EC50PLA, STEP CLAMP 5" ALUMINIZED

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cı
	CUM 2866337, GASKET, EXHAUST - 5"		.00	1.00		18.61	_
	90-0013. CLAMP. EXHAUST - 5" V-BAND		.00	1.00	17.14	17.14	
	250-70-18X, STRAP KIT, SPL250 - SPICER		.00	1.00	22.80	22.80	
	OP-1229W, ANTENNA COIL LONG WHIP		.00	1.00	60.00	60.00	
	KMC-62, MICROPHONE WITH KEYPAD		.00	1.00	103.75	103.75	
	282XGAJX-A3RK, PTO - CHELSEA		.00	1.00	2,560.14	2,560.14	
	FWGHD, FLYWHEEL, RESURFACED		.00	1.00	100.00	100.00	
	CAT 142-5868, SEAL, REAR MAIN		.00	1.00	176.77	176.77	
	K124-402-2, ROD END, CLUTCH LINKAGE - R/H		.00	1.00	106.52	106.52	
	THREAD K124-402-1, ROD END, CLUTCH LINKAGE - L/H THREAD		.00	1.00	108.48	108.48	
	CHV 223079-953, DELO SYN TRANS FLUID BULK - 75W90		.00	15.00	11.18	167.70	
	CHV 227811-492, COOLANT, 50/50 RED - CHEVRON DELO		.00	1.00	9.15	9.15	
	SUMMER BUG WASH, WINDSHIELD WASH - SUMMER BUG WASH 4L		.00	1.00	2.49	2.49	
	WINTER BUG WASH, -40 WINDSHIELD WASHER FLUID		.00	2.00	3.69	7.38	
	CHV 257005-429, URSA SP EC 15W40 4L 3.785L JUG		.00	3.00	22.21	66.63	
	SNA C15, TARP STRAP-15"		.00	4.00	1.09	4.36	
	16X16 FLAG, FLAGS 16 X 16, NYLON		.00	2.00	7.71	15.42	
	8A032, GASKET, CHELSEA 230 PTO032" THIN (NEW STYLE)		.00	1.00	31.54	31.54	
	35P15-1, GASKET, PTO 8 BOLT010" THIN		.00	1.00	3.35	3.35	
	35P15-2, GASKET, PTO 8 BOLT020" THICK		.00	1.00	5.80	5.80	
	SF5120, PIPE, STAINLESS STEEL FLEX -5"X120"		.00	48.00	3.63	174.24	
	CHV 257005-990, BULK OIL, URSA 15W40 SP EC		.00	45.00	4.85	218.25	
					Total Parts	8,626.28	
					Shop Supplies	688.81	
					Total	14,465.09	c

Work Order #: 6	1481 Invoice#:	Completed Date		-07 503 Odometer Hours:	,		Of: 2024-10-05 Of: 2024-10-05
Labor			•	iouio.	22,701 110	aro riodaling 710	01. 2021 10 00
labour	10/05/2024 - WASH UNDERSID CHECK TRANS BOLTS, REPLA		arias Garratt	9.00	9.00	100.00	900.00
labour	10/06/2024 - FLUSHED COOLIN FILLED RAD + A/C. DRAINED T REMOVED CHELSEA. SHIMME INSTALLED + FILLED TRANS.	IG SYSTEM. Zacha RANS.	arias Garratt	10.00	10.00	100.00	1,000.00
				19.00	19.00	Total Labor	1,900.00
Parts							
	N3985001, RADIATOR, ASSEM	T800		.00	1.00	795.00	795.00
	38-0373, CLAMP, T-BOLT -4.12	" TO 4.44"		.00	2.00	13.46	26.92
	SS37P, TAPE, REFLECTIVE -C DESIGN	RCULAR		.00	3.00	.86	2.58
	35-P-118, GASKET, INSPECTIC CHELSEA	N COVER -		.00	1.00	8.59	8.59
	35P15-2, GASKET, PTO 8 BOLT	020" THICK		.00	4.00	4.40	17.60
	CC2610-X, RESTORE COOLING CLEANER (4L)			.00	1.00	24.16	24.16
	CHV 227811-492, COOLANT, 50 CHEVRON DELO)/50 RED -		.00	8.00	9.15	73.20
	CHV 223079-953, DELO SYN TF BULK - 75W90	RANS FLUID		.00	16.00	11.18	178.88
	SPR134A, CYLINDER, FREON	30LB R134A		.00	3.50	20.32	71.12
	52-15, 15" WIPER BLADES - AN			.00	4.00	6.76	27.04
	CHV 227811-492, COOLANT, 50 CHEVRON DELO			.00	4.00	9.15	36.60
	WINTER BUG WASH, -40 WIND WASHER FLUID	SHIELD		.00	1.00	3.69	3.69

Total Parts

1,265.38

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category	Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
						Shop Supplies	158.27	
						Total	3,323.65	CAD
Work Order #: 6	1726 Invoice#:	Complete	nd Date: 2024-1	0-31 503				
Work Order #. 0	1720 IIIVOICE#.	Complete	ed Date: 2024-1	Odome Hours:	,		As Of: 2024-10 As Of: 2024-10	
Labor					,000		, , , , , , , , , , , , , , , , , , , ,	
labour	10/19/2024 - SERVICE UNIT IN FILTERS.	CLUDING AIR	Carson Damery	2.00	2.00	100.00	200.00	
labour	10/19/2024 - SERVICED UNIT.		Cody Brouilette	4.00	4.00	100.00	400.00	
labour	10/20/2024 - WORK ON REPAI LIGHT, CHANGE OUT SHIFT E WINDSHIELDS + WIPERS.		Carson Damery	7.50	7.50	100.00	750.00	
labour	10/20/2024 - HELPED PUT WIN	IDSHIELD IN.	Wyatt Fowler	1.00	1.00	100.00	100.00	
labour	10/21/2024 - HELPED PUT DIF		Alex Heney	4.50	4.50	100.00	450.00	
labour	10/21/2024 - DIFF RESEAL AN DROP VISOR.	D REINSTALL	Carson Damery	13.00	13.00	100.00	1,300.00	
labour	10/21/2024 - WELDED NUTS T MIDDLE AXLE.	O STUDS ON	Micaiah Gordon	.50	.50	100.00	50.00	
labour	10/21/2024 - PUT STUDS IN AI PARTS FOR UNIT.	ND CLEANED	Treyson Hamelin	4.00	4.00	100.00	400.00	
				36.50	36.50	Total Labor	3,650.00	
Parts								
	K042-80, BOOT, GEAR SHIFT			.00	1.00	53.52	53.52	
	K042-79, BOOT, GEAR SHIFT			.00	1.00	134.21	134.21	
	52-15, 15" WIPER BLADES - A	NCO		.00	2.00	6.76	13.52	
	SOS, SOS OIL ANALYSIS	_		.00	1.00	24.86	24.86	
	LF3566, FILTER, OIL - CAT C-1			.00	1.00	36.46	36.46	
	N5348001, CAP, PRESSURE -	15PSI PLASTIC		.00	1.00	28.75	28.75	
	AF4195, FILTER, AIR			.00	2.00	92.05	184.10	
	170-70-18X, STRAP KIT, SPL1	70 - SPICER		.00	1.00	24.90	24.90	
	GKT1008, GASKET, AXLE			.00	2.00	6.05	12.10	
	181704XN1161, COVERALLS-I BLACK	HIGH BACK,		.00	1.00	69.99	69.99	
	HWC09341, SCREW-WING NU COVER	JT BATTERY BOX		.00	1.00	22.38	22.38	
	HWC05782, WASHER, BATTE PACCAR	RY BOX -		.00	4.00	13.65	54.60	
	R005872-L, STUDS, DRIVE FL. LONGER	ANGE 1/4		.00	8.00	4.15	33.20	
	1229W1661, WASHER, AXLE [OWEL - PACCAR		.00	8.00	1.70	13.60	
	1246V1166, DOWEL, AXLE - W	//O RELIEF		.00	8.00	1.52	12.16	
	W20-1013, WING NUT, BATTE	RY BOX - LARGE		.00	1.00	5.71	5.71	
	GEN 53, BULB			.00	1.00	.53	.53	
	512896, DIFF KIT, CARRIER TO	O HOUSING		.00	1.00	147.59	147.59	
	38-1226, CLAMP, CONST. TOF 3 1/8"	RQUE - 2 1/4" TO		.00	3.00	13.48	40.44	
	DW1164, WINDSHIELD, CURV	ED - D/S		.00	1.00	48.35	48.35	
	DW1163, WINDSHIELD, CURV KNWRTH			.00	1.00	48.63	48.63	
	CHV 223030-953, 75W90 SYN	GEAR OIL BULK		.00	30.00	9.47	284.10	
	CHV 257005-990, BULK OIL, U EC			.00		4.79	215.55	
	WINTER BUG WASH, -40 WINI WASHER FLUID	DSHIELD		.00	15.00	3.69	55.35	
Cublet						Total Parts	1,564.60	
Sublet	150-471814 / Northern Metalic S	Sales		.00	1.00	101.00	101.00	
						Total Sublet	101.00	
						Shop Supplies	260.73	
						Total	5,576.33	CAD

Odometer: 334,959 Odometer As Of: 2024-10-26

Hours: 23,037 Hours Reading As Of: 2024-10-26

Date: From 2023-01-01 To 2025-09-09

WINTER BUG WASH, -40 WINDSHIELD

16X16 FLAG, FLAGS 16 X 16, NYLON

WINTER BUG WASH, -40 WINDSHIELD

SNA C21, TARP STRAP - 21"

MAG07587, MAGNET W/ CLIP

BP660-R, REINFORCED 'D' SIGN

WASHER FLUID

WASHER FLUID

Equipment: 503

Category	Descri	ption	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur
abour	10/26/2024 - REPLACE DAREGULATOR.	'S WINDOW	Neil Read	2.00	2.00	100.00	200.00	
Douto				2.00	2.00	Total Labor	200.00	
Parts	R21-1005, CONTROL, RE	GULATOR DOOR -D/S		.00	1.00	196.74	196.74	
						Total Parts	196.74	
						Shop Supplies	19.84	
						Total	416.58	CAE
Vork Order #: 61	977 Invoice#:	Complete	ed Date: 2024-1	11-22 503 Odome	tor: 227 001	Odomotor	· As Of: 2024-11	04
_abor				Hours:	,		As Of: 2024-11 As Of: 2024-11	
abour	11/04/2024 - TESTED ANI BATTERIES AND CONFIF OPERATING. CHECKED WINTER. ASSISTED ZAC CONTRL BOX.	RMED CHARGER ALL AIR TANKS FOR	Carson Damery	4.00	4.00	100.00	400.00	
abour	11/04/2024 - REMOVED V PANEL. INSTALLED NEW FOUND BROKEN SCREV HAVE NEW SWITCH. REA HIM ON ROAD.	/ BULB FOR PTO. / INSIDE, DID NOT	Zacharias Garrat	t 3.00	3.00	100.00	300.00	
larta				7.00	7.00	Total Labor	700.00	
Parts	LS D 1-1/8X28 C, SLING, X 28')	LOAD -YELLOW (1-1/8"		.00	1.00	295.86	295.86	
	ANC 43795-11-30, 4" X 30 ANC 43795-10-30, 4" X 30			.00 .00	3.00 3.00	19.53 15.61	58.59 46.83	
	HOOK ANC 41660-10-30, 3" X 30			.00	3.00	22.32	66.96	
	HOOK 1231MF, BATTERY, 12 V			.00	4.00	97.95	391.80	
	6015-638, NUT, BATTERY			.00	1.00	2.14	2.14	
	GEN 53, BULB			.00	2.00	.53 Total Parts	1.06 863.24	
						Shop Supplies	78.16	
						Total	1,641.40	CAL
Vork Order #: 62	012 Invoice#:	Complete	ed Date: 2024-1				. 01 0004 44	0.5
ahau				Odome Hours:			As Of: 2024-11 As Of: 2024-11	
-abor abour	11/05/2024 - WORK ON T	,	Alex Heney	3.50	3.50	100.00	350.00	
abour	REG AND CHECK ENGIN 11/05/2024 - REPLACED VALVE. (NO CHARGE)		Carson Damery	1.00	1.00	100.00	100.00	
larta				4.50	4.50	Total Labor	450.00	
Parts	CAT 4J-5351, O-RING, TH C15	IERM HOUS PORT -		.00	2.00	1.79	3.58	
	F04-6006, CAT ELBOW, S	SILICONE		.00	1.00	108.35	108.35	
	CHV 227811-492 COOLA			.00	2.00	69.88	139.76	
	CHV 227811-492, COOLA CHEVRON DELO	INI, 50/50 RED -		.00	2.00	9.15	18.30	
	WINTER BUG WASH40	WINDSHIELD		.00	10.00	3.69	36.90	

.00

.00

.00

.00

.00

.00

10.00

4.00

4.00

2.00

1.00

2.00

3.69

1.28

9.99

7.71

47.46

3.69

36.90

5.12

39.96

15.42

47.46

7.38

Work Order History Report

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
	CHV 257005-429, URSA SP EC 15W40	4L	.00	1.00	22.21	22.21	
	3.785L JUG CHV 227811-492, COOLANT, 50/50 REI CHEVRON DELO	O -	.00	1.00	9.15	9.15	
					Total Parts	453.59	
					Shop Supplies	45.18	
					Total	948.77	CAD
Work Order #: 62	2172 Invoice#: C	Completed Date: 2024-1					
Labor			Odome Hours:	,		As Of: 2024-11 As Of: 2024-11	
labour labour	11/14/2024 - THAW TRAILER + FREE B 11/14/2024 - SERVICE UNIT. REPLACE POT DRIVE AXLE #2 P/S.		1.00 2.50	1.00 2.50	100.00 100.00	100.00 250.00	
D. d.			3.50	3.50	Total Labor	350.00	
Parts	LF3566, FILTER, OIL - CAT C-15		.00	1.00	36.46	36.46	
	SOS, SOS OIL ANALYSIS 3030 LONG, BRAKE POT, LONGSTROP	(E -	.00 .00	1.00 1.00	24.86 85.90	24.86 85.90	
	30/30 CHV 257005-990, BULK OIL, URSA 15V	/40 SP	.00	45.00	4.79	215.55	
	EC CHV 227811-492, COOLANT, 50/50 REI CHEVRON DELO) -	.00	1.00	9.14	9.14	
					Total Parts	371.91	
					Shop Supplies	36.10	
					Total	758.01	CAD
Work Order #: 62	2191 Invoice#: C	Completed Date: 2024-1	11-20 503				
		•	Odome Hours:			As Of: 2024-11 As Of: 2024-11	
Labor labour	11/15/2024 - INSTALL TURBOS + REPA	IRED Cody Brouilette	9.00	9.00	100.00	900.00	
labour	WIRING. REPAIRED STEP ON D/S. 11/15/2024 - GRAB PARTS MOTOR FRO	OM Zacharias Garrat	t 10.00	10.00	100.00	1,000.00	
	COVERALL. REMOVE TURBOS. WORK W/CODY TO INSTALL TURBOS ON UN CHECK WORK. R&R PTO LIGHT AND C RACK LIGHTS WORKING.	ζ IT.				,	
			19.00	19.00	Total Labor	1,900.00	
Parts	K022105, PURGE VALVE KIT - AD-IS AC1001-A/M, AIR, DRYER CARTRIDGE	(AC1001	.00 .00	1.00 1.00	134.95 17.98	134.95 17.98	
	AFTERMARKET) H5125-0858, BOOMER, YELLOW FOLD	ER - 3/8"	.00	4.00	78.08	312.32	
	TO 1/2" CAT 284-0671, CLAMP, TURBO EXIT - (CAT C15	.00	1.00	65.15	65.15	
	SDP CAT 274-6851, CAT GASKET, MOUNT I	HP	.00	1.00	53.04	53.04	
	TURBO - C15 CAT 197-8418, CAT GASKET, TURBO (CAT 197-8419, GASKET, TURBO OIL D		.00 .00	2.00 1.00	5.36 6.13	10.72 6.13	
	J TOT OTTO, GRONET, TONDO OIL D		.50	1.00	Total Parts	600.29	
					Shop Supplies	125.01	
					Total	2,625.30	CAD

Odometer: 344,231 Odometer As Of: 2024-11-20

Hours: 23,461 Hours Reading As Of: 2024-11-20

September 26, 2025 10:34 AM

D&D Energy Services Ltd O/A D&D Well Services Work Order History Report

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
labour	11/20/2024 - PULL AIR TO AIR ON UNIT.	Wyatt Fowler	6.00	6.00	100.00	600.00	
labour	11/20/2024 - HELP WYATT W/BOOST ISSUE.	Neil Read	2.00	2.00	100.00	200.00	
labour	11/21/2024 - PULLED PART OF EXHAUST OUT. PUT NEW PIECE IN. TOOK FENDER OFF AND	Wyatt Fowler	8.50	8.50	100.00	850.00	
	PREPPED FOR GLUE.						
labour labour	11/22/2024 - FAB HYD HOSE HANGER. 11/22/2024 - DIAGNOSE FUEL NOT LEVELING ISSUE. DIAGNOSE HIGH SPEED SWITCH FOR WINCH. REPLACED SWITCH + TIGHTEN CONNCETIONS. FINISH INSTALLING BOLTS IN CROSSMEMBER. CHECK OVER CROSSMEMBER BOLTS. SCAN CODES + TEST	Bryant Hurd Colton Wolsey	1.00 6.00	1.00 6.00	100.00 100.00	100.00 600.00	
labour	REPAIRS. 11/22/2024 - HELP WYATT W/CROSSMEMBER AND FUEL.	Neil Read	3.00	3.00	100.00	300.00	
labour	11/22/2024 - REPLACED PART OF DOWN PIPE. EPOXIED FENDER ON UNIT.	Wyatt Fowler	12.00	12.00	100.00	1,200.00	
labour	11/23/2024 - REPLACED CROSSMEMBER BOLTS ON 1ST CROSSMEMBER. REPLACED ONE OF RETURN VALVE T5 FRONT ONE. PUT FENDER ON UNIT.	Wyatt Fowler	6.00	6.00	100.00	600.00	
Dout			44.50	44.50	Total Labor	4,450.00	
Parts	379547, PRESSURE SWITCH-PTO		.00	1.00	173.93	173.93	
	M807A, HOOK, CHAIN - 7/16" ALLOY		.00		27.47	137.35	
	M806A, HOOK, CHAIN - 3/8" ALLOY		.00		17.88	17.88	
	SNA C21, TARP STRAP - 21"		.00		1.56	15.60	
	M66-1876, PIPE, EXHAUST -MBEND W/FLEX		.00	1.00	963.66	963.66	
	CUM 2866337, GASKET, EXHAUST - 5"		.00		18.49	18.49	
	90-0013, CLAMP, EXHAUST - 5" V-BAND		.00	2.00	17.02	34.04	
	38-0373, CLAMP, T-BOLT -4.12" TO 4.44"		.00		13.54	81.24	
	HS12, HOSE CLAMP, GEAR - 18-32MM		.00		1.15	17.25	
	CAT 272-2648, CAT HOSE		.00		20.24	20.24	
	38-0371, CLAMP, T-BOLT -4.00" TO 4.31" 38-1222, CLAMP, CONST. TORQUE - 1 3/4" TO		.00	2.00 3.00	13.15 13.16	26.30 39.48	
	2 5/8"						
	7808-3438R, SWITCH, TOGGLE - INTRUDER FAN		.00	1.00	26.03	26.03	
	21152, VENT, FUEL TANK		.00		10.77	21.54	
	2252-1D, FUEL DIVIDER, RETURN -MOST ENGINES		.00		151.69	151.69	
	12105GTD, GASKET, FUEL CAP - KNWRTH CAT 197-8419, GASKET, TURBO OIL DRAIN		.00 .00		18.55 5.70	37.10 5.70	
					Total Parts	1,787.52	
					Shop Supplies _	311.88	
					Total	6,549.40	CAD

Work Order #: 62343 Invoice#: Completed Date: 2024-11-28 503 Odometer: 344,231 Odometer As Of: 2024-11-25 Hours: 23,466 Hours Reading As Of: 2024-11-25 Labor 11/25/2024 - CHANGED AIR DRYER FILTER 3.00 300.00 Zayn Knezevich 3.00 100.00 labour AND PURGE VALVE. DRAIN ALL TANKS.
CHANGED PRESSURE RELIEF VALVE ON AIR COMPRESSOR. 3.00 3.00 **Total Labor** 300.00 **Parts** CAT 225-5222, VALVE, COMPRESSOR SAFETY .00 1.00 36.39 36.39 -ST4 (250 PSI) K022105, PURGE VALVE KIT - AD-IS .00 1.00 134.95 134.95 AC1001-A/M, AIR, DRYER CARTRIDGE (AC1001 .00 1.00 17.98 17.98 AFTERMARKET) 62PMT-4, UNION, PTC - #4 .00 1.00 7.59 7.59 **Total Parts** 196.91 **Shop Supplies** 24.85

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
							Total	521.76	CAD
Work Order #: 62	2373	Invoice#:	Complete	ed Date: 2024-1					
					Odomet Hours:	,		As Of: 2024-11 As Of: 2024-11	
L abor abour	11/26/20	024 - INSTALL INVERTER.		Dain Halkyard	3.00	3.00	100.00	300.00	
_					3.00	3.00	Total Labor	300.00	
Parts	105036-	PB, BREAKER, RESETABLE - 010, TERMINAL, COPPER 6			.00 .00	1.00 4.00	46.01 .72	46.01 2.88	
		1, 4GA X3/8" GREY LUG 25PI 0W, INVERTER - 2500 WATT			.00 .00	2.00 1.00	1.84 382.53	3.68 382.53	
2.11.4							Total Parts	435.10	
Sublet	150-475	5945 / Northern Metalic Sales			.00	1.00	101.00	101.00	
							Total Sublet	101.00	
							Shop Supplies	36.76	
							Total	872.86	CAD
Nork Order #: 62	2429	Invoice#:	Complete	ed Date: 2024-1	1-30 503 Odomet	er: 344,636	Odometer	As Of: 2024-11	-29
Labor					Hours:	23,492 H	ours Reading	As Of: 2024-11	-29
labour		024 - REPLACED HI-LOW WI H. TESTED REPAIR. CLEAN		Colton Wolsey	.50	.50	100.00	50.00	
labour	11/29/20 REPLAG LEAKS AND RE RESEA	024 - CHECK OUT TURBO S CE BOOST SENSOR. CHECK ON TURBO. REMOVE SOME EPLACE EXHAUST LINK SEA L LINKS BETWEEN TURBOS FOR MORE BREAKTHOUGI	K FOR AIR E PARTS AL AND S AND	Earl Buchanan	4.50	4.50	100.00	450.00	
					5.00	5.00	Total Labor	500.00	
Parts	HS52, C	CLAMP, HOSE -71-95MM			.00	1.00	1.79	1.79	
	TUL 433	367, SOLENOID, TWO SPEE 4-6718, SENSOR, OIL/BOOS			.00 .00	1.00 1.00	378.00 334.86	378.00 334.86	
	CAT 38	8-7202, HARNESS, BOOST F 0-5855, CAT SEAL ASSBLY F			.00 .00	1.00 1.00	59.41 173.32	59.41 173.32	
		DLD C15 9-8578, CLAMP, EXH MANIF	OLD		.00	1.00	149.62	149.62	
							Total Parts	1,097.00	
							Shop Supplies	79.85	
							Total	1,676.85	CAD
Work Order #: 62	2448	Invoice#:	Complete	ed Date: 2024-1	2-16 503 Odomet Hours:	,		As Of: 2024-11 As Of: 2024-11	
Labor labour		024 - PUT SILICONE ON TUF IX HIGH BEAM P/S WIRING.	RBO DRAIN	Kurt Sison	4.00	4.00	100.00	400.00	
					4.00	4.00	Total Labor	400.00	
							Shop Supplies	20.00	
							Total	420.00	CAD

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
Work Order #: 62	2450	Invoice#:	Complete	ed Date: 2024-	12-16 503				
					Odomete Hours:	,		As Of: 2024-11 As Of: 2024-11	
Labor labour	11/20/202	4 - CHECKED IF FAN CLU		Kurt Sison	1.00	1.00	100.00	100.00	
labour	HEADLIG			Kurt Sison	.50	.50	100.00	50.00	
labour	ON D/S.	4 - VERIFIED FAN CLUTCI		Sam Del Greco	1.00	1.00	100.00	100.00	
labout		HEADLIGHT WIRING D/S.	1171110	Gain Dei Greeo					
					2.50	2.50	Total Labor	250.00	
							Shop Supplies	12.50	
							Total	262.50	CAD
Work Order #: 62	2459	Invoice#:	Complete	ed Date: 2024-	12-10 503 Odomete	or: 247 140	Odomotor	As Of: 2024-12	. 02
Labor					Hours:			As Of: 2024-12	
labour	HUB. DIA	4 - REMOVED AND REPLA G AND REPAIR HI/LOW S\ - FIX ANY AND ALL AIR IN'	WITCH.	Dain Halkyard	10.00	10.00	100.00	1,000.00	
labour		4 - REPAIRED STEP UNDI	ER DRIVER	Micaiah Gordon	1.00	1.00	100.00	100.00	
Dorto					11.00	11.00	Total Labor	1,100.00	
Parts	79A9898F CAT C15	RMAN, CLUTCH, FAN RMA	N HORTON		.00	1.00	1,103.30	1,103.30	
	60NTA-4,	SLEEVE, COMPRESSION -6122490, 12 RIB X 2490 B			.00 .00	1.00 1.00	.29 123.83	.29 123.83	
		-6061870, BELT, ALTERNA			.00	1.00	64.40	64.40	
	SNA C15,	TARP STRAP-15" TARP STRAP - 21"			.00 .00	4.00 2.00	1.10 1.56	4.40 3.12	
		ECEPTACLE, 7 WIRE COF	RD		.00	1.00	12.81	12.81	
	NR-N2448	LADHAND SEAL, BLACK BEM, LIGHTS, NR DRIVING OMBINED	G - 7" 8000		.00 .00	9.00 1.00	.39 368.56	3.51 368.56	
							Total Parts	1,684.22	
							Shop Supplies	139.21	
							Total	2,923.43	CAD
Work Order #: 62	2569	Invoice#:	Complete	ed Date: 2024-		or: 240.042	Odomotor	. A o Of: 2024 42	0.7
Labor					Odometo Hours:	,		As Of: 2024-12 As Of: 2024-12	
Labor labour	UNIT. REI REPLACE	4 - BRING IN FOR SERVIC PLACE LEAKING BRAKE L E LEAKING QR VALVE. INS OP TO BOTTOM.	INES.	James Dougan	6.50	6.50	100.00	650.00	
labour	12/08/202 INSTALLII HORIZON ENGINE N STRUCTU	4 - FINISH SERVICE. FINIS NG QR VALVE. REPLACE ITAL TORQUE ROD. TAKE MOUNT OFF. FIX HOLES II JRE. REMOVE P/S DRAG I	AXLE #4 EP/S N REAR LINK TIE	James Dougan	12.00	12.00	100.00	1,200.00	
labour	12/08/202). REPLACE BOTH REAR A 4 - HELP JAMES W/ENGIN QUE RODS.		Neil Read	2.00	2.00	100.00	200.00	
labour	12/09/202 #3 & #4 A AXLE P/S RACES. II	.QUE RODS. 4 - FINISH UP REAR AIRB XLE TIRES. INSPECT, REI I HUB. REPLACE BEARING NSTALL 2 NEW AXLE STU HUB. SET BEARINGS.	MOVE #3 SS, SEALS +	James Dougan	7.00	7.00	100.00	700.00	
labour		4 - PULL BROKEN BOLTS	•	Bryant Hurd	2.00	2.00	100.00	200.00	

Date: From 2023-01-01 To 2025-09-09

BALANCED

Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
labour	12/10/2024 - ASSISTED JAMES W/MOTOR	Carson Damery	.50	.50	100.00	50.00	
labour	MOUNTS. 12/10/2024 - REPLACE AXLE #3 P/S SCAM. REMOVE #3 + #4 AXLE BRAKE SHOES + DRUMS. CLEAN UP ANCHOR PINS AND S-CAMS. PUT NEW SHOES + DRUMS ON. PUT TIRES ON. TORQUE TIRES. SET BRAKES. INSTALL NEW MOTOR MOUNT P/S REAR. REPLACE BOTH FRONT MOTOR BUSHINGS.	James Dougan	10.50	10.50	100.00	1,050.00	
labour	CLEAN UP. 12/09/2024 - HELP JAMES W/REPAIRS, STACK BUSHINGS AND P/S WINDOW.	Neil Read	3.00	3.00	100.00	300.00	
labour	12/11/2024 - REMOVE AND REPLACE AIR COMPRESSOR AND HELP DIAGNOSE REAR END PROBLEM.	Earl Buchanan	4.50	4.50	100.00	450.00	
labour	12/11/2024 - CHECK OVER AND CVIP.	Jody Tracey	3.00	3.00	100.00	300.00	
labour	12/12/2024 - HELP W/POWER DIVIDER. CHECK REST REAR ENDS FOR CUTTING AND FILL REAR ENDS THAT WERE EMPTY.	Earl Buchanan	4.00	4.00	100.00	400.00	
labour	12/11/2024 - REPLACE POWER STEERING FILTER, HYDRAULIC FILTERS, AIR DRYER CARTRIDGE + PURGE VALVE. HELP EARL W/COMPRESSOR. PUT ALL DRIVE AXLES ON STANDS. REPLACE STEROE. INSTALL NEW MIC. REMOVE CB RADIO. CHECK POWER DIVIDERS + CROSS LOCKS. DRAIN AXLE #2 DIFF.	James Dougan	9.00	9.00	100.00	900.00	
labour	12/12/2024 - TAKE TRUCK OFF STANDS. PUT ON HOIST. REMOVE AXLE #2 POWER DIVIDER. REPLACE POWER DIVIDER ASSEMBLY, GEARS AND SHAFT. TIGHTEN PLUGS ON FUEL TANKS. REPLACE U-JOINT + CLEAN UP.	James Dougan	8.50	8.50	100.00	850.00	
D. (72.50	72.50	Total Labor	7,250.00	
Parts	LATER ROOMS MOUNTHAIT EDON'T ENGINE HAM			4.00	474.00	474.00	
	KT59-62003, MOUNT KIT, FRONT ENGINE -KW KT59-62004, MOUNT KIT, REAR ENGINE -KW 925031, TORQUE ROD - 24" (TOP OF DIFF TO SIDE OF FRAME)		.00 .00 .00	1.00 .50 1.00	171.66 530.54 184.45	171.66 265.27 184.45	
	K055-405, BRACKET, TORQUE ARM - NEWAY		.00	1.00	60.90	60.90	
	B71-1001, SHOCK, STEER - T800		.00	2.00	53.95	107.90	
	9144, AIRBAG, DRIVE - KNWRTH		.00	2.00	150.40	300.80	
	M13-6001K, BUSHING KIT, EXHAUST		.00	2.00	19.85	39.70	
	2225P-4, STREET TEE		.00	6.00	3.88	23.28	
	VS269NTA-6-4, MALE ELBOW		.00	3.00	4.09	12.27	
	LF3566, FILTER, OIL - CAT C-15		.00	1.00	54.27	54.27	
	SOS, SOS OIL ANALYSIS HE0827, HOSE ASSYM, AIR BRAKE - 27"L X		.00	1.00 1.00	24.86 39.47	24.86 39.47	
	1/2" DIA 1/9094N, VALVE, QUICK RELEASE - W/		.00	1.00	137.60	137.60	
	DOUBLE CHECK VS269NTA-10-8, MALE ELBOW		.00	1.00	10.80	10.80	
	222P-8-6, ADAPTER		.00	1.00	4.06	4.06	
	2214P-6-6, 45 STREET ELBOW		.00	1.00	5.67	5.67	
	2202P-6-6, 90 STREET ELBOW		.00	1.00	8.06	8.06	
	SPL170-4X, U-JOINT, SPL170 - SPICER R005872-L, STUDS, DRIVE FLANGE 1/4 LONGER		.00	2.00 1.00	138.30 4.15	276.60 4.15	
	1229W1661, WASHER, AXLE DOWEL - PACCAR		.00	2.00	1.70	3.40	
	1246V1166, DOWEL, AXLE - W/O RELIEF		.00	1.00	2.00	2.00	
	66467, QUICK PIN - 3/8" X 2-1/4"		.00	2.00	1.86	3.72	
	SET403, BEARING SET, DRIVE - 594		.00	1.00	67.40	67.40	
	SET401, BEARING SET, DRIVE -580/572		.00	1.00	58.05	58.05	
	GKT1008, GASKET, AXLE		.00	1.00	6.40	6.40	
	392-9131, WHEEL SEAL, DRIVE - STEMCO		.00	1.00	57.00	57.00	
	R230072, TIE ROD END LHT LONG M13-109, BUSHING, EXHAUST MOUNT -		.00 .00	1.00 2.00	63.96 18.95	63.96 37.90	
	KNWRTH 66465, QUICK PIN - 5/16" X 2-1/2"		.00	3.00	.89	2.67	
	E-5512, BUSHING, CAM - EATON		.00	1.00	1.85	1.85	
	807863, S-CAM, 16.5X7 ESH DRIVE - R/H		.00	1.00	55.30	55.30	
	CS3065, CAM SEALS		.00	1.00	1.12	1.12	
	E-5482, WASHER, S-CAM 1-1/2" ID		.00	1.00	4.20	4.20	
	3600AX, BRAKE DRUM TRUCK / TRAILER -		.00	4.00	89.95	359.80	

Date: From 2023-01-01 To 2025-09-09

### STATES SHOPE BRANKE DIDN'E SELL 16.837 ### STATES SHOPE BRANKE DIDN'E SELL 16.937 ### STATES SHOPE BRANK	Category	Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
86544, DUST SHEELD, PRIVE (973853) CAT 20K-790K, COMPRESSOR, SUP CAT CAT 20K-890K, CAT HOSE, AIR COMP COCIA, SUP CAT 100K, CAT 100		4709E2 SHOE BRAKE DRIVE ESIL-16 5X7			4 00	142 63	570 52	
HSB. HOSE CLAMP, GEAR - 13-20MM HSB. HOSE CLAMP, GEAR - 14-27MM ORD 112 2.24 CAT PLAND, GEAR - 14-27MM ORD 112 2.24 CAT PLAND, GEAR - 14-27MM ORD 1100 39.31 SILH-605-90, 100SH, EATER - 12? TAZ12, 207, TAT-100SH, EATER - 12? TAZ12, 207, THERMASHELD MAT - 12? TAZ12, ST. THERMASHELD MAT - 12. T								
HS10, NOSE CLAMP, CEAR 1-4-27MM CAT 278-807, CAT HOSE, AIR COMP SIL 1005 69, HOSE, HEATER 1/2" SIL 1005 69, HOSE, HEATER 1/2" C280C, FLITER, GASKET HEATON WOTEP SIL 1005 69, HOSE, HEATER 1/2" G280C, FLITER, CASKET HEATON WOTEP SIL 1005 69, HOSE, HEATER 1/2" G280C, FLITER, CASKET HEATON WOTEP SIL 1005 69, HOSE, HEATER 1/2" G280C, FLITER, CASKET HEATON WOTEP SIL 1005 69, HOSE 1, HEATEN 1/2" G280C, FLITER, CASKET HEATON WOTEP SIL 1005 69, HOSE 1, HEATEN 1/2" G280C, FLITER, CASKET HEATON WOTEP SIL 1005 69, HOSE 1, HEATEN 1/2" G280C, FLITER, CASKET HEATON 1/2" KNOWL HEATEN 1/2" KNOWL HEATON 1/2" KNOWL HEATON 1/2" KNOWL HEATEN 1/2" KNOWL HE						,		
CAT 276-2607. CAT HOSE, AIR COMP COLLANI DISSE, HEATER 1/27 COLLANI DISSE,								
TZA12.0SV, THERMASHLED MAT - 12" GORGE, FLIETE, GASKET HEROT WISTEP SHEEP, PICTAIL, RICHT MAGLE MAGE MAGE CARRIDGE (AC1001 AC2006, PURCE VALVE MT - AD-US NO2106, PURCE VALVE MT - AD-US HO710, PILTER, HOVER WISTERING - 100 2.00 19.01 38.02 STANIM, PILTER, POWER STEERING - 100 2.00 28.15 56.30 PETROTO, PILTER, POWER STEERING - 100 2.00 28.15 56.30 PETROTO, PILTER, PURCHAULE STANIM, PILTER, POWER STEERING - 100 1.00 1.00 8.09 8.09 PETROTO, PILTER, PURCHAULE STANIM, PILTER, PURCHAULE PILSER, PILLE SECONDARY FF319, PILTER, FULLE SECONDARY FF		CAT 276-9507, CAT HOSE, AIR COMP						
SAMPROCRITICATE RIGHT NAIGLE 00 5.00 2.30 2.30 2.30 2.46 2.46 2.47		TZA12.0SV, THERMASHIELD MAT - 12"		.00	1.00	8.36	8.36	
AC1001-AM, AIR, DRYPER CARTRIDGE (AC1001 ACTERMARKEY NUME WIT ADIS OD 100 19465 NO2106, PURCE WITHOUT ADIS OD 200 19515 SERVING THE WITHOUT ADIS OD 200 2015 SERVING THE WITHOUT ADIS OD 200 19515 SERVING THE WITHOUT ADIS OD 200 19515 SERVING THE WITHOUT ADIS OD 100 8.00 SERVING THE WITHOUT ADIS OD 100 100 8.00 SERVING THE WITHOUT ADIS OD 100 100 100 100 100 100 100 100 100 10								
MO22106, PURGÈ VALVE KIT - AD-IS .00		AC1001-A/M, AIR, DRYER CARTRIDGE (AC1001						
### STOPHAM FILTER, POWER STEERING								
Name								
FESSIS, FILTER, FUEL PRIMARY - CAT C15 O186425, CLAMP, PIS RESERVOIR KW/PB O100 1.00 1.00 18.60 O186425, CLAMP, PIS RESERVOIR KW/PB O276989FLG, GASKET, PIS RESERVOIR KW/PB O300 1.00 478 4.78 139865, DIFFERENTIALA ASSY, POWER O300 1.00 25348 DVIDER - CLD STYLE GENERAL CLAMP STATE SERVOIR KW/PB OVER - CLD STYLE OVER - CLD STYLE OVER - CLD STYLE GENERAL CLAMP STATE SERVOIR CLAMP STATE STATE OVER - CLD STYLE OVER -				.00	2.00	28.15	56.30	
C186425, CLAMP, PIS RESERVOIR KW/PB								
O79690FLC, GASKET, PJS RESERVOIR KWPB .00 1.00 4.78 4.78 1.39965, DIFFERENTIAL ASSY, POWER .00 1.00 .263.48								
139966, DIFFERENTIAL ASSY, POWER DIVIDER - LOLD STYLE								
(OLD STYLE) 131345, GEAR & BUSHING ASSY 132440, WASHER, THRUST INPUT-D170 100 2.00 2.00 2.062 41.24 132440, WASHER, THRUST INPUT-D170 101 1.00 1.00 1.00 1.045 13.45 131343, CHRING, THROUGH SHAFT - EATON 101 1.00 1.00 1.00 1.00 1.04 131333, VERNIG, THROUGH SHAFT - EATON 102 1.00 1.00 1.00 1.00 1.01 1.01 131343, VERNIG, THE PUTON PUMP 103 1.00 1.00 1.00 1.00 1.00 1.00 1.00 131309, CHRING, THE PUTON PUMP 131309, SEAL KIT, INPUT PINION - EATON 1313098, SEAL KIT, INPUT PINION - EATON 1313098, SEAL KIT, INPUT PINION - EATON 131309, CUTOH CUPWED SEAR 131322, PISTON, DIFF LOCK - AIRSHIFT 100 1.00 1.00 1.00 1.00 1.00 1.00 131232, PISTON, DIFF LOCK - AIRSHIFT 100 1.00 1.00 1.00 1.00 1.00 131309, CUTOH CUPWED SEAR 131323, CULTOH CUPWED 1.07 INPUT 100 1.00 1.00 1.00 1.00 1.00 100 1.00 1.		139965, DIFFERENTIAL ASSY, POWER						
132440, WASHER, THRUST INPUT, D170		504065, LUBE PUMP KIT W/SIDE GEAR - D170 (OLD STYLE)						
131333, V-RING, THROUGH SHAFT - EATON 0.0 1.00 843.19 843.19 843.19 810870, SHIFT FORK KIT, WITH SPRING, -D170 0.0 1.00 843.19 843.19 810870, SHIFT FORK KIT, WITH SPRING, -D170 0.0 1.00 65.73 65.73 65.73 131008K, SEAL KIT, INPUT FINION - EATON 0.0 1.00 62.19 62.19 221080, CRING, DIFF LOCKER - EATON 0.0 1.00 0.06 1.09 62.19 62.19 13132, CULTCH CURVIC SL 0.0 1.00 9.20 9.20 9.20 131332, CULTCH CURVIC SL 0.0 1.00 9.20 9.20 9.20 131332, CULTCH CURVIC SL 0.0 1.00 1.00 10.71 439.11 139973, BEARING, CONE OF AR OIL BULK 0.0 41.00 10.71 439.11 139973, BEARING, CONE OF 170 INPUT 0.0 4.00 4.82 19.28 250-70.83, STRAP KIT, SPL250 - SPICER 0.0 4.00 4.82 19.28 250-70.83, STRAP KIT, SPL250 - SPICER 0.0 1.00 2.00 2.05 2.55 45.10 SPL250-33, U-JOINT KIT, SPL250 - SPICER 0.0 1.00 2.00 1.00 2.00 1.00 4.9								
513840, KIT, INPUT SHAFT - D170 W/ PUMP 0.0								
139974, BEARING, CUP - D170 INPUT								
131008K, SEAL KIT, INPUT PINION - EATON 0.0 1.00 62.19 62.19 62.19 62.19 62.19 62.19 62.19 62.19 62.19 62.10								
210180, O-RING, DIFF LOCKER - FATON 0.0 1.00 1.00 1.096 10.96 10.932 131322, ISTON, DIFF LOCK - AIRSHIFT 0.0 1.00 2.00 5.20 2.00 131332, CLUTCH CURVIC SL 0.0 1.00 290.05 290.								
131232, PISTON, DIFF LOCK - AIRSHIFT								
CHV 223030-953, 75W90 SYN GEAR OIL BULK 139973, BEARNING, CONE - D170 INPUT 139973, AND								
139973, BEARING, CONE - D170 INPUT				.00	1.00			
1250E473, DRAIN PLUG 250 - SPICER 00 2.00 22.55 45.10 SPIC50 - SPICER 00 2.00 22.55 45.10 SPIC50-3X, U_JOINT KIT, SPI250 - SPICER 00 1.00 200.10								
250-70-18X, STRAP KIT, SPL250 - SPICER SPL250-3X, U-JOINT KIT, SPL250 - SPICER JH0822, HOSE ASSYM, AIR BRAKE - 22"L X 1/2" JO 2.00 10.0 2.00 12.47 24.94 DIA 884.4134-6B, FITTING - #6INV.FLARE TO								
SPL250-3X, UJ-JOINT KIT, SPL250 - SPICER J-JO822 HOSE ASSYM, AIR BRAKE - 22"L X 1/2" DIA 844.4134-6B, FITTING - #6INV.FLARE TO .00 2.00 1.87 3.74 #MNPTM 222P-6-4, ADAPTER WINTER BUG WASH, -40 WINDSHIELD .00 1.00 3.09 2.84 5.68 WINTER BUG WASH, -40 WINDSHIELD .00 1.00 3.69 3.69 WASHER FLUID CH-V 257005-429, URSA SP EC 15W40 4L .3.785L, JUG WINTER BUG WASH, -40 WINDSHIELD .00 5.00 9.15 45.75 CHEVRON DELO VS68NTA-6-4, MALE CONLECTOR .00 5.00 9.15 45.75 CHEVRON DELO VS68NTA-6-4, MALE CONNECTOR .00 1.00 48.63 48.63 KNWRTH CH-V 221854-483, HAVOLINE ATF MD - 1 L .00 1.00 6.09 6.09 BOTTLE CH-V 257005-990, BULK OIL, URSA 15W40 SP EC KMC-62, MICROPHONE WITH KEYPAD .00 1.00 10.0 10.0 10.375 20620-4-4, FITTING, REUSABLE - #4JIC(F) X .00 1.00 2.00 231.83 46.66 TMM W/O CAM - DRIVE 444221, TIRE CHAINS, 11.00R24.5 - S-2000 .00 2.00 2.00 231.83 46.60 W/CAMS Sublet Sublet Sublet 11054840 / Pat's Auto Bumper To Bumper - GP .00 1.00 2.00 2.00 3.00 .00 3.00								
DIA 884 4134-6B, FITTING - #6INV.FLARE TO 885 WASHER FLUID 885 WASHER FLUID 886 WASHER FL				.00	1.00	200.10	200.10	
#4NPTM		DIA						
WINTER BUG WASH, -40 WINDSHIELD WASHER FLUID CHV 257005-429, URSA SP EC 15W40 4L 3.785L JUG WINTER BUG WASH, -40 WINDSHIELD CHV 227811-492, COOLANT, 50/50 RED - CHV 27811-492, COOLANT, 50/50 RED - CHV 758NTA-6-4, MALE CONNECTOR DW1163, WINDSHIELD, CURVED - P/S LOU 21854-483, HAVOLINE ATF MD - 1 L CHV 221854-483, HAVOLINE ATF MD - 1 L CHV 257005-990, BULK OIL, URSA 15W40 SP EC KMC-62, MICROPHONE WITH KEYPAD 20620-4-4, FITTING, REUSABLE - #4JIC(F) X 494375, TIRE CHAINS, 11.00R24.5 - S-2000 TMW WO CAMS Sublet Sublet Sublet WINTER BUG WASH, -40 WINDSHIELD 0.00		#4NPTM						
3,785L JUG WINTER BUG WASH, -40 WINDSHIELD WASHER FLUID CHV 227811-492, COOLANT, 50/50 RED - CHEVRON DELO V\$68NTA-6-4, MALE CONNECTOR DW1163, WINDSHIELD, CURVED - P/S KNWRTH CHV 221854-483, HAVOLINE ATF MD - 1 L BOTTLE CHV 257005-990, BULK OIL, URSA 15W40 SP EC KMG-62, MICROPHONE WITH KEYPAD A94375, TIRE CHAINS, 11.00R24.5 - S-2000 A94375, TIRE CHAINS, TRIPLE - 11.00R24.5 W/CAMS Sublet \$11054840 / Pat's Auto Bumper To Bumper - GP 126.38 \$126212 / Red Ram Sales Ltd. \$0.00 2.00 2.00 2.00 2.00 2.00 2.00 2		WINTER BUG WASH, -40 WINDSHIELD						
WASHER FLUID CHV 227811-492, COOLANT, 50/50 RED - CHEVRON DELO V\$68NTA-6-4, MALE CONNECTOR DW1163, WINDSHIELD, CURVED - P/S KNWRTH CHV 221854-483, HAVOLINE ATF MD - 1 L BOTTLE CHV 257005-990, BULK OIL, URSA 15W40 SP EC KMG-62, MICROPHONE WITH KEYPAD 20620-4-4, FITTING, REUSABLE - #4JIC(F) X #4HOSE 494375, TIRE CHAINS, 11.00R24.5 - S-2000 7MM W/O CAM - DRIVE 464221, TIRE CHAINS, TRIPLE - 11.00R24.5 W/CAMS Sublet WASHER FLUID CHV 227811-492, COOLANT, 50/50 RED - 0.00		3.785L JUG						
CHEVRON DELO V\$68NTA-6-4, MALE CONNECTOR DW1163, WINDSHIELD, CURVED - P/S RNWRTH CHV 221854-483, HAVOLINE ATF MD - 1 L BOTTLE CHV 257005-990, BULK OIL, URSA 15W40 SP EC KMC-62, MICROPHONE WITH KEYPAD 20620-4-4, FITTING, REUSABLE - #4JIC(F) X 44410SE 494375, TIRE CHAINS, 11.00R24.5 - S-2000 7MM W/O CAM - DRIVE 464221, TIRE CHAINS, TRIPLE - 11.00R24.5 W/CAMS Sublet Sublet CHV 25005-990, BULK OIL, URSA 15W40 SP 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.		WASHER FLUID						
DW1163, WINDSHIELD, CURVED - P/S KNWRTH CHV 221854-483, HAVOLINE ATF MD - 1 L BOTTLE CHV 227005-990, BULK OIL, URSA 15W40 SP EC KMC-62, MICROPHONE WITH KEYPAD 20620-4-4, FITTING, REUSABLE - #4JIC(F) X #4HOSE 494375, TIRE CHAINS, 11.00R24.5 - S-2000 7MM W/O CAM - DRIVE 464221, TIRE CHAINS, TRIPLE - 11.00R24.5 W/CAMS Sublet 11054840 / Pat's Auto Bumper To Bumper - GP 126212 / Red Ram Sales Ltd. D00 1.00 1.00 1.00 1.00 1.00 1.00 1.0		CHEVRON DELO						
BOTTLE CHV 257005-990, BULK OIL, URSA 15W40 SP EC KMC-62, MICROPHONE WITH KEYPAD 20620-4-4, FITTING, REUSABLE - #4JIC(F) X 4HOSE 494375, TIRE CHAINS, 11.00R24.5 - S-2000 7MM W/O CAM - DRIVE 464221, TIRE CHAINS, TRIPLE - 11.00R24.5 W/CAMS Sublet 11054840 / Pat's Auto Bumper To Bumper - GP 126212 / Red Ram Sales Ltd. BOTTLE CHV 257005-990, BULK OIL, URSA 15W40 SP 200 45.00 4.79 215.55 200 1.00 10.00 10.375 103.		KNWRTH						
EC KMC-62, MICROPHONE WITH KEYPAD		BOTTLE						
#4HOSE 494375, TIRE CHAINS, 11.00R24.5 - S-2000 7MM W/O CAM - DRIVE 464221, TIRE CHAINS, TRIPLE - 11.00R24.5 W/CAMS Total Parts 9,613.83 Sublet 11054840 / Pat's Auto Bumper To Bumper - GP 126212 / Red Ram Sales Ltd. Total Sublet Total Sublet Total Sublet		EC KMC-62, MICROPHONE WITH KEYPAD		.00	1.00	103.75	103.75	
Total Parts 9,613.83 Sublet 11054840 / Pat's Auto Bumper To Bumper - GP		#4HOSE						
W/CAMS Total Parts 9,613.83 Sublet 11054840 / Pat's Auto Bumper To Bumper - GP		7MM W/O CAM - DRIVE						
Sublet 11054840 / Pat's Auto Bumper To Bumper - GP						_		
126212 / Red Ram Sales Ltd00 1.00 300.00 300.00 Total Sublet 526.38	Sublet	11054840 / Pat's Auto Bumper To Bumper - GP		00	1 00		•	
						300.00	300.00	
						Shop Supplies	526.38 843.19	

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
							Total	18,233.40	CAD
Work Order #: 6	2909	Invoice#:	Complete	ed Date: 2024-1	2-31 503 Odomet Hours:	,		As Of: 2024-12 As Of: 2024-12	_
Labor labour	12/28/20 LIGHTS	24 - SERVICE + GREAS	E. FIX FOG	Dain Halkyard	5.00	5.00	100.00	500.00	
Parts					5.00	5.00	Total Labor	500.00	
	N926700 -BLK PL)1, SENSOR, LOW COOI ASTIC	ANT LEVEL		.00	1.00	43.88	43.88	
	12105G SOS, SC LF3566, 1020-CA WINTER WASHE	ID, GASKET, FUEL CAP DS OIL ANALYSIS FILTER, OIL - CAT C-15 P, CAP, QUICK DRAIN - E BUG WASH, -40 WINDS R FLUID	FEMCO SHIELD		.00 .00 .00 .00	1.00 1.00 1.00 1.00 2.00	5.64 24.86 22.10 6.10 4.09	5.64 24.86 22.10 6.10 8.18	
	3.785L J				.00	5.00	22.21	111.05	
	CHEVRO	7811-492, COOLANT, 50/ ON DELO			.00	5.00	9.15	45.75	
	SNA C2	7002-990, BULK DELO 40 1, TARP STRAP - 21" 5, TARP STRAP-15"	00 XSP 5W40		.00 .00 .00	45.00 15.00 20.00	7.26 2.25 1.87	326.70 33.75 37.40	
							Total Parts	665.41	
							Shop Supplies	58.27	
Work Order #: 6	3051	Invoice#:	Complete	ed Date: 2025-0	01-10 503 Odomet Hours:	,		As Of: 2025-01 As Of: 2025-01	
labour	01/05/20 DASH.	25 - FIX ELD. GO THRU	WIRING IN	Neil Read	4.00	4.00	100.00	400.00	
labour labour		25 - CHASED ELECTRIC 25 - PUT NEW VALVE C		Wyatt Fowler Neil Read	4.00	4.00	100.00 100.00	400.00 300.00	
Parts					11.00	11.00	Total Labor	1,100.00	
	4060C, I CAT 212 CAT 224	PIGTAIL, RIGHT ANGLE LIGHT BACK-UP LED, 4" 2-7728, ISOLATOR, VALV -9907, STUD, VALVE CO 3-7710, GASKET, VALVE	OVER		.00 .00 .00 .00	1.00 1.00 1.00 1.00 1.00	2.30 60.83 14.00 19.42 256.49 Total Parts	2.30 60.83 14.00 19.42 256.49 353.04	045
							Total	1,525.69	CAD
Work Order #: 6	3113	Invoice#:	Complete	ed Date: 2025-0	01-10 503 Odomet Hours:			As Of: 2025-01 As Of: 2025-01	
Labor labour	01/08/20 TANK.	25 - REPLACE COOLAN	T SURGE	James Dougan	1.00	1.00	100.00	100.00	
Darte					1.00	1.00	Total Labor	100.00	
Parts	ANC 437 HOOK	795-10-40, 4" X 40' STRA	P W/ FLAT		.00	2.00	30.17	60.34	
		660-10-30, 3" X 30' STRA	P C/W FLAT		.00	5.00	21.56	107.80	

Cur.

Amount

September 26, 2025 10:34 AM

Category

D&D Energy Services Ltd O/A D&D Well Services Work Order History Report

Mechanic

Actual

Hours

Quantity/Hours

Price/Rate

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Description

		30, STRAP W FLAT HOOK		.00	2.00	16.69	33.38	
		4" PLASTIC CORNER		.00	1.00	2.08	2.08	
		C, SLING, LOAD -YELLOW (1-1/	/8"	.00	1.00	295.86	295.86	
	X 28') ST6000_TANK	COOLANT (SURGE) - T800'S		.00	1.00	218.75	218.75	
		PIN - 5/16" X 2-1/2"		.00	2.00	.89	1.78	
	,	PIN - 1/4" X 2-1/2"		.00	2.00	1.18	2.36	
	CHV 227811-49	92, COOLANT, 50/50 RED -		.00	1.00	9.15	9.15	
	CHEVRON DE	_O 30, 4" X 30' STRAP C/W FLAT		.00	4.00	15.61	62.44	
	HOOK							
	BP660-R, REIN	FORCED 'D' SIGN		.00	1.00	38.42	38.42	
Sublet						Total Parts	832.36	
	150-480389 / N	orthern Metalic Sales		.00	1.00	101.00	101.00	
						Total Sublet	101.00	
						Shop Supplies	46.62	
						Total	1,079.98	CAD
Work Order #:	63226 Inv	oice#: Comple	eted Date: 2025-	01-22 503				
Work Order #.	00220 1110	cioca.	510a Baio. 2020	Odometer:	368.889	Odometer	r As Of: 2025-01-	-14
				Hours:	,		As Of: 2025-01	
Labor				riours.	24,070	ours recauling	, 713 01. 2020 01	17
labour	01/14/2025 - SI	ERVICED UNIT. REPLACED	Wyatt Fowler	4.00	4.00	100.00	400.00	
		VIPER LINKAGES.	•			.00.00		
labour	KENWORTH T	ELP W/SERVICE. GO TO O GET PARTS. TRY TO FIGURE	Neil Read	3.00	3.00	100.00	300.00	
labour	01/15/2025 - G	SUE. TAKE BACK APART. D TO KENWORTH + GET RIGH' /IPER PIVOTS BACK	T Neil Read	1.00	1.00	100.00	100.00	
				8.00	8.00	Total Labor	800.00	
Parts	LESSON FILTE	OU CAT C 45		00	4.00	00.40	20.40	
	SOS, SOS OIL	R, OIL - CAT C-15		.00 .00	1.00 1.00	22.10 24.86	22.10 24.86	
		VIPER ARM- BLADE ASSEMBL	Y	.00	1.00	386.69	386.69	
	PANTO LATCH		•			000.00	000.00	
	R23-1035-22, V WIPER D/S	VIPER ARM, ASSEMBLY W/		.00	1.00	328.78	328.78	
	,	, KW FUEL -NON LOCKING		.00	2.00	49.48	98.96	
	GS4892, PIVO			.00	1.00	132.67	132.67	
	GS4939, PIVO	I, WIPER - L/H NG FOR WINDSHIELD WASHE	D	.00 .00	1.00 1.00	131.18 5.00	131.18 5.00	
	LINE	NO FOR WINDSHILLD WASHE	IX.	.00	1.00	5.00	5.00	
	WINTER BUG Y WASHER FLUI	WASH, -40 WINDSHIELD D		.00	3.00	4.09	12.27	
		92, COOLANT, 50/50 RED -		.00	4.00	9.15	36.60	
		54, DELO 400 XSP 5W40 JUG		.00	3.00	38.42	115.26	
	CHV 257002-99	90, BULK DELO 400 XSP 5W40		.00	41.00	7.26	297.66	
						Total Parts	1,592.03	
						Shop Supplies	119.60	
						Total	2,511.63	CAD
Work Order #:	63250 Inv	oice#: Comple	eted Date: 2025-	01-21 503				
Work Ordor #.	00200 1110	oloon.	510a Baio. 2020	Odometer:	369,108	Odometer	r As Of: 2025-01-	-15
				Hours:	,		As Of: 2025-01-	
Labor				. 10010.	_ 1,070 110	Jaro Rodding	,	
labour	01/15/2025 - RI	EPLACE CLUTCH LINKAGE.	Tyson Kirton	1.50	1.50	100.00	150.00	
labour		EPLACE 4 CLUTCH LINKAGE	George Akins	4.00	4.00	100.00	400.00	
		R ROD. RESEAL TURBO DRAIN						
	ON MOTOR.							
				5.50	5.50	Total Labor	550.00	
				3.30	3.50	i olai Labul	330.00	

Date: From 2023-01-01 To 2025-09-09

Category	Description	Mechanic 	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
Parts	SPF6S, LINKAGE, CLUTCH -R/H THREAD SPFL6S, LINKAGE, CLUTCH -L/H THREAD CAT 106-9586, O-RING, TURBO OIL DRAIN		.00 .00	1.00 1.00 1.00	12.62 17.13 8.93	12.62 17.13 8.93	
					Total Parts	38.68	
					Shop Supplies	29.43	
					Total	618.11	CAD
Work Order #: 63	401 Invoice#: Complete	ed Date: 2025-01-	31 503				
labour	01/24/2025 - PRESSURE WASH P/S OF ENGINE. KICKED OUTSIDE TO FIND WHERE OIL LEAK IS.	Alex Heney	2.00	2.00	100.00	200.00	
Do do			2.00	2.00	Total Labor	200.00	
Parts	CHV 257002-464, DELO 400 XSP 5W40 JUG LS D 1-1/8X28 C, SLING, LOAD -YELLOW (1-1/8" X 28')		.00 .00	5.00 2.00	38.42 295.86	192.10 591.72	
0.114					Total Parts	783.82	
Sublet	089963514 / Kal Tire		.00	1.00	114.88	114.88	
					Total Sublet	114.88	
					Shop Supplies	49.19	
					Total	1,147.89	CAD
Work Order #: 63	533 Invoice#: Complete	ed Date: 2025-02-	28 503				
Labor labour	02/02/2025 - DIAGNOSE COOLANT LEAK. DRAIN COOLANT. REPLACE BOTTOM RAD HOSE + CLAMPS.	Colton Wolsey	2.00	2.00	100.00	200.00	
			2.00	2.00	Total Labor	200.00	
Parts	H5125-0858, BOOMER, YELLOW FOLDER - 3/8"		.00	2.00	59.10	118.20	
	TO 1/2" CHA GR7012TAIL, TAIL CHAIN -1/2" X 4' W/1/2"		.00	2.00	55.84	111.68	
	GRAB HOOK CHA GR7038X20K, CHAIN, LOAD - 3/8"X20' W/		.00	2.00	120.31	240.62	
	7/16H SH20CO, BUNGEE 20" -40		.00	4.00	5.03	20.12	
	BP660-R, REINFORCED 'D' SIGN F04-6006, CAT ELBOW, SILICONE		.00 .00	1.00 1.00	47.47 46.84	47.47 46.84	
	CHV 227811-492, COOLANT, 50/50 RED - CHEVRON DELO		.00	1.00	9.14	9.14	
					Total Parts	594.07	
					Shop Supplies	39.70	
					Total	833.77	CAD
Work Order #: 63	579 Invoice#: Complete	ed Date: 2025-02-	28 503 Odome Hours:	,		As Of: 2025-02- As Of: 2025-02-	
Labor labour	02/04/2025 - GO FOR ROAD TEST. REMOVE TAPPET COVER, AIR INTAKE + TOP END. REMOVE INJECTORS. REMOVE AND	Earl Buchanan	4.00	4.00	100.00	400.00	
labour	REPLACE INJECTOR TUBES. 02/05/2025 - CLEAN UP INJECTOR TUBES. INSTALL INJECTORS AND TORQUE. REPLACE 1 EXHAUST ROCKER. INSTALL ROCKERS AND JACS. DO TUNE UP ON ENGINE. HELP TAKE APART AND CLEAN OUT HEATER CORE.	Earl Buchanan	8.00	8.00	100.00	800.00	

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
labour	REMOVE HOUSING	25 - TORQUE PAN BOLTS. DRAIN A/ FAN, SWAP FAN MOTOR TO USED G + REASSEMBLE SEALING HOLES.		t 10.00	10.00	100.00	1,000.00	
labour	02/06/202 FUEL FIL	DLANT HOSES. 25 - REPLACE COOLANT HOSES, TERS AND START UNIT. FILL RAD 1. INSTALL VALVE COVER + INTAKE	Zacharias Garrat	t 7.00	7.00	100.00	700.00	
				29.00	29.00	Total Labor	2,900.00	
Parts		1614, SLEEVE/WASHER, ENGINE O	IL	.00	2.00	14.30	28.60	
	PAN FE105 FI	ILTER, FUEL SECONDARY		.00	1.00	8.20	8.20	
		FILTER, FUEL PRIMARY - CAT C15		.00	1.00	16.54	16.54	
		X, RESTORE COOLING SYSTEM		.00	1.00	25.25	25.25	
	CLEANEI 38-1226,	R (4L) CLAMP, CONST. TORQUE - 2 1/4" To	0	.00	2.00	13.48	26.96	
	3 1/8"							
		, HOSE, COOLANT SILICONE 2-1/2 CLAMP-TANG-HOSE 1-1 1/16		.00 .00	12.00 8.00	1.94 1.37	23.28 10.96	
		-6163, INJECTOR, ENGINE SDP		.00	6.00	401.88	2,411.28	
		4920, CAT SLEEVE, INJECTOR		.00	6.00	37.93	227.58	
		2904, O-RING, INJECTOR SLEEVE		.00	4.00	17.98	71.92	
	CAT 20R	-3317, ASSY, ROCKER ARM, VALVE / NSX	-	.00	1.00	250.18	250.18	
		85/65R22.5 TIRE-MICH XZY3 J/18P		.00	2.00	984.40	1,968.80	
	,	OCK, LEVER BINDER - 3/16" X 11"		.00	2.00	5.51	11.02	
		, BUNGEE 15" -40 DSE CLAMP, GEAR - 18-32MM		.00 .00	4.00 2.00	4.21 1.15	16.84 2.30	
	- , -	, , , , , , , , , , , , , , , , , , , ,				Total Parts	5,099.71	
Sublet	08996361	12 / Kal Tire		.00	1.00	154.38	154.38	
						Total Sublet	154.38	
						Shop Supplies	399.99	
						Total	8,554.08	CAD
Work Order #: 6	3645	Invoice#: Compl	eted Date: 2025-0	02-07 503				
		·		Odomet Hours:	,		As Of: 2025-02 As Of: 2025-02	
Labor labour	DRAIN W PUT IN B COOLER HUMP HO	OT RETORQUE STEERS 475 FT/LBS VATER FROM COOLANT SYSTEM AN ULK COOLANT. TEST CHARGE AIR SYSTEM. RE/RE RHS CHARGE AIR DSES (X2) AND CLAMPS. PUT	ID ,	3.00	3.00	100.00	300.00	
	WINGNU	TS ON BATTERY BOX.				T-(-11-1		
Parts				3.00	3.00	Total Labor	300.00	
		HOSE, DOUBLE HUMP - 4" X 6"		.00	2.00	36.42	72.84	
	CM4363,			.00 .00	6.00	12.51	75.06 89.70	
	CHV 2276	811-990, BULK CHEV RED 50/50 ELC	,	.00	30.00	2.99 Total Parts	237.60	
						Total Falts	237.00	
						Shop Supplies	26.88	
						Total	564.48	CAD
Work Order #: 6	3748	Invoice#: Compl	eted Date: 2025-0		_			
Lohov				Odomet Hours:	,		As Of: 2025-02 As Of: 2025-02	
Labor labour	02/13/202	25 - REPLACE #4 INJECTORS. CHEC	K Neil Read	7.00	7.00	100.00	700.00	
labour		ND REPLACE WIPER BLADES. 25 - GREASED UNIT AND PUT OIL IN	I Treyson Hamelin	2.00	2.00	100.00	200.00	
.3200	IT.					100.00		

9.00

9.00

Total Labor

900.00

Date: From 2023-01-01 To 2025-09-09

HS12, HOSE CLAMP, GEAR - 18-32MM

Equipment: 503

Category	Description	Mechanic	Actual Hours Q	uantity/Hours	Price/Rate	Amount	Cur.
Parts	CAT 10R-6163, INJECTOR, ENGINE SDP		.00	1.00	226.77	226.77	_
	CAT 212-7728, ISOLATOR, VALVE COVER		.00	1.00	14.00	14.00	
	52-15, 15" WIPER BLADES - ANCO		.00	2.00	6.71	13.42	
	LF3566, FILTER, OIL - CAT C-15 SOS, SOS OIL ANALYSIS		.00 .00	1.00 1.00	36.91 24.86	36.91 24.86	
	CHV 257002-464, DELO 400 XSP 5W40 JUG		.00	12.00	38.42	461.04	
Sublet					Total Parts	777.00	
Subjet	42028 / JBS Mechanical Inc		.00	1.00	712.80	712.80	
					Total Sublet	712.80	
					Shop Supplies	83.85	
					Total	2,473.65	CAD
Work Order #: 63	803 Invoice#: Comple	eted Date: 2025-0	2-28 503				
			Odometer Hours:	,		As Of: 2025-02 As Of: 2025-02	-
Labor labour	02/15/2025 - DIAGNOSE WHATS GOING ON	Dustin Dean	5.00	5.00	100.00	500.00	
labour	W/UNIT, BAD ECM. 02/15/2025 - DIAGNOSE ENGINE ISSUE. CHECK ELECTRICAL.	Neil Read	3.00	3.00	100.00	300.00	
labour	02/16/2025 - DIAGNOSE WHY ENGINE WON'T START. FOUND ECM NO GOOD.	Earl Buchanan	3.00	3.00	100.00	300.00	
labour	02/16/2025 - DO MORE TESTING ON NO STAF ISSUE. GET EARL'S HELP W/DIAGNOSTICS. ECM FAILED.	RT Neil Read	2.00	2.00	100.00	200.00	
labour	02/17/2025 - REMOVE AND INSTALL DIFFERENT ECM. PUT OUTSIDE AND RUN.	Earl Buchanan	3.00	3.00	100.00	300.00	
labour	02/17/2025 - REPLACED TRANNY COOLER LINES.	Wyatt Fowler	4.50	4.50	100.00	450.00	
labour	02/18/2025 - CHECK TO SEE WHY BURN LIGH CAME ON, CHECK WIRING. HAD ECM REPROGRAMMED TO WORK W/ENGINE.	IT Earl Buchanan	2.00	2.00	100.00	200.00	
Parts			22.50	22.50	Total Labor	2,250.00	
raits	62205, LOCK, LEVER BINDER - 3/16" X 11"		.00	2.00	5.51	11.02	
	CAT 9N-0869, WASHER, ECM MOUNT		.00	4.00	1.56	6.24	
	HS12, HOSE CLAMP, GEAR - 18-32MM		.00	4.00	1.15 Total Parts	<u>4.60</u> 21.86	
Sublet	15891J.D.PerformanceC/C / Atb Master Card		.00	1.00		2.851.09	
	156913.D.PerformanceC/C / Alb Master Card		.00	1.00	2,851.09 Total Sublet	2,851.09	
					Shop Supplies	113.59	
					Total	5,236.54	CAD
Work Order #: 63	907 Invoice#: Comple	eted Date: 2025-0	12-24 503				
Work Older #. oc	on minore.	sted Date. 2025-0	Odometer	r: 382,091	Odometer	As Of: 2025-02	-20
			Hours:	•		As Of: 2025-02	-
Labor labour	02/20/2025 - R&R INJECTOR #2. HELICOIL COVER BOLTS. CHANGE FUEL FILTERS. INSPECT FOR COOLANT LEAKS. TIGHTEN CLAMPS.	Zacharias Garratt	8.00	8.00	100.00	800.00	
labour labour	02/21/2025 - HELP W/SERVICE. 02/21/2025 - WELDED NUT ONTO BUSHING TO	Alex Heney O Micaiah Gordon	2.00 .50	2.00 .50	100.00 100.00	200.00 50.00	
	BE TAKEN OUT.						
labour	02/21/2025 - INSPECT PINS AND BUSHINGS. R&R PINS AND BUSHINGS IN RH + LH REAR. SERVICE UNIT W/FUEL FILTERS.	Zacharias Garratt	13.00	13.00	100.00	1,300.00	
Parts			23.50	23.50	Total Labor	2,350.00	
i ai to	LICAS LICCE CLAMB CEAR AS SOMM		00	4.00	4.45	4.45	

.00

1.00

1.15

1.15

September 26, 2025 10:34 AM D&D Energy Services Ltd O/A D&D Well Services

Work Order History Report

Actual

Date: From 2023-01-01 To 2025-09-09

Equipment: 503

Category		Description		Mechanic	Hours	Quantity/Hours	Price/Rate	Amount	Cur.
Category	HF6710, FILTER, HYDRAULIC FF5319, FILTER, FUEL PRIMARY - CAT C15 FF105, FILTER, FUEL SECONDARY B65-6008, SPRING PIN, THREADED - 177MM B13-1002, BUSHING, SPRING PIN LF3566, FILTER, OIL - CAT C-15 SOS, SOS OIL ANALYSIS 4304023, PLUG, TRANSMISSION - MAGNETIC CHV 257002-990, BULK DELO 400 XSP 5W40 CAT 10R-6163, INJECTOR, ENGINE SDP CAT 6V-5759, CAT O-RING CAT 20R-3317, ASSY, ROCKER ARM, VALVE - C15 SDP / NSX			- Mechanic	.00 .00 .00 .00 .00 .00 .00 .00 .00	2.00 1.00 1.00 4.00 4.00 1.00 1.00 45.00 1.00 1.00	19.44 16.54 8.20 21.51 32.45 36.91 24.86 19.68 7.28 1,277.44 7.08 67.50	38.88 16.54 8.20 86.04 129.80 36.91 24.86 19.68 327.60 1,277.44 7.08 67.50	Cur.
							Shop Supplies _	219.58	
							Total	4,611.26	CAD
Work Order #:	63937	Invoice#:	Complet	ed Date: 2025-0	02-27 503 Odomet Hours:	, -		As Of: 2025-02 As Of: 2025-02	
Labor labour	02/23/20)25 - WIRED NEW HEADLIG	HT PLUG.	Wyatt Fowler	2.00	2.00	100.00	200.00	
				•	2.00	2.00	- Total Labor	200.00	
Parts		TIRE CHAINS, TRIPLE - 11.	.00R24.5		.00	2.00	277.28	554.56	
		, SLEDGE 4LB 16" HANDLE C-HOOK, TIRE CHAIN - 7M	M		.00 .00	1.00 1.00	26.24 1.78	26.24 1.78	
	MAG075 16X16 F	587, MAGNET W/ CLIP 'LAG, FLAGS 16 X 16, NYLC 1, TARP STRAP - 21"	N		.00 .00 .00	4.00 4.00 4.00	10.42 7.71 1.56	41.68 30.84 6.24	
							Total Parts	661.34	
							Shop Supplies	43.07	
							Total	904.41	CAD
Work Order #: Sublet	64012	Invoice#:	Complet	ed Date: 2025-0	3-05 503				
Cubict	150-486	8 / B&D Upholstery 942 / Northern Metalic Sales 953 / Kal Tire			.00 .00 .00	1.00 1.00 1.00	460.00 101.00 240.00	460.00 101.00 240.00	
							Total Sublet	801.00	
							- Total	801.00	CAD
Work Order #:	64041	Invoice#:	Complet	ed Date: 2025-0	3-20 503				
Lahor	02/28/20) 125 - ABS LIGHT ISSUE DIA TED WIRING, ABS MODULI	E + PLUG.	Colton Wolsey	2.50	2.50	100.00	250.00	
Labor labour	INSPEC CLEARE	ED CODE. CHECKED OVER RK AREA.	. CLEANED				_		
	INSPEC CLEARE	ED CODE. CHECKED OVER	. CLEANED		2.50	2.50	- Total Labor	250.00	
	INSPEC CLEARE	ED CODE. CHECKED OVER	. CLEANED		2.50	2.50	Total Labor Shop Supplies	250.00 12.50	

Hours:

Odometer: 385,362 Odometer As Of: 2025-03-05

7,755 Hours Reading As Of: 2025-03-05

Labor

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
labour	RIGHT M AXLES. (25 - CHANGED ABS SENSO MIDDLE AND RIGHT REAR D CHANGED IDLER PULLEY O ED CLAMP ON EXHAUST MA	RIVE N P/S.	Zayn Knezevich	8.50	8.50	100.00	850.00	
Darte					8.50	8.50	Total Labor	850.00	
Parts	CAT 285 D84-100 CAT 379	-4-4, PRES SWIVEL AIR BRA -0274, PULLEY, IDLER SMO 0-6122490, 12 RIB X 2490 BE I-8578, CLAMP, EXH MANIFO OCK, LEVER BINDER - 3/16"	OTH WIDE ELT -FAN DLD		.00 .00 .00 .00	1.00 1.00 1.00 1.00 2.00	9.61 153.98 123.83 143.18 5.51	9.61 153.98 123.83 143.18 11.02	
							Total Parts	441.62	
							Shop Supplies	64.58	
							Total	1,356.20	CAD
Work Order #: 64	4125	Invoice#:	Complete	ed Date: 2025-0	3-05 503				
T ditto		BRACKET, 9" AIR TANK - KN 78, TANK, AIR - 9-1/2" X 46"	WRTH		.00 .00	2.00 1.00	38.28 1,427.52	76.56 1,427.52	
							Total Parts	1,504.08	
							Shop Supplies	75.20	
							Total	1,579.28	CAD
Work Order #: 64	4178	Invoice#:	Complete	ed Date: 2025-0	03-07 503 Odomet Hours:	,		As Of: 2025-03 As Of: 2025-03	
Labor labour		07 CALL-OUT TO MILE 147 SE PULLEY FAILED. RE/RE ULLEY	CAMP.	Gary Skolos	3.00	3.00	100.00	300.00	
Douto					3.00	3.00	Total Labor	300.00	
Parts	CAT 285 -FAN	i-0277, PULLEY, 12 GROOVE	IDLER		.00	1.00	105.42	105.42	
							Total Parts	105.42	
							Shop Supplies	20.27	
							Total	425.69	CAD
Work Order #: 64	4212	Invoice#:	Complete	ed Date: 2025-0	03-08 503 Odomet Hours:	,		As Of: 2025-03 As Of: 2025-03	
Labor labour		08 AFTER-HOURS IN-SHOF PAIR AIRLINE TO FAN HUB		Gary Skolos	2.00	2.00	100.00	200.00	
					2.00	2.00	Total Labor	200.00	
							Shop Supplies	10.00	
							Total	210.00	CAD
Work Order #: 64	4267	Invoice#:	Complete	ed Date: 2025-0	03-12 503 Odomet Hours:	,		As Of: 2025-03 As Of: 2025-03	
Labor labour	2025/03/	12 RE/RE RAD HOSE WITH	ANTI	Dan Woloshyn	2.00	2.00	100.00	200.00	
labour	COLLAP 2025/03/	SE SPRING - RE-USED OLD 12 ASSIST RE/RE RAD HOS NT AFTER REFILLING	SPRING	James McCabe	1.00	1.00	100.00	100.00	

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic -	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
D . 4.					3.00	3.00	Total Labor	300.00	
Parts		311-990, BULK CHEV RED 5 0050, 3/4 HEATER HOSE	50/50 ELC		.00 .00	6.00 4.00	2.99 6.24	17.94 24.96	
		,					Total Parts	42.90	
							Shop Supplies	17.15	
							Total	360.05	CAD
Work Order #: 64	1319	Invoice#:	Complete	ed Date: 2025-				. 0/ 0005 00	
Laban					Odomet Hours:	,		As Of: 2025-03 As Of: 2025-03	
Labor labour labour	03/16/202	5 - HELPED W/SERVICE O 5 - GREASE UNIT. CHANG		Dustin Dean Dustin Dean	.50 6.00	.50 6.00	100.00 100.00	50.00 600.00	
labour		NISH SERVICE. 5 - START SERVICE		Neil Read	1.00	1.00	100.00	100.00	
Parts					7.50	7.50	Total Labor	750.00	
raits	3030 LON 30/30	G, BRAKE POT, LONGSTR	OKE -		.00	1.00	85.90	85.90	
	2010-108,	CLEVIS W/ PIN - 5/8" ROD LB, INTERIOR - 211-2 SER			.00 .00	1.00 3.00	3.00 1.22	3.00 3.66	
		BUG WASH, -40 WINDSHIE			.00	1.00	4.09	4.09	
		11-492, COOLANT, 50/50 F	RED -		.00	1.00	9.15	9.15	
	LF3566, F	102-990, BULK DELO 400 X ILTER, OIL - CAT C-15 S OIL ANALYSIS	SP 5W40		.00 .00 .00	42.00 1.00 1.00	7.28 36.91 24.86	305.76 36.91 24.86	
	,						Total Parts	473.33	
							Shop Supplies	61.17	
							Total	1,284.50	CAD
Work Order #: 64	1413	Invoice#:	Complete	ed Date: 2025-	03-20 503				
Gubiet	PG348410	08 / Greatwest Kenworth Ltd			.00	1.00	150.55	150.55	
							Total Sublet	150.55	
							Total	150.55	CAD
Work Order #: 64	1459	Invoice#:	Complete	ed Date: 2025-			0.4	A - Of 000E 00	00
Labor					Odomet Hours:	,		As Of: 2025-03 As Of: 2025-03	
labour		5 - CHANGE OUT 1/4" SEC FAN HUB BECAUSE OF H		Alex Heney	1.00	1.00	100.00	100.00	
					1.00	1.00	Total Labor	100.00	
							Shop Supplies	5.00	
							Total	105.00	CAD
Work Order #: 64	1536	Invoice#:	Complete	ed Date: 2025-	Odome	,		As Of: 2025-03	
Labor					Hours:	8,096 H	ours Reading	As Of: 2025-03	-26
labour	03/26/202	5 - FIX DOCKING STATION	l.	Neil Read	1.00	1.00	100.00	100.00	
					1.00	1.00	Total Labor	100.00	

September 26, 2025 10:34 AM D&D Energy Services Ltd O/A D&D Well Services

Work Order History Report

Date: From 2023-01-01 To 2025-09-09

Category	Descrip	tion	Mechanic .	Actu Hou		antity/Hours	Price/Rate	Amount	Cur.
							Shop Supplies	5.00	
							Total	105.00	CAD
Work Order #: 64	1583 Invoice#:	Complete	ed Date: 2025-0		03 ometer:	397,852 8,145 H		As Of: 2025-03 As Of: 2025-03	
Labor labour	2025/03/28 RE/RE TURBO VALVE. CHECKOVER TRA FOR ANY LOOSE BOLTS		Gary Skolos	;	3.00	3.00	100.00	300.00	
Cublet					3.00	3.00	Total Labor	300.00	
Sublet	18653 / Complete Crawler S	Services Inc.			.00	1.00	392.89	392.89	
							Total Sublet	392.89	
							Shop Supplies	15.00	
							Total	707.89	CAD
Work Order #: 64	4688 Invoice#:	Complete	ed Date: 2025-0		03 ometer:	401,271	Odometer	As Of: 2025-04	-03
				Hours:	mieter.	,		As Of: 2025-04	
Labor labour	04/03/2025 - FULL SERVIC AND AIR. REPAIR WINCH SCANNED FOR CODES. D SYSTEM OF OIL.	BOX BOLTS.	Carson Damery	6	6.00	6.00	100.00	600.00	
Parts				-	6.00	6.00	Total Labor	600.00	
Tarts	LF3566, FILTER, OIL - CAT SOS, SOS OIL ANALYSIS AF4195, FILTER, AIR FF5319, FILTER, FUEL PR FF105, FILTER, FUEL SEC CHV 257002-990, BULK DE	IMARY - CAT C15 ONDARY			.00 .00 .00 .00 .00	1.00 1.00 2.00 1.00 1.00 42.00	36.91 24.86 94.29 16.54 8.20 7.28 Total Parts	36.91 24.86 188.58 16.54 8.20 305.76	
							Shop Supplies Total	1,239.89	CAD
Work Order #: 64	4861 Invoice#:	Complete	ed Date: 2025-0)4-17 5(าร		rotai	1,200.00	OND
	1111011	Сотрых	54 B410. 2020 C		meter:			As Of: 2025-04 As Of: 2025-04	-
Labor labour	04/10/2025 - REPLACE AX REMOVE STUDS. CLEAN NEW STUDS.		Colton Wolsey	•	1.50	1.50	100.00	150.00	
labour	04/10/2025 - CHANGED EXPACKING CLOSER TO FR		Zayn Knezevich	2	2.00	2.00	100.00	200.00	
labour	04/10/2025 - HELPED CHA ON UNIT.		Wyatt Fowler		1.00	1.00	100.00	100.00	
					4.50	4.50	Total Labor	450.00	
Parts	1229W1661, WASHER, AX 1246V1166, DOWEL, AXLE R005872-L, STUDS, DRIVE LONGER	- W/O RELIEF			.00 .00 .00	8.00 8.00 9.00	1.70 1.45 4.15	13.60 11.60 37.35	
	GKT1008, GASKET, AXLE CAT 379-8578, CLAMP, EX CAT 380-5855, CAT SEAL MANIFOLD C15				.00 .00 .00	2.00 1.00 1.00	6.40 143.18 161.30	143.18 143.18 161.30	
Sublet							Total Parts	379.83	

Date: From 2023-01-01 To 2025-09-09

Category	Description	Mechanic	Actual Hours (Quantity/Hours	Price/Rate	Amount	Cur.
	150-492603 / Northern Metalic Sales		.00	1.00	448.00	448.00	
					Total Sublet	448.00	
					Shop Supplies	41.49	
					Total	1,319.32	CAD
Work Order #: 65	5012 Invoice#: Comple	ted Date: 2025-0	M-22 503				
	oriz invoice#. Comple	ica Baic. 2020 (Odomete Hours:			As Of: 2025-04 As Of: 2025-04	
Labor labour	04/17/2025 - REPLACED BRAKE POT. CHECK DRIVELINE.	Cody Brouilette	1.00	1.00	100.00	100.00	
D. C.			1.00	1.00	Total Labor	100.00	
Parts	3030 SHORT, BRAKE POT - 30/30 SHORT STROKE		.00	1.00	74.80	74.80	
					Total Parts	74.80	
					Shop Supplies	8.74	
					Total	183.54	CAD
Work Order #: 65	5017 Invoice#: Comple	ted Date: 2025-0					
Labor			Odomete Hours:			As Of: 2025-04 As Of: 2025-04	
labour labour	04/19/2025 - REPLACED LEFT FRONT HUB. 04/21/2025 - PULL BROKEN AXLE STUDS.	Cody Brouilette Bryant Hurd	2.00 1.00	2.00 1.00	100.00 100.00	200.00 100.00	
			3.00	3.00	Total Labor	300.00	
Parts	1246V1166, DOWEL, AXLE - W/O RELIEF		.00	1.00	1.45	1.45	
	ANC 45982-43, 2" X 30' RATCHET /W WIRE HOOK		.00	2.00	19.18	38.36	
	ANC 43795-10-30, 4" X 30' STRAP C/W FLAT HOOK		.00	3.00	15.61	46.83	
	ANC 43795-11-40, 4" X 40' STRAP W/ DELTA RING		.00	3.00	32.87	98.61	
	CM10005583, HUB ASSY, DRIVE - ALUMINUM 3030 LONG, BRAKE POT, LONGSTROKE -		.00 .00	1.00 1.00	593.85 85.90	593.85 85.90	
	30/30 BTHUN1A, CELL PHONE CRADLE - UNIVERSA NON-CHARGE	L	.00	1.00	50.00	50.00	
	GKT1008, GASKET, AXLE WINTER BUG WASH, -40 WINDSHIELD WASHER FLUID		.00 .00	1.00 2.00	6.40 4.09	6.40 8.18	
					Total Parts	929.58	
					Shop Supplies	61.48	
					Total	1,291.06	CAD
Work Order #: 65	5135 Invoice#: Comple	ted Date: 2025-0	Odomete	,		As Of: 2025-04	
Labor			Hours:	8,607 H	ours Reading	As Of: 2025-04	-24
labour	04/24/2025 - CHECK OIL PAN BOLTS AND EXHAUST MANIFOLD.	Zayn Knezevich	1.00	1.00	100.00	100.00	
Parts			1.00	1.00	Total Labor	100.00	
ганэ	SH20CO, BUNGEE 20" -40		.00	4.00	4.90	19.60	
	16X16 FLAG, FLAGS 16 X 16, NYLON 71422, TRIANGLE WARNING KIT LS D 1-1/8X28 C, SLING, LOAD -YELLOW (1-1/8 X 28')	3"	.00 .00 .00	4.00 1.00 1.00	7.71 42.99 265.00	30.84 42.99 265.00	

Date: From 2023-01-01 To 2025-09-09

Category		Description	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
	CAT 380-5855, CAT MANIFOLD C15	SEAL ASSBLY EXH		.00	1.00	161.30	161.30	
						Total Parts	519.73	-
						Shop Supplies	30.99	
						Total	650.72	CAD
Work Order #: 65	5189 Invoice	e#: Complete	ed Date: 2025-0					
				Odomet Hours:	,		As Of: 2025-04 As Of: 2025-04	
Labor labour	04/25/2025 - DRAIN	OIL. REPLACE FILTER AND	Kurt Sison	2.00	2.00	100.00	200.00	
labour	OIL. GREASE FROI 04/25/2025 - HELP	NT END. CHANGE OIL IN TRUCK.	Sam Del Greco	1.00	1.00	100.00	100.00	
Parts				3.00	3.00	Total Labor	300.00	
raits	LF3566, FILTER, OI SOS, SOS OIL ANA			.00 .00	1.00 1.00	36.91 24.86	36.91 24.86	
		ULK DELO 400 XSP 5W40		.00	45.00	8.07	363.15	
						Total Parts	424.92	
						Shop Supplies	36.25	•
						Total	761.17	CAD
Work Order #: 65	5349 Invoice	e#: Complete	ed Date: 2025-0	05-31 503 Odomet	er: 421,379	Odometer	As Of: 2025-05	5-05
Labor				Hours:	8,738 H	lours Reading	As Of: 2025-05	5-05
labour labour	05/05/2025 - CHANGED EXHAUS	R CRACKS IN RIG UP. GED EXHAUST TUBES. ST MANIFOLD. CHANGED	Jesse Holt Zayn Knezevich	3.00 10.00	3.00 10.00	100.00 100.00	300.00 1,000.00	
labour	INSTALLED NEW A TIGHTENED P/S MI CHANGED D/S DR/	OTOR MOUNT BOLTS. AGLINK. CHANGED DIP 'S. INSPECTED CENTER	Zayn Knezevich	10.00	10.00	100.00	1,000.00	
Parts				23.00	23.00	Total Labor	2,300.00	
Tarts	L24VU8445A11, DR CAT 284-0671, CLA	RBO, HIGH PRESS - SDP AG LINK, STEERING -L/H MP, TURBO EXIT - CAT C15		.00 .00 .00	1.00 1.00 1.00	3,286.54 207.70 61.97	3,286.54 207.70 61.97	
	CAT 197-8418, CAT	SKET, TURBO OIL DRAIN GASKET, TURBO OIL FEED GASKET, MOUNT HP		.00 .00 .00	2.00 2.00 1.00	5.26 4.94 44.01	10.52 9.88 44.01	
	CAT 2N-2766, NUT,	TURBO SPACER, EXHAUST STUD -		.00 .00	20.00 4.00	11.01 32.84	220.20 131.36	
	CAT 281-8261, SLE	EVE, EXHAUST - C15 IPRESSOR, A/C -WITH		.00 .00	6.00 1.00	46.42 281.38	278.52 281.38	
		ER BINDER - 3/16" X 11" ET W/ CLIP		.00 .00	2.00 4.00	5.51 11.46	11.02 45.84	
Sublet						Total Parts	4,588.94	
	089964980 / Kal Tire 3786 / DoKat Mecha			.00 .00	1.00 1.00	235.00 2,000.00	235.00	
						Total Sublet	2,235.00	
						Shop Supplies	344.45	

Date: From 2023-01-01 To 2025-09-09

Category		Description		Mechanic 	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
							Total	9,468.39	CAD
Work Order #: 6	5526	Invoice#:	Comple	ted Date: 2025-05-					
				ŀ	Odomet Hours:	,		As Of: 2025-05 As Of: 2025-05	
Labor				•	10010.	0,010 11	ouro riodanig	7.0 01. 2020 00	.0
labour	INSPEC SUN VI INSPEC UNPLU	025 - REPLACED WINDS CT FOR EXHAUST LEAK SOR. SCANNED ABS CC CTED ABS WIRING. FOU GGED AT ABS MODULE INECTED.	. REINSTALL DDE. ND WIRE	Colton Wolsey	6.50	6.50	100.00	650.00	
labour	05/15/2	025 - GRIND BOLT HOLE	E ON	Kilpatrick, Riley	.50	.50	100.00	50.00	
labour	05/16/2	CREEN. 025 - FIX EXHAUST CLA 3. TEST + REPLACE TRA		Dain Halkyard	3.00	3.00	100.00	300.00	
Parts					10.00	10.00	Total Labor	1,000.00	
i aits		02, LAMP ASSBLY, INTE I, TRAILER CORD, STRA			.00 .00	1.00 1.00	127.87 147.55	127.87 147.55	
	DW116	4, WINDSHIELD, CURVE 3, WINDSHIELD, CURVE	D - D/S D - P/S		.00 .00	1.00 1.00	53.92 53.92	53.92 53.92	
	CHV 25 WINTE	77002-464, DELO 400 XS R BUG WASH, -40 WIND ER FLUID			.00 .00	1.00 2.00	38.42 4.09	38.42 8.18	
		7002-464, DELO 400 XS	P 5W40 JUG		.00	2.00	38.42	76.84	
							Total Parts	506.70	
							Shop Supplies	75.34	
							Total	1,582.04	CAD
Work Order #: 6	5806	Invoice#:	Comple	ted Date: 2025-06-	-05 503				
	089965	243 / Kal Tire			.00	1.00	50.22	50.22	
							Total Sublet	50.22	
							Total	50.22	CAD
Work Order #: 6	6600	Invoice#:	Comple	ted Date: 2025-07-	-15 503				
Sublet	35487 /	Trimfx Sign & Design Inc			.00	1.00	247.00	247.00	
							Total Sublet	247.00	
							Total	247.00	CAD
Work Order #: 6	6882	Invoice#:	Comple	ted Date: 2025-07-	-25 503				
Returns		00-6122490, 12 RIB X 24 00-6061870, BELT, ALTE 03		#	.00 .00	-2.00 -2.00	50.00 50.00	-100.00 -100.00	
							Total Returns	-200.00	
							Total	-200.00	CAD
Work Order #: 6	6952	Invoice#:	Comple	ted Date: 2025-07-	-31 503				
Sublet	491325	/ DnC Cleaning			.00	1.00	435.00	435.00	
		Ç					Total Sublet	435.00	

Date: From 2023-01-01 To 2025-09-09

Category	Description	1	Mechanic	Actual Hours	Quantity/Hours	Price/Rate	Amount	Cur.
						Total	435.00	CAD
Work Order #: 67	341 Invoice#:	Complete	ed Date: 2025-0	08-25 503 Odomete Hours:	,		As Of: 2025-08 As Of: 2025-08	
Labor						· ·		
labour	08/21/2025 - BRING TO SHOP UNSTUCK. REMOVE D+D SIG FLAPS. TAKE OFF CHAINS. G SALE.	SNS AND MUD	Earl Buchanan	4.00	4.00	100.00	400.00	
labour	08/21/2025 - REMOVED ALL E REINSTALLED REAR. REMOV D&D EMBLEMS. HELP W/SEIZ	/ED ALL OTHER	Lesko, Jakob	5.00	5.00	100.00	500.00	
Parts				9.00	9.00	Total Labor	900.00	
	41-66302. SAFETY PIN - 3/16"			.00	4.00	.95	3.80	
	41-66102, SAFETY PIN - 1/8"	X 3-1/8"		.00	1.00	.60	.60	
						Total Parts	4.40	
						Shop Supplies	45.22	
						Total	949.62	CAD
				1160.00	4754.00		283,783.36	CAD